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Ha: SANOl X KM 2SHUBTIHT/AseT)
ool MAMOl RN B MY 2 (o @)
SN - BE - SA(B) - NRAY - BES 0 & ol o HIRE2
—ARIOIE S PHER 23 ME
A 2,500,002 2,500 4,000 A1,500
—HUae Ps A% 17,000,002 17,000 16,000 1,000
-IlEE K52 2228 7Y
2% 7,000,002 7,000 4,000 3,000
ogrg Y| 217,100 215,200 1,900
~2HHO|, 401 P IBIRE 0I2EI2 K
ot 16,400, 0002 16,400 0 15,400
-G THS SX SRR &)
g9 1,500, 0002 1,500 0 1,500
—IlEE EEYN 2 HN
2% 25,000, 0002 25,000 40,000 15,000
2 IZ2YH| 19,600 10,500 9,100
0Z222 2 A 15,600 6,500 9,100
“OHHE XE AAX BY 2B 23
2% 15,600,002 15,600 6,500 9,100
308 XX HAISOI® 407,600 280,000 127,600
13 B2 S0ICHEH 2 A E RIS AL 407,600 280,000 127,600
Oz® g% Z1= A 400,000,002 400,000 280,000 120,000
ORES 224 M 7,600, 0002 7,600 0 7,600
405 TarE St 79,278 74,978 4,300
01 ‘AL ZZH S| 79,278 74,978 4,300
OB TE TRIF 4,300,000 4,300 0 4,300
AVGID SEHQ NLWE 29 551,038 402,588 148,450
s 85,000 0 85,000
2 466,038 402,588 63,450
HaBs U 2Y 551,008 402,588 148,450
s 85,000 0 85,000
2 466,038 402,588 63,450
201 LBt2 | 234,140 172,690 61,450
01 AR 22lt] 234,140 72,690 61,450
ogwr2gH| 128,090 80,090 48,000
—OilAbA RIZ
A% 35,0002 +40052+43] 56,000 28,000 28,000
—POOLAFR 2t 2 H| 2% 50,000, 0002 50,000 30,000 20,000
O2gsy 29,950 16,500 13,450
~XYBED RS HASY
A 150,002 951 15 20,250 7,500 12,750
ZOIF0I0IL AOISHE B AR
2 100,002 *15]%222 2,200 1,500 700
203 IR =Y 11,000 9,000 2,000
03 AIMFRI AR EXIY| 11,000 9,000 2,000
OAFWE =29 2 5,000,002 5,000 4,000 1,000
OYZETHRE S U AR
2 6,000,002 6,000 5,000 1,000
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X XH -
o e

=aak

JIENIMEE
AlZ2e|3E 2e|(LetBSHE/ANLHE - HEXH)
C|

ANE2telE

SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
AlE2e| S 28 & 2el 8,677,173 8,360,968 316,205
Ad2te|8E 2 & 27 8,677,173 8,360,968 316,205
309 HE= 8,624,673 8,308,468 316,205
01 SAL- SHIYHES 8,624,673 8,308,468 316,205
OAldae| B ME3(28)
23 8,624,673,0002 8,624,673 8,308,468 316,205
oliglgI(aiigIbl/oiiglgl) 6,325,081 6,581,003 N255,922
oliglsl 6,325,081 6,581,003 A255,922
oligll 6,325,081 6,581,003 A255,922
801 OiHIHI 6,325,081 6,581,003 A255,922
01 Zerolblbl 3,146,838 3,202,760 55,922
Oget ol &3 3,146,838,000& 3,146,838 3,202,760 55,922
02 ol - =X o8| 3,178,243 3,378,243 200,000
OXHoll - TH=H oligld]
& 3,178,243,000& 3,178,243 3,378,243 200,000
SHY2SALI(JI20lateg2h) (O1EHIIEH 37,84 36,404 1,430
220120l Ega) 37,834 36,404 1,430
Jl=2&Hl 37,834 36,404 1,430
201 Lt 25,304 23,204 2,100
01 At22telbl 25,304 23,204 2,100
Oget=ZH| 14,300 13,400 900
-Zgiyd &4 2 & 300,000&+192 5,700 4,800 900
O=gHtl 7,500 6,300 1,200
— AIZt2I2 R X E20HAHI
2 & 7,500,000 7,500 6,300 1,200
405 AtatE = 3,530 4,200 AB70
01 ML ESFH SHI 3,530 4,200 2670
ORI =ZFH S| 3,530 4,200 2670
—-NZJ| 7 2 & 2,090,000 2,090 2,200 A110
-H=2] 2 2 & 940,000 940 1,500 A5G0
ﬁ;?—%%(?li‘@l&%‘%%)(%‘é%%iﬂ’éﬁ/ll%’iiﬂ@ - HEX 52,012 52,000 12
LEPSPNES 12 0 12
2= 12 0 12
802 Btet= 0| Et 12 0 12
01 = nEx3ttet= 1 0 1
O=1DExZ TEH B (2023 HIHIRH
2l AT & XXM HIEEH)
1,000& 1 1
02 Al - EHIEX=SEtet= 6 6
OZHEXZ 0% B (20288 MEM S
A LIS AAS) 6,000
03 JIEIEtE =S 5 5
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H £ 0l & AF & S

Al A

04T =2 2 5 Lers K| A
2N CESHEEN
MM YSLH U U (SHLDZ/HS)

SHol: AIISEEUSUE HE GRS
SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
CEMAERC 16,149,250 15,854,820 294,430

p 210,000 210,000 0
= 420,000 0 420,000
S 6,000,000 6,000,000 0
2 9,519,250 9,644,820 125,570
MSUH o MU (SSU22/HS) 16,109,050 15,822,500 286,550
p 210,000 210,000 0
= 420,000 0 420,000
B 6,000,000 6,000,000 0
z 9,479,050 9,612,500 133,450
A EESHSFUHE HE 16,109,050 15,822,500 286,550
p 210,000 210,000 0
= 420,000 0 420,000
x 6,000,000 6,000,000 0
2 9,479,050 9,612,500 133,450
2T ZSHFUE Mz KL 1,124,050 1,107,500 16,550
201 Ler2 | 1,044,950 1,029,400 15,550
01 AR 22| 57,800 46,800 11,000
GHEER=T] 1,000 0 1,000
—%8t QAR SESAT HOIYA DT 11,000 0 11,000
DBOIQA KT HI
20,0002 %5004 10,000 0 10,000
ZoigA QF B4 S
100, 00024 1074 1,000 0 1,000
® B2l 7,150 2,600 4,550
OZZ22 2 HA 7,150 2,600 4,550
~EEHOIN 2222ASC MHIA AL
2 4,550,002 4,550 0 4,550
203 2 EZH| 5,000 4,000 1,000
03 Al SR ETIY| 5,000 4,000 1,000
OBIITEEHSUE A2 =
2 5,000,002 5,000 4,000 1,000
2ITZSHIUE BIIZ AL Ko 1,230,000 1,630,000 400,000
kS 400,000 400,000 0
2 830,000 1,230,000 400,000
401 AIEHIZ 2T 1,160,000 1,560,000 400,000
= 400,000 400,000 0
z 760,000 1,160,000 400,000
01 Al 1,150,000 1,550,000 400,000
OSMZHFZ AL Nt
23 300,000,002 300,000 500,000 A200,000
OXI2HEQIZIQIANOIER Al et
2 0 0 500,000 AB00,000




2A:
X XH -
o e

=aak

SESHEERC
MSUH U U (SSLRB/HS)
2SS HE Oz

SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
e EVEIEBEINEIET]
3 450,000,008 450,000 150,000 300,000
IBSHSEY AL H2AM 3,330,000 3,030,000 300,000
S 2,700,000 2,500,000 200,000
2 630,000 530,000 100,000
401 Al&HI L= CHY| 3,010,000 2,710,000 300,000
ES 2,700,000 2,500,000 200,000
2 310,000 210,000 100,000
01 Al&t] 3,000,000 2,700,000 300,000
ONIBEHSSE AL H24AL
23 3,000,000,0002! 3,000,000 2,700,000 300,000
= 2,700,000 2,500,000 200,000
2 300,000 200,000 100,000
HOHILAT NS Rt 650,000 800,000 150,000
401 Al&HI L= CHY| 650,000 800,000 A 150,000
01 Al&t] 650,000 800,000 A 150,000
OHSHILIAR A& HB2A
33 650,000,002 650,000 800,000 A 150,000
HBHSH AL K22 1,200,000 1,400,000 200,000
£ 1,200,000 1,400,000 A200,000
401 Al&HI L= CHY| 1,200,000 1,400,000 £200,000
ES 1,200,000 1,400,000 200,000
01 Al&t] 1,200,000 1,400,000 200,000
ONBHIS AL K22
23 1,200,000,0008! 1,200,000 1,400,000 220,000
= 1,200,000 1,400,000 £200,000
HoMBHSTH AL Rt 980,000 1,100,000 120,000
401 Al&HI L= CHb| 980,000 1,100,000 120,000
o1 Al&t] 960,000 1,100,000 A120,000
OGS AL H24ML
33 980,000,008 980,000 1,100,000 A120,000
T P 255,000 225,000 30,000
201 Ler2 et 07,000 137,000 230,000
01 A2l 07,000 187,000 230,000
Ogergaly 107,000 187,000 230,000
013 4TS IR
33 02 0 30,000 230,000
301 LBEE 14,000 34,000 £.20,000
UEIEENE] 0 20,000 220,000
Olisl 438 B2 AN3 33 o2 0 20,000 220,000
308 XEXIEHAISOIE 80,000 0 80,000
13 2 HSOIHS A= RIS A 80,000 0 80,000
Otfsl 22oztel Bl 22
80,000, 0002 80,000 0 80,000




SA: CESHESTAC
I HSUN L NHSH(SSL2AZ/HS)
R BIISSEHSUE A (CH9: /M)
M- - SA(3) - MRAY - BES (17| Pt e N3 A Hwsz2
CMSHRIY AL L% 90,000 200,000 A110,000
401 AlEHI L] 90,000 200,000 A110,000
01 Al&ZHI 90,000 200,000 A110,000
OSHMEFHSIA Ala HESALY
A 90,000,0002 90,000 200,000 A110,000
JIISEEHSUSE 81 HSAIE 22 300,000 780,000 480,000
401 AlEHI L 2] 300,000 780,000 480,000
01 A& 300,000 780,000 480,000
OFIITESHSUE st HMSAE HES
At 23 300,000,000 300,000 780,000 480,000
T MEXSTR(LAE S 42)FZE ZX ALY 600,000 0 600,000
HEAL)
< 180,000 0 180,000
z 420,000 0 420,000
401 AlEHIZ 2] 600,000 0 600,000
< 180,000 0 180,000
2 420,000 0 420,000
01 A& 600,000 0 600,000
OJEZ MEHSIA(LAH S 4N HZ
o AXIANY 600,000,000 600,000 0 600,000
[ 180,000 0 180,000
= 420,000 0 420,000
K2t QIZIRIAHOIER Al HE A (HEAFY) 800,000 0 800,000
< 240,000 0 240,000
z 560,000 0 560,000
401 AlEHIZ 2] 800,000 0 800,000
< 240,000 0 240,000
2 560,000 0 560,000
01 A& 800,000 0 800,000
OXI2HEQIZIQIANOIER AlE IHE AL
800,000,000 800,000 0 800,000
[ 240,000 0 240,000
= 560,000 0 560,000
HH2AAH(ESSMAFRIS) (JIEHIIEH 40,200 32,320 7,880
JI2BH(SSEHTZRIC) 40,200 32,320 7,880
Jl=23y] 40,200 32,320 7,880
201 LBt29Y| 29,000 24,020 4,980
01 At22t2IHI 29,000 24,020 4,980
OIIEIE=4] 16,200 13,200 3,000
- AIRERE ZF& 9,200,000 9,200 6,200 3,000
O3 6,600 4,620 1,980
— A2IQAZ 2R} DAl
FE 550,000« 128 6,600 4,620 1,980
202 04| 7,900 5,000 2,900




2N CESHEEN
M HHPALH(ZEEMEFEE) (IIEHIIEH
el JI2PH(ESEMEFIL) (SH &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
01 AL 7,900 5,000 2,900
OJI=gR =0 Z2& 7,900,000 7,900 5,000 2,900
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H £ 0l & AF & S

Al A

02449 =F 2 3 LS| A
SA: T ot
I gy Asp(Letssdy/Leey)
el BoEE 29 (SH9 H2)
SA - BB - SRA(3) - MRAY - BES 0l Ao ol E o timE=FT
INPNEE= I 29,317,428 27,915,718 1,401,710
= 34,882 34,882 0
LS 9,600 9,600 0
e 29,272,946 27,871,236 1,401,710
Nged AgAsULtSSHY /L) 9,498,328 9,086,913 411,415
= 34,882 34,882 0
< 9,600 9,600 0
i 9,453,846 9,042,431 411,415
HOHE =22 1,095,827 1,062,227 33,600
QIZHER 2 SXIE 249,500 215,900 33,600
301 LEtEN S 181,600 148,000 33,600
06 =B HAHIXIZ 138,600 105,000 33,600
Olt=d8l 29 &% 101,600,000 101,600 73,000 28,600
OX=48l L=
23 28,000,000 28,000 23,000 5,000
OINHE 2 4,394,377 4,024,149 370,228
SEXNQ HY2Y 184,940 172,640 12,300
201 Let2aY| 84,940 72,640 12,300
01 At 2teltl 84,940 72,640 12,300
Oget+~=4| 48,480 36,180 12,300
—22PtE, 40L& AFMA ME
38 23,200,0002 23,200 17,200 6,000
-32 M 23 11,550,000 11,550 5,250 6,300
dE2dFol 54 899,592 838,589 61,003
201 Zer= Y| 254,000 207,000 47,000
01 Ab2teltl 254,000 207,000 47,000
Oget+=24| 4,000 2,000 2,000
-RAZHEZ S9HI
& 4,000,000 4,000 2,000 2,000
OfIg U=l 210,000 175,000 35,000
-SSR NFEAI |2 WF
33 150,000,000& 150,000 125,000 25,000
SNY WS 10,000,0002 10,000 0 10,000
O=zg=¢ 5,000 15,000 10,000
-FAE W= 34 03 0 10,000 10,000
ogxz 35,000 15,000 20,000
- HEINXE Ltz
23 35,000,000 35,000 15,000 20,000
202 0| 507,000 497,000 10,000
04 =Hi=toidl 257,000 277,000 A20,000
OEXIXI oAb
34 60,000,000& 60,000 80,000 A20,000
06 3R W0 250,000 220,000 30,000
O=2% AR2u= 33 250,000,000& 250,000 220,000 30,000
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2A:
T ZH -
o e

=aak

REXI8 S Dt
Ngss o2k
OINHE 2

S - B SRA(SH) - NRAY - BES ol &y /- K" HIDZ2
203 gR=&8| 47,800 43,000 4,800
03 A=A FAIH| 47,800 43,000 4,800
O3 283 Z& 5,800,000& 5,800 4,000 1,800
OozZgd g2=d & 5,000,000& 5,000 4,000 1,000
Oousszr 245t o Iz AIMEX(F)
& & 10,000,0002 10,000 8,000 2,000
308 XtXIEMSO0IH 90,792 91,589 ANT97
07 X222 90,792 91,589 NTI7
OAIZ e (A0IH, 2HtY) wsHl 243
&3 18,203,000& 18,203 19,000 ANT97
SU=R AR 3,192,289 2,8%,364 296,925
101 e124d| 8,693 0 8,693
04 JIZtN22 XS 2+ 8,693 0 8,693
OFUAE Xel2X 8,693 0 8,693
-Jl==
9,860 *6A| 2+x 162 *3 04 E x2H 5,680 0 5,680
-=5=g
9,860 *BA| 2t 42«34 B +2H 1,420 0 1,420
-ReRdsd
9,860 +6A| 2Hx 1 x2H 119 0 119
- dEy=
850 *BA| 2H+20 2 +3 04 B x2H 612 0 612
-28= Z 2= 7,831,000&11% 862 0 862
201 L= 2,580,576 2,365,000 215,576
01 AFR2t2ltl 356,425 284,700 71,725
Oget==ZH| 333,525 261,800 71,725
-3 SEHZEN HIE
&3 216,000,000 216,000 160,000 56,000
-%&548 =X MFote Hg=s K
15,725,000 15,725 0 15,725
02 S3=4gl 395,961 400,300 A4,339
OsE2= & HA 395,961 400,300 A4,339
—HYSEHESH X I E2 S
dE 42,961,000 42,961 47,300 A4,339
04 XESEEXHEAIHZH 1,828,190 1,680,000 148,190
O%&d =XNME 23 1,828,190 1,680,000 148,190
-XEE SAEQUE
23 1,828,190,000& 1,828,190 1,680,000 148,190
303 Zal= 455,000 443,000 12,000
01 Zats 455,000 443,000 12,000
OXd IR0t U4 AgEEZE A
2 & 200,000 122 «80H 192,000 180,000 12,000
307 212t01& 143,520 84,864 58,656
07 H3X==3 143,520 84,864 58,656
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S AXIHEED
M TSN AU ULSBUE/ULIHE)
S QMY 29 (Cte &)
M- - SA(3) - MRAY - BES (1;| Palgely | & A Hlns
OZ2 AlYE22
A 143,520,000 143,520 84,864 58,656
405 THAHESHI 2,000 0 2,000
01 AL SEFSH| 2,000 0 2,000
LAY et 2 2,000,000 2,000 0 2,000
olmgt Rx ,237,157 1,237,157 0
AH 2 T 572,910 583,310 10,400
QUHL2 | 335,000 345,400 A10,400
Ar22t2IH] 215,882 226,282 ~10,400
22| g9 197,178 207,578 ~10,400
— S8 WAHAAE X224 24,270 28,270 24,000
SEHeHel olZetolHA
AY 17,027,000 17,027 21,027 24,000
—2-LI2tAI A" SR8 35,524 41,924 8,400
< HMW A 27,411,0002 27,411 30,811 23,400
- S/W ZE 7,004,000 7,004 10,004 3,000
M3 J|E &= 664,247 653,847 10,400
A S 563,856 553,456 10,400
01 AL SEFSH| 563,856 553,456 10,400
OLSHAEHl WA 227,060 216,660 10,400
ZEE(PC, 2LIE)
A 205,400,000 205,400 195,000 10,400
HEE5 =X 570,679 591,113 N20,434
HEHSAIAEH 29 I 70,811 80,955 A10,144
201 Lete | 70,811 80,955 A10,144
01 Al22t2|H| 70,811 80,955 A10,144
Ozeles| 59,811 69,955 A10,144
—Zolgt gste x|zl
3 400,000& 400 2,361 A 1,91
- ANHZ gEE X2kl
ZH 1,600,000 1,600 3,311 A1,71
- NH HEACIAAE X2
Z3 1,000,000& 1,000 1,962 NIB2
- dERE X2
Z& 1,000,000 1,000 1,980 2980
BLS3 E2E w22
X 8,400,000 8,400 9,720 A 1,320
—PCOHOIAE EBSAIAE K22
Z3 1,170,000& 1,170 3,639 A2,469
-HOIHETEI |2 HEIAIAE ST 2L
A 11,700,0002 11,700 12,441 AT41
HEYSI|8 A5t 499,868 510,158 ~10,290
201 Lete | 104,513 105,833 21,320
01 Al22t2|H| 104,513 105,833 A 1,320
Ozeles| 20,680 22,000 A 1,320
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2A: AXAEE
M RYHY AAAUSHUBIS ST /ABHEHH )
o4 H2ES F4 (SH &)
SA B O9I(SH) - MRALY - BAS o v o ® o RS2
—H2IAHIA SHOIK &FUE AT
Z2& 20,680,000& 20,680 22,000 21,320
405 XHetE S| 375,355 384,325 28,970
01 IR =SFSHI 375,355 384,325 A8,970
OZ AuiEgdsts wx
Z & 67,490,000& 67,490 76,460 A8,970
HESAY elugt 2= 1,096,861 1,145,861 249,000
FESMY 2 475,861 499,861 A24,000
201 LBr2| 475,861 499,861 A24,000
01 ArR22elt| 190,816 207,816 A 17,000
Oger=2| 8,000 5,000 3,000
-T2 37, 82AA
23 8,000,000& 8,000 5,000 3,000
Oztels4| 182,816 202,816 220,000
—ZESAYEH A2
AH 23,746,000& 23,746 43,746 220,000
02 E324H| 285,045 292,045 A7,000
OZ232=2 & HAl 214,268 221,268 A7,000
-~ BSAY SdZ
Z & 60,200,000& 60,200 67,200 A7,000
dESA D|Et &= 621,000 646,000 A25,000
405 KHHE SH| 621,000 646,000 25,000
01 AL ESH =S| 621,000 646,000 225,000
Ot 33 HSAlAE 25
23 43,000,000& 43,000 60,000 A 17,000
Olist=g XUHAIAH 2=
Z2& 100,000,000 100,000 108,000 A8,000
HE2HE XA 458,970 393,644 65,326
IPEE M 203,662 166,012 37,650
201 LEr2 | 192,662 162,012 30,650
01 At 22|l 187,580 156,930 30,650
Oget=ZH| 47,600 35,100 12,500
—J|Et =Z2H| AH 25,000,000& 25,000 12,500 12,500
Oo2g=¢ 72,600 54,450 18,150
—=2H| Z2 & 43,800,000& 43,800 32,850 10,950
— 2 AH| Z & 28,800,000& 28,800 21,600 7,200
401 AlEHIZL L0 9,000 2,000 7,000
01 Al&HI 9,000 2,000 7,000
OL= EotdH| S Wil ¥ &X|
4% 9,000,000& 9,000 2,000 7,000
g2 29 255,308 227,632 27,676
101 eI t| 7,676 0 7,676
M IIZtHI22 S Ex 7,676 0 7,676
OJIE& JIE28 Eel & 88 5+ B 7,676 0 7,676
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A TXIAE
A Ly AderdsH LB SSUY/LeAE)
el #EE2E XNE (SH9 H2)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
=1 78,800 222 32 x1H 5,201 5,201
-F5+g 78,8002 x4 +32*1H 946 946
-Ra5¢+E 78,8003 *32+14 237 237
- MEZ BN
6,800 x26L +3E*1H 531 0 531
-EE= 6,915,000 *11% 761 0 761
201 et23| 176,902 156,902 20,000
02 S3=gl 150, 102 130,102 20,000
O332= % HAl 140,102 120,102 20,000
- SNLEE SSRERS
& 140,000,000 140,000 120,000 20,000
K SAHIE 29 565,093 553,398 11,69
NASAHHE 22 565,093 553,398 11,69
307 2Ito1d 565,093 553,398 11,695
05 BItRAEZ 565,093 553,398 11,695
OXIASAHIE 22
33 565,093,000& 565,093 553,398 11,69
=OITR & el nREs SEsH (L3I /UBIHT) 1,331,457 1,311,457 20,000
SIXHA 243t 1,098,040 1,078,040 20,000
FUXNXIHE 2 733,640 713,640 20,000
201 Ler23 | 245,360 225,360 20,000
03 A2 I 116,000 96,000 20,000
O=F2IXX &It 2103 20,000,000 20,000 0 20,000
=QIAXIE X 364,400 364,400 0
401 AlEBIYL LY 7,000 10,000 23,000
01 AlZHI 7,000 10,000 23,000
O=FQIXXIE] AIRA 2|2dE
& 7,000,000& 7,000 10,000 23,000
405 THoHE S| 13,000 10,000 3,000
01 Tt =S F=HI 13,000 10,000 3,000
O=2XXIE AR HJIF & 7Y
Z& 13,000,000 13,000 10,000 3,000
HH2I A (XIXIE ) (J1EH/IIE 18,484,207 17,517,348 966,859
lARIH|(EZ) 18,387,941 17,430,662 957,279
el 2| 18,387,941 17,430,662 957,279
101 QI2AH] 3,562,954 3,330,000 182,954
01 2= 3,562,954 3,380,000 182,954
Ogog x==g 3 720,000,000 720,000 500,000 220,000
Oodnaoi= Z3 2,842,954,000& 2,842,954 2,830,000 N37,046
04 HSRESS 14,824,987 14,050,662 774,325
01 gsfs= 13,724,987 12,950,662 774,325
Ogs!fs= dF 13,724,987,000 13,724,987 12,950,662 774,325
Jl2ZHI(AXI&EE ) 9,266 86,686 9,580
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H & 0l & AHS B Ml A

0243 =& 2 3 LEtSIH &l

A QHEALLD Ol & AL THE SFH(S3E AL /THLEHAT - 2122)

Chel: OHMALLD Ol EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
OHK TH & 1t 10,916,762 12,321,376 A 1,404,614

= 347,036 144,423 202,613
z 200,000 1,300,000 1,100,000
= 900,000 900,000 0
[ 1,288,252 1,510,252 £222,000
= 1,850,000 1,850,000 0
= 6,331,474 6,616,701 N285,227
OIMALL Ol Y ASITHE TS, S(SSEAMLE /L 1,353,242 1,311,182 42,060
2 - e1R)
= 12,484 12,484 0
< 17,500 17,500 0
= 1,323,258 1,281,198 42,060
OFE AL Ol 343,221 34,221 21,000
< 12,500 12,500 0
= 330,721 331,721 21,000
OHMALD Ol 122,780 123,780 21,000
201 eer23| 45,780 36,780 9,000
01 AtR2t2l] 45,780 36,780 9,000
Oggt=2H| 24,200 15,200 9,000
-E2= ¥ SEES I
& 5,000&+50001 62 15,000 6,000 9,000
401 Al&BIL S THYI 70,000 80,000 10,000
01 Al£ZHI 70,000 80,000 10,000
Oltetdatgal 0|d & 2|2 (AL
HESAR) & 30,000,000 30,000 40,000 10,000
AT CHEITHS 93,368 87,768 5,600
= 12,484 12,484 0
< 5,000 5,000 0
= 75,884 70,284 5,600
Mootdaata =29 16,600 11,000 5,600
201 Let=23 | 14,600 9,000 5,600
01 AtR2tel] 14,600 9,000 5,600
Ooz2g+e 13,600 8,000 5,600
-2 R
Z& 100,000&+83]x17H 13,600 8,000 5,600
S0 SEAID o 916,653 879,193 37,460
Es0] AHEAID ol 218,830 181,370 37,460
201 Ler23 | 194,830 157,370 37,460
01 At2teltl 145,052 131,552 13,500
Oggt==3H| 96,400 82,900 13,500
-==0| &&EH 7Y
& 50,0008 %1,2700K 63,500 50,000 13,500
2 3522l 49,778 25,818 23,960
O222= 2 HAl 44,528 20,568 23,960
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SA HE TR
A QHEALLD Ol & AL CHE , SRH(S3E AL /T - 21E2)
Cel: 201 AHEALLD ol EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
-==0] && 0V S&IRs
Z& 90,0003 360123 38,880 17,280 21,600
-==0] & TV &JIRS
& 9,000&+3p0H+122 3,888 1,728 2,160
-2s0| ¢M2A2QY SHEA X HIIR
= 100,000& *17H A2 200 0 200
I‘P%élig)ml‘é* -OHHl - THE - ST(SSEMRL E/THHETH 3,704,026 5,578,706 A 1,874,680
= 75,000 75,000 0
z 200,000 1,300,000 1,100,000
< 1,200,654 1,422,654 £222,000
= 2,228,372 2,781,052 A552,680
THoH = A&k AtE ol 1,664,026 3,578,706 A 1,914,680
= 200,000 1,300,000 1,100,000
[ 800,654 1,022,654 £222,000
= 663,372 1,256,052 A592,680
MHEOEAIE 29 53,000 54,000 21,000
201 er23| 51,800 52,800 21,000
02 S5=2g4l 0 1,000 A1,000
O8&82= € HA 0 1,000 A1,000
- SIS SAKIAHEE S A3l
38 0 0 1,000 21,000
NELMHE 85 KA (EX) 35,900 30,900 5,000
(= 20,900 15,900 5,000
s 15,000 15,000 0
302 OIF=L T2 A= 35,000 30,000 5,000
< 20,000 15,000 5,000
= 15,000 15,000 0
02 QI A =R ES2a= 35,000 30,000 5,000
OXIA S8 Azr2st X1 (2xt)
5,000,000& 5,000 0 5,000
< 5,000 0 5,000
ZEUHAAY 70,000 0 70,000
< 70,000 0 70,000
201 ¢Bt2 ] 20,000 0 20,000
= 20,000 0 20,000
01 At2teltl 20,000 0 20,000
Oggt===H| 20,000 0 20,000
- [dEd =S LSS X2
20,000,000 20,000 0 20,000
= 20,000 0 20,000
302 OI=LMHHEA S 50,000 0 50,000
< 50,000 0 50,000
02 2 S e S243 50,000 0 50,000




2A:

QRS AN =t

A KA ol - CHH| - TS - STPH(SSE AL /THHAT - 21E2)
Rl Mol RO AFE O EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
Oldgld]|2HeEH 2g g4dst
50,000,000 50,000 0 50,000
< 50,000 0 50,000
sSs=7 UsA2 200,000 0 200,000
< 200,000 0 200,000
201 et 3| 200,000 0 200,000
< 200,000 0 200,000
01 At2teltl 200,000 0 200,000
O33Ad 8357 2eXd (s 8)
200,000,000 200,000 0 200,000
< 200,000 0 200,000
HE NATHHRAIEINL X ZHIALY 400,000 2,600,000 22,200,000
= 200,000 1,300,000 1,100,000
[ 100,000 650,000 A550,000
= 100,000 650,000 550,000
401 Al&BIL S THYI 400,000 2,600,000 22,200,000
= 200,000 1,300,000 1,100,000
< 100,000 650,000 £550,000
= 100,000 650,000 550,000
01 AlEZHI 400,000 2,600,000 22,200,000
OFYE XHTHAZINEX 7 HUIAIS (A A
2 S) Z& 400,000,000 400,000 2,600,000 £2,200,000
as 200,000 1,300,000 1,100,000
< 100,000 650,000 £550,000
= 100,000 650,000 550,000
STAK M EH A 100,000 141,680 A41,680
401 Al&BIL S CHYI 100,000 141,680 A41,680
01 AlEZHI 100,000 141,680 A41,680
Ol & 21 tHEl SFAK ¢t EH
Z& 100,000,000& 100,000 141,680 141,680
=G FA20F 2 235t 53,000 0 53,000
< 53,000 0 53,000
302 OI=HMHHEA S 53,000 0 53,000
< 53,000 0 53,000
02 2t S HESE2a=3 53,000 0 53,000
O8N ]|ZE HAZ0F BSHM 25
53,000,000& 53,000 0 53,000
[ 53,000 0 53,000
THHOIZAI S 2E 2,040,000 2,000,000 40,000
= 75,000 75,000 0
< 400,000 400,000 0
= 1,565,000 1,525,000 40,000
et HIZEAIE RIS 390,000 350,000 40,000
201 eer23y| 390,000 350,000 40,000
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o QHM TRt

DOAATHE ol STHSSEMAHE/THSTY - 2129)
DAl EER=E)
2. -3 H2AY - B85 Off &4 I8N BlunsZ
2 55244 390,000 350,000 40,000
OF=s=)cd 190,000 150,000 40,000
-t 3323 % AA
&d4d 190,000,000 190,000 150,000 40,000
Xgtel tHSEA & KO/ THEHUTY - 212h9) 1,018,514 800,953 217,561
= 259,552 56,939 202,613
= 33,098 33,098 0
= 725,864 710,916 14,948
pge2g 122,183 112,735 9,448
= 4,509 4,509 0
= 4,098 4,098 0
= 113,576 104,128 9,448
Qg NEEH 28,397 24,439 3,958
201 Let2d| 28,397 24,439 3,958
01 AlR2telHl 28,397 24,439 3,958
Ogit=2H| 5,032 3,363 1,669
-gREd 2357
& 700,000 700 420 280
- uE EHlS & 900,000 900 540 360
- Ns S0
2 & 83,0002 #1374 A+33] 3,432 2,403 1,029
Oo=2g=+d 3,570 1,281 2,289
- NE 2AE
&d&d 3,270,000 3,270 981 2,289
DIt AlE ZH 78,770 73,280 5,490
201 ZBt=Ehl 78,770 73,280 5,490
01 Al22telHl 34,160 32,660 1,500
Ooget+=2H 12,860 11,360 1,500
-oge | 25 7(sS=, Z2, U
al) Z& 3,000,000& 3,000 1,500 1,500
®2 =529 44,610 40,620 3,990
O8&88= 15,960 11,970 3,990
—-dE2Al NEZ
44 880,000& 122 10,560 7,920 2,640
—HidEa+AIE "I ABE
& 450,0002 122 5,400 4,050 1,350
Aeissge 29 49,738 490,233 500
SgeREs =29 22,000 21,500 500
201 Let=d] 1,000 500 500
01 AlR2teldl 1,000 500 500
Ooget=2Y| 1,000 500 500
-SEYgos 28 7Y
3 250,000& #42] 1,000 500 500
TARSHEE 405,593 197,980 207,613




SA: QHE Tt
3 AL HSEHHA S (SSEMLAA /T - 2IgS)
ol ZARSEEH EER=E)
SA - B SA(3) - MRAY - BES 0l Ary ol 8 o HimE=ET
= 255,043 52,430 202,613
< 29,000 29,000 0
i 121,550 116,550 5,000
zASLi2d=Xs 202,613 0 202,613
= 202,613 0 202,613
301 LEEEZ 202,613 0 202,613
= 202,613 0 202,613
BIE2d= 202,613 0 202,613
Olggd]zAgUlciEa=
202,613,000 202,613 0 202,613
= 202,613 0 202,613
TAS BAYSR XA 024 57,430 52,430 5,000
= 52,430 52,430 0
i 5,000 0 5,000
101 2124 57,430 52,430 5,000
= 52,430 52,430 0
z 5,000 0 5,000
01 B2 0 52,430 £52,430
Oldgd]|zAs B4R TS o]
34 02 0 52,430 N52,430
= 0 52,430 A52,430
02 JIetx 2= 57,430 0 57,430
OZA8 B4R XA QAHI(XHH F
oH 5,000,000 5,000 0 5,000
Olsgd]zAs 242 e el
52,430,000 52,430 0 52,430
= 52,430 0 52,430
SUTHHO L (SSEMLHE /THEHLTY - 212) 65,500 59,900 5,600
< 10,000 10,000 0
i 55,500 49,900 5,600
SCHIHGH Ol 65,500 59,900 5,600
< 10,000 10,000 0
z 55,500 49,900 5,600
ARAOPEEH A 2= 24,900 19,300 5,600
101 2124H| 6,000 5,700 300
M IRtMZZ2HS e 6,000 5,700 300
OJIRIMZ2 X S+ EHI(9)
Z& 1,000,000 1,000 700 300
201 LBt ] 18,900 13,600 5,300
01 Al 2telHl 18,900 13,600 5,300
Ogt==H| 13,300 8,000 5,300
-3R% - SRY SHAHLHEH|(0F)
& 3,000,000& 3,000 2,500 500
- Negsad =3y 44 9,300,000 9,300 4,500 4,800
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2A:

X ZH -
o=

e SE2H (St &)
K- BE - ERA(3I) - HRAY - BeS 0l &t /IR HlRE2
MBI YRR (SS S/ THHEERH - 21) 4,023,978 3,874,172 149,806
= 900,000 900,000 0
< 27,000 27,000 0
= 1,850,000 1,850,000 0
= 1,246,978 1,097,172 149,806
TV SEMUEH 2 1,178,978 1,029,172 149,806
CCTV SE2HA el 1,178,978 1,029,172 149,806
101 el24H| 44,823 0 44,823
4 JI2HZ22X 44,823 0 44,823
OSE2HHE CCTV 22 2124H] 44,823 0 44,823
-Jlz2a 10,7102 %187 .9AI 2Hx4 3 x4 32,19 0 32,19
-=E5
(34,9032 4285, 102% ) x4 = »4H 5,121 0 5,121
-28= 10,006, 000& *12%+4 % 4,803 0 4,803
—JIEt= 675,000 *4% 2,700 0 2,700
201 Zet=d 1,132,656 1,027,672 104,983
01 At 25,381 9,320 16,061
2ot 20,540 5,000 15,540
—COCTV INARIE 22AA 2ojdA 2Y
44,0003 #2852 12,540 0 12,540
-RAEFEY Il /Y =&
300,000 %13] %10 3,000 0 3,000
Ogxz 4,841 4,320 521
-8l | 2A2/(60)
& 4,841,000 4,841 4,320 521
2 s32g 1,107,274 1,018,352 88,922
O388= 473,983 385,066 88,922
-YHE dEedz
3& 419,130,000 419,130 344,386 74,744
—YEE IV 3
43 51,380,000 51,380 40,680 10,700
—Al SAEA MHIA 018
18,8002 x5 2«37 H 3,478 0 3,478
HH2I A (LE L) (DIEH/IIE 51,380 43,220 8,160
Jl238I (T 51,380 43,220 8,160
Jl23H] 51,380 43,220 8,160
201 ZBt=Ehl 37,400 30,440 6,960
01 AlR2telHl 37,200 30,240 6,960
o=l 15,360 8,400 6,960
- A2I2I2R X S201AMH|
3% 15,360,000 15,360 8,400 6,960
202 O] 8,400 7,200 1,200
01 2HAY] 8,400 7,200 1,200
oJlzges
38 20,0003+« 122 8,400 7,200 1,200
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SA: QIETYLD
MM WLES(HEILD (OIEHIIEH
2ol 28NS (B9 &)
SN - BE - SA(B) - NRAY - BES 0 &t ol o CmE==T
OB RS2 (HLBIXIBANY) & atxo
9 OIR Bt 1,891,002 1,891 1,891
OSSHMY| 1X+ HEY U O|X Bt
1,491,0002 1,491 1,491
CHEHU| 2%t ZISHZIOH QU O|Xt BHt
592,000 592 59
02023 HEBET A DY Bt
898,0002! 898 898
020284 QHFBAT AR OIX BHt
275,0002! 275 275
020284 GISE 2=0 ABTH LAY 2
Z3 IR e 3,002 3 3
ONBHE HHSHLS ESHE NRAY
OIXt Bret 14,0002 14 14
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H & 0l & AHS B Ml A

S 3HD
NI HElS HHUD AN (LB /LBAT)
ool SIHRO EUA B CERE)
M- - SA(3) - MRAY - BES Ol &koy N3 A Hwsz2
3IH 66,189,724 70,609,604 4,419,880
< 320,000 320,000 0
z 65,869,724 70,289,604 4,419,880
Ho|sh NP TR (LIS THT/YLEHY) 1,424,183 1,354,509 69,674
HPRO EYHY =g 1,424,183 1,354,509 69,674
HHADEXIX| A 1,283,364 1,220,190 63,174
201 et AY)| 722,174 689,350 32,824
01 AF22t2IHI 34,300 32,940 1,360
(OFEI=IRS =] 24,500 24,140 360
-R2c2 2HRS(SI0ITA)
2H 6,250+ 1200« 128 9,000 8,640 360
O3S 22 7Y 1,000,000 1,000 0 1,000
® 2229 687,874 656,410 31,464
O2=22= 2 MA 116,510 116,210 300
~NSIHEINBAR L 42
AX 37,5002 120CH 4,500 4,200 300
OXteedety] 549,650 540,200 9,450
-&2(08, 58,48, 38 6300)
AA 3,910,0002 «63CH 246,330 245,700 630
-SEH(UE, 58,48 101)
AX 5,400,000 *11CH 59,400 55,000 4,400
-32(UE, 58,48 420)
AE 4,760,000 x42CH 199,920 199,500 420
- S2(400) 2A 11,000,000 «4CH 44,000 40,000 4,000
OG-ADIEZA MHIA 0122
38,5002 47 CH* 12 21,714 0 21,714
405 KHAHE SH) 561,190 530,840 30,350
01 T SEF SH 561,190 530,840 30,350
OB ERE(AIX}) SHA
A 350,000 *12CH 4,200 3,850 350
O(IR)ISE PaXEY A7 7
30,000,000+ 1CH 30,000 0 30,000
SIHME 2 140,819 134,319 6,500
201 YLt AY| 9,469 90,369 9,100
01 AFR2t2IHI 85,969 83,869 22,900
(OFEI=IR =] 33,600 32,400 1,200
-B(XE) =22
A 20,0002 %3524+ 128 8,400 7,200 1,200
o2g4+¢ 19,500 23,600 24,100
- ZAAIRIR S 2 02 0 1,600 21,600
—ZARIAIRIR EF0IY 23 02 0 2,500 22,500
® 3249l 13,500 1,500 12,000
OZH2HBR2 NEBSEEHZ (2, SH)
12,000,000 12,000 0 12,000
203 YRFZY| 41,000 42,000 21,000
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SA: SIHD
A Hels HEYR FIUXN (LIS ST /LBrE)
ol SRS £ &2 (SH &)
A -3 - SRA(3H) - HRAE - BES Ofl &4 I3 A Husz
03 A=A H A 41,000 42,000 1,000
Ome|st HHAR F2XE(R)
&4 19,000,000 19,000 20,000 1,000
307 212+0I1H 350 1,950 A 1,600
12 QIZiel € =] 350 1,950 21,600
OZUBARE 28 u= 350 1,950 A 1,600
- ZUBARE /DT HOt
38 03 0 450 450
- Z2UBARIE US|
& 350,000 350 1,500 A1,150
OHMGHD BYX B MHAL2AL (LIS SAY /L) 2,789,730 2,584,400 205,330
237 Makzte| 2,789,730 2,584,400 205,330
A S SRS 2 2,757,728 2,552,398 205,330
101 el 23,683 15,931 7,752
04 I N=22 RS2+ 23,683 15,931 7,752
OFI2RAIAE 22l 23,683 15,931 7,752
-JleEs 38 78,8802 +«0E*1E 15,619 10,413 5,206
] 48 78,880x37& 1L 2,919 1,972 947
= e
3 78,880 x12& 1 047 710 237
- MEUZ BN
3E 6,800 +2442+1H 1,660 1,129 531
-P8= BE 21,145,000 %12% 2,538 1,707 831
201 ZBt=Eh] 1,592,645 1,481,467 111,178
01 AlR2telHl 255,535 229,217 26,318
Ogit=2H| 103,423 57,083 46,335
-ZA HEEE ¥ H2E
& 40,0002 =5400H 21,600 12,000 9,600
-SEHSE & SEMAEA 7Y
3 2,2502%2,5000H 5,625 4,000 1,625
- Az A2E 7Y
Z& 40,000,0002 40,000 15,000 25,000
— LA (AL L 28AL
3 560,000& %52 2,800 1,650 1,150
— A LED 7 128,000 *707H 8,960 0 8,960
Ogxz 47,512 40,529 6,983
- SAIFEXE EXYXE
38 20,332,000 20,332 13,349 6,983
Oozelggl 92,500 119,500 A27,000
—2EMN HBAAE RXES &
34 03 0 6,000 6,000
- FXZHAIAY 2e| S
38 02 0 21,000 /21,000
2 s3234l 1,337,110 1,252,250 84,860
O=32=  HAl 1,078,760 1,057,500 21,260




2A:
T ZH -
o e

=aak

21 A4 1t
OHMGI D BHAE THA2e| (LRSI A /UBHEHA)
=237 Marze|

SN - B G(EH) - NRAY - BES 0 & o[- HimEE]
- XEHE SHa 461,000 441,000 20,000
xSt SHEtl
Z& 329,830,000 329,830 316,000 13,830
- A= - ME= Moll=+ SH =l
Z& 116,170,000& 116,170 110,000 6,170
—HAL Y BA S4IR3
& 180,000&*12& 2,160 900 1,260
OAE &R X 235,100 171,500 63,600
—EAL B3AE2 uH & E5Y
Z& 130,000,000 130,000 70,000 60,000
28N A=EE FIIEZ 3,600,000& 3,600 0 3,600
401 AIEHIZL 28I 1,095,500 1,016,000 79,500
01 Al&Hl 1,095,500 1,016,000 79,500
O=Xt2tHl CCTV XIS At Z2& 03 0 19,500 19,500
O=& st&4a JHdSA 44,000,000 44,000 0 44,000
O2g HJAZAL SIS AL
45,000,000& 45,000 0 45,000
O HESKIME 248 X
10,000,000 10,000 0 10,000
405 KHeHE S| 45,900 39,000 6,900
01 ML =ZFSHI 45,900 39,000 6,900
022 ZHAZAHFZAL) oloizd 2
2,300,000 & *3H 6,900 0 6,900
HAE2AAHI(SH D) (D1EH/IIE 59,643,311 64,338,195 A4,694,884
= 320,000 320,000 0
i 59,323,311 64,018,195 A4,694,884
A2HH(BZ) 59,483,651 64,196,315 A4,712,664
s 320,000 320,000 0
i 59,163,651 63,876,315 A4, 712,664
eI 2| 59,483,651 64,196,315 A4, 712,664
= 320,000 320,000 0
= 59,163,651 63,876,315 A4, 712,664
101 @I24H| 56,156,075 60,807,416 A4,651,341
= 320,000 320,000 0
i 55,836,075 60,487,416 A4,651,341
01 E= 44,898,230 49,549,571 24,651,341
OoJ12a 29,065,084 33,716,425 24,651,341
—2ota o HEA 23,827,742 28,479,083 A4,651,341
62 (458) 238 6,582,001,000& 6,582,001 11,233,342 A4,651,341
204 M2 AH| 513,117 574,440 A61,323
01 MG AH| 105,646 90,600 15,046
OXMZH Pt AH| 105,646 90,600 15,046
- Y 22,846,000& 22,846 7,800 15,046
02 EZg=3Hl 407,471 483,840 AT76,369
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A SHD
M HAPAZHI(SIAHL)(DIEH/DIE)
ool QIARAH|(BZ) (SH &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HnsZ
Ol &= 2E 329,648,000 329,648 390,000 260,352
OMZH(NMRER) Z& 25,983,000 25,983 42,000 N16,017
Jl=gl 159,660 141,880 17,780
JlE2&l 159,660 141,880 17,780
201 ZeH22 ] 27,040 20,780 6,260
01 ArR2eltl 27,040 20,780 6,260
OgEt=ZH| 18,100 14,000 4,100
—LUAIREE 2 & 8,000,000& 8,000 5,000 3,000
-El ReEs7I 1,100,000+ 1CH 1,100 0 1,100
O=gtl 7,200 5,040 2,160
— N2t S204AL|
2 & 600,000& 128 7,200 5,040 2,160
202 O4H| 8,400 5,880 2,520
01 AL 8,400 5,880 2,520
OJl=gR =30
Z & 50,0002 123+ 14Y 8,400 5,880 2,520
203 BR=EH| 124,220 115,220 9,000
01 J| 22 =8| 119,000 110,000 9,000
oz Z & 68,000,000 68,000 63,000 5,000
Ofz2= Z& 51,000,000 51,000 47,000 4,000
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202449 &

A 2 o & A

=4 2 3 LEeRH X

2 ™D

M g 2o|(LESSHIY/XNLHE - THEXIR)
S| i_t?i_

Al A

ool MRS OHEE o (crel: g)
SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
AIZ 3t 889,507 832,179 57,328
2 103,666 103,666 0
= 79,122 12,908 66,219
=z 706,719 715,610 8,891
S0 PRI(LPBII/ LB - WIXR) 765,310 700,574 64,73
2 63,693 63,693 0
= 79,122 2,908 66,219
2 622,49 623,978 A1,483
NSOl oy ot 636,321 571,565 64,73
= 79,122 12,908 66,219
2 557,199 558,682 A1,483
N EREETEREE 380,264 389,747 £9,483
101 21218 2,467 2,652 A185
VBIELEES=IEPS 2,467 2,652 A185
OMAXILASH ADE0| 2,467 2,652 A185
—Fa4g A 78,8002 2L 2 316 474 A58
L=
AT 6800214242 191 204 AT3
-282 2T 1,199, 5002145, 5% 66 80 INY
201 Yur2gy| 245,274 244,269 1,005
01 Al 22l 88,554 87,549 1,005
Oger+gH| 83,754 8,749 1,005
—HEISY HEX HES 4 NSA
Sl =k 898,500_4*10% 8,985 7,980 1,005
207 AL 18,991 20,000 A1,009
SEEEEET 18,991 20,000 A1,009
OBLY AHDHA LOHHEAF
A 18,991,002 18,991 20,000 A1,009
308 XHXISHAISOIF 9,075 08,369 £9,294
13 ZOIASUTHEBAH IS AL Y| 97,788 107,082 29,29
OHT NZHFBAAL SR 24
A 61,771,009 61,771 71,065 £9,294
A =2 176,935 168,935 8,000
201 2er2y| 112,235 112,235 0
01 Al 22l 65,499 65,499 0
OYBr+gH| 65,499 65,499 0
—XIgH HEMDXN IS8 2 RS
AT 7,837,000 7.837 10,200 £2,363
~ M2 HEDTA - SIS 2tz
RS A3 1,500,002 1,500 3,000 A1,500
~Hiel4e ®X MLDXA - HHS At
A 018 3,863,0002 3,863 0 3,863
2 S22 46,73 46,73 0
OZBZL3 2 Al 46,73 46,73 0




2A:
X XH -
o e

=aak

AIE

Q) TR (ULHBTHT/NYHT - WHXH)
=

SA -3 - A(3) - MISA - B85 Off &K N3 Hws2
—HI2l%el HLDIA - AUS T2 7,907 9,598 A1,691
SR 2 7,907,0002 7,907 9,598 A1,691
—HQlael M MDA - OHAS 2
2 1,691,0002! 1,691 0 1,691
303 ZAE 62,700 54,700 8,000
01 ZAS 62,700 54,700 8,000
ONZMY Hamara 62,000 54,000 8,000
— AIZERI HIQEE (X1 A)
2T 6,000,002 %40+ 48,000 40,000 8,000
NZMS SHES 7,968 0 7,968
= 7,968 0 7,968
201 YEr2 Y| 7,968 0 7,968
= 7,968 0 7,968
I 7,968 0 7,968
OXNZM+ ZHEE 222 7Y
7,968,0002! 7,968 0 7,968
= 7,968 0 7,968
SHIMYY assyl 21,154 12,903 8,251
= 21,154 12,903 8,251
201 Yer2 Y| 10,354 5,103 5,251
= 10,354 5,103 5,251
01 Ak 2t2|t] 10,354 5,103 5,251
OZAHIHLY F4ss 222
23 5,954,002 5,954 5,103 851
= 5,954 5,103 851
OXIZA X JHA XA ABMYIA 24
2 X2 4,400,0002! 4,400 0 4,400
= 4,400 0 4,400
202 01t 10,800 7,800 3,000
= 10,800 7,800 3,000
01 2UH0it| 10,800 7,800 3,000
OZHIME Y &4 8 of|
2 20,0002 %9056 10,800 7,800 3,000
= 10,800 7,800 3,000
NE PSSP 50,000 0 50,000
= 50,000 0 50,000
303 ZAE 50,000 0 50,000
= 50,000 0 50,000
01 ZAZ 50,000 0 50,000
OMQl4=2d AIZEIL AAS
15,000,002 15,000 0 15,000
= 15,000 0 15,000
OXZA MEFel AZBIL AN
35,000,000 35,000 35,000
= 35,000 35,000




2 A=
M OIARAHI(ME D) (DIEHIIEH
ool QIA2AH|(MED) (S &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HnsZ
I (MED)(DIEHDIEL) 81,534 89,777 N\B,243
= 39,973 39,973 0
= 41,561 49,804 8,243
oI 2HHI(NE ) 81,534 89,777 A\8,243
= 39,973 39,973 0
= 41,561 49,804 A\8,243
N ZENDF AT AL QI24H] 81,534 89,777 A\8,243
= 39,973 39,973 0
= 41,561 49,804 A\8,243
101 @124d| 73,429 81,672 A\8,243
= 39,973 39,973 0
= 33,456 41,699 8,243
03 IR (PINHY)2EXE > 73,429 81,672 8,243
ONEFEDINA AL SR AH(ZHIF
) 33,456 41,699 A\8,243
—ol2At| BE 2,465,520 *9Z «2H *5(f% 22,190 29,587 AT,397
—ARRI2RH
ZE 18,790 *15AI 2HOR <2 #50% 2,537 3,383 NB4B
HREs(MEL) (LIS /XL - HEXIH) 835 0 835
=FSPAES 835 0 835
=FSPAE 835 0 835
802 Bret3JIE 835 0 835
01 2 NEx3tte= 564 0 564
02023 HEZEIPHAEZAL HBRH U 0| X}
Bt 564,000 564 0 564
@ Al-CHEX3E2 27 0 27
O2023& XM+ SHESH| Okt BHe
37,000 37 0 37
020238 TAIMES StHesH Jado 3
Ol Xrer 129,000 129 0 129
020234 XMl MEEIE Al&=Z OIXF BHe
44,0002 44 0 44
020234 T RE AENZAF BOF AlAZ OIK
gre 4,000 4 0 4
020232 HI2l==2% Bt AMlats OlA+ Bty
57,000 57 0 57
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H & 0l & AHS B Ml A

0243 =& 2 3 LEtSIH &l

X = =)
B%:—i 53—.”%?%09%/\-“:1@(?@.— T (Gt H2)
A -3 - HRAE) - NRANY - BES Ofl &F2H I3 A Hwusz
QI XA 2,063,623 2,087,992 25,631
= 240,485 240,485 0
LS 15,107 15,107 0
e 1,808,031 1,782,400 25,631
Fo Y Ho SR(LE 33y /LedY) 145,883 142,593 3,290
= 24,608 24,608 0
z 121,275 117,985 3,290
UABS UAAMBIA WS 145,883 142,593 3,290
= 24,608 24,608 0
= 121,275 117,985 3,290
2RO AHIA 113,733 110,443 3,290
201 Zer=2 Y| 81,620 78,330 3,290
01 At 2teltl 66,220 62,930 3,290
Oget+=24| 23,360 20,070 3,290
-FUSSSLS(ZHSAH
38 4,7002%3,600 16,920 13,630 3,290
SANL(SEXXSINL /N SLEAI) 1,830,110 1,808,545 21,565
= 205,681 205,681 0
= 15,107 15,107 0
= 1,609,322 1,687,757 21,565
FUEe NHHF MEIL 2 1,830,110 1,808,545 21,565
= 205,681 205,681 0
< 15,107 15,107 0
z 1,609,322 1,587,757 21,565
NI xe 79,661 63,561 16,100
201 Ler2aY| 77,481 61,381 16,100
01 At22tell 76,688 60,588 16,100
Ozelssl 32,868 16,768 16,100
-SAE2 B SE A X 2F |
16,100,0002 16,100 0 16,100
HeFEa Fae 145,280 116,600 28,680
201 £er2aY| 144,600 116,600 28,000
01 Ak 2teltl 144,600 116,600 28,000
Ogt=24| 144,300 116,300 28,000
-d380 ==&
33 5,000,000 *4A 20,000 10,000 10,000
-HERES HEUY a5+=8
23 900,000 12024 108,000 90,000 18,000
802 gtet=0Et 680 0 680
03 JIEtEtEZ S 680 0 680
ONgERYs DR 833
680,000 680 0 680
ATE 2SS4 HHEN = 8,400 5,900 2,500
201 LeH2 3| 6,400 3,900 2,500
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A BIXIR D
M CANZ(RELXI SN/ NAUEAD
=2

CI9l: Z=OIBO| XIHHMT AYlA P (o) &)
SN - BE - SRA(SIH) - NIRAY - B2 0] a0t ol & o HlRE2
01 AFS2t2ltl 6,000 3,500 2,500
OgBt==2H| 5,000 2,500 2,500
-S4 Hefdln ZAZ HE g
Z & 500,000 23] 1,000 500 500
=8 YJUX ADHE g
Z & 500,000&*42] 2,000 1,000 1,000
-ESMEYUIHHA2E EL
Z & 500,000 43| 2,000 1,000 1,000
KelZ3ENAH 25 98,597 111,000 212,403
201 ZEt2& ] 35,950 41,000 25,050
01 ArR2eltl 35,950 41,000 25,050
Ozels4| 35,950 41,000 25,050
- SUATESE 2L RS+
2 & 35,950,000 35,950 41,000 25,050
405 Kt S| 62,647 70,000 A7,353
01 XL = SF S| 62,647 70,000 A7,353
OLHAST SSAIE(FHAIE A
Z & 62,647,000 62,647 70,000 A7,353
C2Y Y HAEBS FOHAMS 178,472 191,19 N12,723
201 et 29,137 31,110 21,973
01 ArR2eltl 26,547 29,220 A2,673
O=2g=g 900 1,800 A900
—E2AFARRS XY
Z& 100,000& *12]+x9H 900 1,800 A900
Ogegr=9y| 20,227 22,000 A1,773
—CEHFA CHHAIE LHIZAL
Z& 20,227,000 20,227 22,000 A1,773
02 3244l 2,590 1,890 700
03322 % HMAl 2,590 1,890 700
—EZ2EFA MY FA RERS
23 1,150,000 1,150 450 700
401 AIEHIZ 2018 59,890 70,640 210,750
01 Al&Hl 59,890 70,640 A 10,750
OHAERE AIE2FAE 8X
2 & 8,000,000 8,000 15,750 AT7,750
Ok= A=stse Wi
Z& 10,0002 *1,4000H 14,000 17,000 23,000
2 2 XStAE2(4,ot5) 932,891 933,480 A589
3EAH BRE ALY
401 AIEHIZL 2018 932,891 933,480 A589
03 AIE S CHHI 8,411 9,000 A589
O=2 2 XGtAIZ= 3HH B 75 ZEHY
=22 (3%) Z2& 8,411,000 8,411 9,000 A589
eSS (VR EL) (LSISHAE/UBHEH) 776 0 776
SN E (22X XD 776 0 776




SN RATND
Y YRHS(UAKED) (YD DHE/ABIHT)
cel: 2EXS(VXHD) (S &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HnsZ
SEXE(LFXFD) 776 776
802 B3 JIEL 776 776
01 I NEXZLE=z 759 759
02023 JIE2HSEARAE =4 &
oH 2 O|X+ Bt 227,000 227 227
O2023F & XIEIHZAMALY =H| Ze &t &
OIKt BHef 219,000& 219 219
O2023F HESAIRIDLE=AL =H| &
Ol Xt Bt 313,000 313 313
02 Al - SHIEXZEHE 3 17 17
020238 FAHEAIE EXIAY =H 3N
oH 2 O|X+ Bt 9,000& 9 9
020238 ZIHNEHSHI|AE LHZAL Ol
A B 8,000& 8 8




H & 0l & AHS B Ml A

0243 =& 2 3 LEtSIH &l

SXFH D
20| MBS E(AS S/ N EE)
=g 2R (St &)
SN - B SRA(S) - NISAMY - BES Ol ot ol & o HlmE2t
243 28,122,625 26,509,566 1,613,059
2 14,606,653 14,528,561 78,092
2 401,532 390,080 11,452
= 2,448,554 2,416,100 32,454
= 10,665,886 9,174,825 1,401,061
Q| EMEE R (ASI2X) /I ZNELE) 17,608, 163 17,290,071 318,092
= 14,085,953 13,777,861 258,092
= 1,733,309 1,708,309 30,000
z 1,838,901 1,808,901 30,000
ZME 2HAY 17,608, 163 17,290,071 318,092
= 14,085,953 13,777,861 258,092
= 1,733,309 1,708,309 30,000
= 1,838,901 1,808,901 30,000
M3 12,073,000 11,773,000 300,000
= 9,659,000 9,419,000 240,000
= 1,207,000 1,177,000 30,000
2 1,207,000 1,177,000 30,000
301 YerER 3 12,073,000 11,773,000 300,000
=2 9,659,000 9,419,000 240,000
= 1,207,000 1,177,000 30,000
= 1,207,000 1,177,000 30,000
01 ABIEEEAHS(RDEEHL) 12,073,000 11,773,000 300,000
OJIE4SX MAHKH| X
23 12,073,000,0008! 12,073,000 11,773,000 300,000
2 9,659,000 9,419,000 240,000
= 1,207,000 1,177,000 30,000
= 1,207,000 1,177,000 30,000
Hoormpie|y| Syl KR 58,012 39,920 18,092
2 58,012 39,920 18,002
301 YpE A 58,012 39,920 18,002
= 58,012 39,920 18,092
NREEEEEEIEInEESTE) 58,012 39,920 8,092
OFLUR22IH| byl X2
25 58,012,000 58,012 39,920 18,092
= 58,012 39,920 18,092
g nss X 2,058 2,058 0
= 617 617 0
= 1,441 1,441 0
201 Yer2 | 1,500 1,000 500
= 450 300 150
= 1,050 700 350
03 AL 1,500 1,000 500
ORE22N A22LstnS
23 1,500,000 1,500 1,000 500
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A SXE L
M JOD|ZMSBE(ASIER /I ZH2ER)
Chelr J|zdE BEIA (SH &)
S - B - E9(SIH) - MRA ol &4 ol o HRE2
< 450 300 150
s 1,050 700 350
301 LeENZ 558 1,058 2500
S 167 317 A150
= 391 741 A350
11 SEAAHIXIES 558 1,058 A500
OXE2 22X AEdetu=
2 & 558,000& 558 1,058 A500
S 167 317 A150
ia 391 741 A350
’;%T %IPE SXAHIA X2 L Lis23H SAHASISXI/H 2 1,620,076 1,786,408 A166,332
= 570,700 750,700 180,000
s 289,440 279,440 10,000
= 340,256 337,756 2,500
s 419,680 418,512 1,168
RO0Bk= SXAHIA K& 286,618 287,950 A1,332
= 7,500 7,500 0
[ 46,440 46,440 0
S 108,827 108,827 0
[ia 123,851 125,183 N1,332
QIMOINY =2 2d3t K& 16,540 19,000 22,460
201 L= 16,540 19,000 22,460
03 HAI2HI 16,540 19,000 A2,460
OQHOIMAE ASk2sl W= X A3IE
2 & 16,540,000 16,540 19,000 A2,460
SRA(RIAH) 22X &3l X 6,168 5,040 1,128
202 04| 6,168 5,040 1,128
01 =LA 6,168 5,040 1,128
OAtell2tel Ab =0 b|
Z& 6,168,000& 6,168 5,040 1,128
OSAH G2l A SR 15,000 15,000 0
= 7,500 7,500 0
= 4,500 4,500 0
s 3,000 3,000 0
301 LENZ 15,000 15,000 0
= 7,500 7,500 0
< 4,500 4,500 0
[ias 3,000 3,000 0
01 AISIEE A 62 (S REX ) 15,000 15,000 0
OL= AL 2107 HEHIAY
2 & 4,500,000 4,500 8,000 23,500
= 2,250 4,000 A1,750
< 1,350 2,400 1,050

&




2A:

X XH -
o=

SINESES N}

HOte SXMHIA X& 2 UsE3 EaHARISXI/HAHSKR)

Sl ROIbs =XMHIA X2 (o) &)
SN - BE - SRA(SIH) - NIRAY - B2 0] a0t ol & o HlRE2
= 900 1,600 A700
OLSA "7 MEsd HEXIA
23 7,500,000 7,500 7,000 500
= 3,750 3,500 250
= 2,250 2,100 150
i 1,500 1,400 100
OLNSEAREINT 58 K&
3,000,000& 3,000 0 3,000
= 1,500 0 1,500
= 900 0 900
= 600 0 600
FIIIIHE MEtE XA 894,000 1,079,000 A 185,000
= 563,200 743,200 A 180,000
s 165,400 167,900 22,500
i 165,400 167,900 A2,500
Fa=r-JN 704,000 929,000 A225,000
= 563,200 743,200 A 180,000
T 70,400 92,900 A22,500
= 70,400 92,900 222,500
301 LEtBEF 704,000 929,000 A225,000
= 563,200 743,200 A 180,000
= 70,400 92,900 A22,500
i 70,400 92,900 222,500
01 MBI EEA62(2DEXTHA) 704,000 929,000 A225,000
OFI=1EN Z & 704,000,000 704,000 929,000 A225,000
= 563,200 743,200 A180,000
L= 70,400 92,900 222,500
i 70,400 92,900 222,500
2I|&8 2=5sX 190,000 150,000 40,000
T 95,000 75,000 20,000
= 95,000 75,000 20,000
301 LEtBEF 190,000 150,000 40,000
s 95,000 75,000 20,000
i 95,000 75,000 20,000
02 NSIEZESGS(HAAS, KLTHA) 190,000 150,000 40,000
OZIEE 2Us=X
Z& 190,000,000 190,000 150,000 40,000
L= 95,000 75,000 20,000
= 95,000 75,000 20,000
Lis=23t =t XA 439,458 419,458 20,000
= 243,000 233,000 10,000
L= 66,029 61,029 5,000
i 130,429 125,429 5,000
KETEE ASIMHIA FHAUX X2AM 20,000 0 20,000
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A SXNEH
M 0Pl SAAMEIA T 2 LHs2s SAHAIRISTI/FLAHSKA)
Chel: Lis&3h 2 AId (SH9 H2)
SN - BE - SRA(SIH) - NIRAY - B2 0] a0t ol & o HimEE]
s 10,000 0 10,000
< 5,000 0 5,000
o 5,000 0 5,000
201 fer=3| 5,000 0 5,000
z 2,500 0 2,500
< 1,250 0 1,250
= 1,250 0 1,250
01 AtR2t2ll 5,000 0 5,000
Oggt==H| 5,000 0 5,000
-E2E3 M 5,000,000& 5,000 0 5,000
z 2,500 0 2,500
< 1,250 0 1,250
= 1,250 0 1,250
307 2I2to1 ™ 15,000 0 15,000
z 7,500 0 7,500
< 3,750 0 3,750
= 3,750 0 3,750
1 ARRISXIASE X 15,000 0 15,000
OXIYXEE ASIMHIAF X XIZAY
15,000,000 15,000 0 15,000
z 7,500 0 7,500
< 3,750 0 3,750
= 3,750 0 3,750
22 ¥ XNA(A=X/28) 4,401,919 4,287,699 114,220
< 270,225 270,225 0
i 4,131,694 4,017,474 114,220
SEE#AL- SH - Al 22 1,514,469 1,400,249 114,220
Lt e DA 42,040 31,540 10,500
203 HRP=H] 2,500 2,000 500
03 A= PR FAI| 2,500 2,000 500
OE=ge =8 &F 2,500,000 2,500 2,000 500
307 2I2to1d 28,540 18,540 10,000
04 DIZFHATAIZ B & 28,540 18,540 10,000
OJtgE= FEENIIgEe &34
10,000,000 10,000 0 10,000
HEzZEEHNElds S 102,014 91,914 10,100
307 2Ito1H 9,514 91,914 7,600
03 M EE2SHIEX 9,514 91,914 7,600
OJrEz=E2sHMEos 23X 80,000 72,400 7,600
-EEHH e3AF oA
& 80,000,000 80,000 72,400 7,600
402 RIZEAHZ01H 2,500 0 2,500
01 RIENSA S E X (XM THR) 2,500 0 2,500




A NESE I
. 222 & NA(M=X/28)
Rlr 22 AL B - Al 2 (SH9 H2)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
Ootgd=z=2adMgs 28X 2,500 0 2,500
-2E2HHd IR 2 N
2,500,000 2,500 0 2,500
2EHH 22X 74,498 72,498 2,000
307 2I2+0I1& 74,498 72,498 2,000
03 QI HEE2EHI2x 74,498 72,498 2,000
Ot NG MERE JHEZ X3 24|
3 11,430,000 11,430 9,430 2,000
HAH| AldE 22 796,802 796,682 120
201 Zet=d] 120 0 120
2 =523l 120 0 120
Os&2= € MA 120 0 120
—SEAE Si= 30,0004 x4 120 0 120
e 2e2g 24,000 22,500 1,500
201 Let2a| 24,000 22,500 1,500
2 33234l 13,000 11,500 1,500
O3323 % HAl 13,000 11,500 1,500
-223& =32= Z HAl
33 13,000,000 13,000 11,500 1,500
FHZHI|EE NH - £X 90,000 0 90,000
401 AIEHIL 20| 90,000 0 90,000
01 Al&HI 90,000 0 90,000
OJtEz EEE™II8E &8 & TEE &
Xl SAk 90,000,000 90,000 0 90,000
KA SIS (ARSI ALS =X LE) 1,225,363 1,223,535 1,828
< 32,634 32,970 N33
= 1,192,729 1,190,565 2,164
NN NP e 864,913 863,085 1,828
< 15,834 16,170 N336
= 849,079 846,915 2,164
NS AR SXIXI2 15,946 13,446 2,500
203 AR=TH| 8,200 5,700 2,500
03 AIB=ZH 22| 8,200 5,700 2,500
OFeXg g8 =&
& 4,500,000 4,500 3,000 1,500
OXISARIS R A =8(F)
& 3,700,000& 3,700 2,700 1,000
AZISXAIE EAHA E=1FH| X2 20,883 19,880 1,008
< 10,444 9,940 504
= 10,444 9,940 504
307 212+01& 20,883 19,880 1,008
= 10,444 9,940 504
= 10,444 9,940 504
12 QIR € =] 20,883 19,880 1,008
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A SXNEH
M XM STAE (MEISXI/ AL S XL

Selr XA SR8 st (SH9 H2)
SN - B G(EH) - NRAY - BES 0 & o[- HimE==T
OARISXIAIES A 2= uFH| A&
33 20,883,000 20,888 19,880 1,008
& 10,444 9,940 504
= 10,444 9,940 504
ABISXIAIE SALAL ASHEEHl XA 10,780 12,460 A1,680
< 5,390 6,230 840
= 5,390 6,230 AB40
301 LetE2NS 10,780 12,460 A 1,680
< 5,390 6,230 840
= 5,390 6,230 N840
BIE2ds 10,780 12,460 1,680
OMEISXIAIE SAHA ol 28| X
33 10,780,000 10,780 12,460 1,680
< 5,390 6,230 N840
= 5,390 6,230 840
COISX B X HAE 2 ARSI/ 0l - FAE) 664,893 642,647 22,246
< 3,840 3,840 0
= 661,053 638,807 22,246
A2 e & HE 664,893 642,647 22,246
< 3,840 3,840 0
= 661,053 638,807 22,246
S& AdEk 28 & 21 212,493 190,247 22,246
201 Let=Ehl 32,178 33,300 A2
01 AlR2telHl 21,178 22,300 A2
Oget+=24] 11,838 7,560 4,278
“MNRES ¥ A28 7Y
Z3& 5,838,000 5,838 1,560 4,278
OS] 6,100 11,500 5,400
- SoFHIAIAY 0IE2
&4 600,000 600 6,000 5,400
401 AIEHIL 20| 76,000 66,000 10,000
01 Al&HI 76,000 66,000 10,000
OIS AIEEHIAY 54,000 44,000 10,000
-F2SE AMENEFSA
3% 32,000,000 32,000 22,000 10,000
405 RHaks S| 14,268 900 13,368
01 AL =S F = 14,268 900 13,368
ONE=R23H otad =22
338 463,000 463 900 NA437
OJME=23% M&ttol=
13,805,000& 13,805 0 13,805
A2 IHI(SXE W) (O1EHIIE 381,104 336,489 44,615
= 112,092 110,640 1,452
< 68,290 68,000 290




2A:

SINESES N}

M oIHARHHI(SXIZ2D) (JIEHIIE
CHel: QIAR2AH|(SXIF D) (S &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HnsZ
= 200,722 157,849 42,873
QIA2HH(SXIE D) 381,104 336,489 44,615
s 112,092 110,640 1,452
= 68,290 68,000 290
i 200,722 157,849 42,873
SIE=a= 1020 ol PN el Fealsl 121,540 119,725 1,815
s 60,000 58,548 1,452
L= 12,000 11,710 290
i 49,540 49,467 73
101 Q124H| 110,765 108,950 1,815
= 55,100 53,648 1,452
S 11,020 10,730 290
= 44,645 44,572 73
03 SR (I 22N> 110,765 108,950 1,815
OLz230 e A IZHEI(BX) 68,875 67,060 1,815
-8 85 Z2 & 55,692,000 55,692 53,877 1,815
= 44,554 43,102 1,452
= 8,910 8,620 290
i 2,228 2,155 73
SEAtAIZEIAL Q1A (XERI) 42,800 0 42,800
101 Q124H| 38,000 0 38,000
03 BRA(RIAHY)2E2XNE S 38,000 0 38,000
OS3RH(RIIAH )22 E4=(XtH)
38,000,000& 38,000 0 38,000
M H=RE=S 4,800 4,800
04 SR (RIIHY) 22X BEHERES3 S 4,800 4,800
OF2RA(RIAY) 22X 2e82243a (X
i) 4,800,000 4,800 0 4,800
HE2HAH(SXEAD) (OIEHIIE) 37,512 31,802 5,710
Jl2ZH(SXEH) 37,512 31,802 5,710
Jl=&H| 37,512 31,802 5,710
201 ZEt2 & 29,262 24,452 4,810
01 ArR2eltl 28,182 23,372 4,810
Oget==H| 18,250 15,250 3,000
—LUIAIREE 2 & 7,000,000 7,000 4,000 3,000
oYtz 2,132 2,662 2530
—d=D| gX= Z& 100,000 * 128 1,200 1,320 2120
-3JIEEI| gx=
2 & 38,8002 <2CH*123] 932 1,342 A410
O=gHl 7,800 5,460 2,340
—AlIZtel 22X E20HA]
Z2& 650,0008 123 7,800 5,460 2,340
202 04l 3,000 2,100 900
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S SXHBD
HE: #™2 AU (SXZHD) (JIEHIIEH
chel: JI=FI(SXE M)

SN - BE - SA(B) - NRAY - BES 0 & ol o HIRE2
01 =LHOH b 3,000 2,100 900
OJI=R +80iH)
AT 50,0002 <1225 3,000 2,100 900
P2 S (ST D) (AEI =X/ Al SR 26 2,183,5% 910,915 1,272,680
TESIETE 970,024 910,5% 59,428
TESIEE 970,024 910,5% 59,428
701 JIEFBINSHES 970,024 910,5% 59,428
01 JIEFSI T B 970,024 910,5% 59,428
ORZCISLEN HES(EZANYRLI)
A 970,024,002 970,024 910,5% 59,428
ERPE 1,213,571 319 1,213,252
R 1,213,571 319 1,213,252
802 vrek30IE 1,213,571 319 1,213,252
01 2NEX3ES 1,002,697 0 1,002,697
OB 22sAYE 22X LA
2| YT 9 OIX Bre
39,926,002 39,926 0 29,926
0202 01F 225U +3N2 243
N2 2| ZHEY Pht 5,475,002 5,475 0 5,475
020284 CI2ZUREUA 2 2| FHEY
2 O|X Biet 8,766,002 8,766 0 8,766
02028 JIZMEBIT0(MHS0) 24| T
SO BiLt 381,962,002 381,962 0 381,962
02028 JIZMSBHZ0(HAZHZO) =
Hl Ea o gt 380,002 380 0 380
02008 THEAIR 2| 2b| DY Bt
19,230, 0002 9,230 0 19,230
02028 JIZMEBY FHI0| 2| BT
of 91 O|Xt BHef 463,655,000 463,655 0 463,655
02028 FRUTR2Y byl 2| FHT
of 91 O|Xt Bret 1,424,0002! 1,424 0 1,424
020202023 HRABB2IH| jHl =] 0]
Rrgred 12,0002 12 0 12

O2023d i A3 Brees 252 X
2 =l YT Y OIX Bt

835, 0002 835 0 83
020234 BIZANK HFEX OlAHI K =t
Zgzroy 9 O|X} gt 3,829,0002! 3,829 0 3,829
O34 (2INAZSXXAAIL 24| ZH
o 9! 0|X} 6.616,000%! 6,616 0 6,616
020234 I2LHY Y221 MEXAH| X
A 2H| YoM o 0|t B
6,319,0002 6,319 0 6,319
O SHE LEY SSVMHIA N
= IR Y OIX By
62,0002 62 0 62
ONBEE XIKAE HHIA SXHAY 28] Ol
Rt erg 963, 0002 953 0 93
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2A:
X XH -
(=

=aak

SINESES I}

XH

SLES(SXNEHMD) (ASISKI/AIESXLEH

ERSPNE

SA BB GR(B) - HSAY - BES Ofl 7| H o HnE2
02023 HUESM StAl SE X =2H] Okt
BHef 89,000& 89 89
O2022F HEAEAN SHAl SEXIE =H| HE&
oW gl O|X} BHef 73,063,000 73,063 73,063
02023 XHEHAtY =4I OlA BHe
101,000& 101 101
02 Al - SHIEXZEHEZ2 210,555 210,555
O203¢ 22s8U=E ==Ae =X
SHI &eiaon 2 Okt B
2,994,000& 2,9% 2,9%
O2022¢ Ol 22s8JA= a3kl Exa
K& TH| &eAon gt 411,000 41 41
O2023E 2z 20 &AMt 2F TH| &R
2 O| X+ B 1,754,000 1,754 1,754
020238 J|=MEBEAIZ (MAHS0) &l et
=1 47,371,000 47,371 47,371
020233 J|=MESEZ0 (HAEN) &8I gt
=1 66,0002 66 66
02023 J|=NESH(REXSEX) S
HuUES Bty 73,000 73 73
02023 KHEHAY TH| He&on & Q| Xt Bt
=1 1 000& 1,450 1,450
O2023E XHetns SeXd T 3T ot
= 221,000& 221 221
02023 AJ|& FHAAHS HHH| 2SKA (D]
ZMESZAL) HEH L O|X} B
5,090,000& 5,090 5,090
O2023¢ J|=MEEE FHS0 SHl HdEH
oW ol Ot BHe 56,707,000 56,707 56,707
02034 HE MMEZEZ erateEs 238 X
& TH|l Meiaron 3 O XF BHe
251,000& 251 251
02023 HIZANH HE=XE OlAEl XI@ &I
Ao ol O] A Bhe 3,829,000 3,829 3,829
O2023E (Z2IH2UISEXNXAIY TH| &eE
oW ol Okt BHe 827,000 827 827
Q20233 AI|TE 2I==K S| w9
Ol X+ Bret 6,578,000& 6,578 6,578
02023 XISASIMEIA EXFAIY SHI Ol A
Bt 205,000 205 205
OQ2023EE == MY =8| OIXF BHe
2,000& 2 2
02023 DZLH9 LR Al MEX|&H| X
HAS TH| HeH&oR S OAt BHe
4,708,000& 4,708 4,708
0208 SHE UEE SEAMHIA XA
SHl ZA o Ok}t Bhe 4,000 4 4
Q20223 212t e Al AANIHl S| 0l
PRI 2,000& 2 2




M SXEHL
M NWRES(SXZ ML) (AEISX/AEIS XL
&el: 28XE (St &)
SA - ZB . 9(B) - NIRAD - BaS ol b Il & o SimE==t
02023 HEHEAN StAl SEXH &H| OIX
gre 27,000 27 27
o202 FEEA stAl SEXE THl Z&
o 9l OIXt Bt 21,416,000& 21,416 21,416
O20238 SHIAZA Feldl XI& =Hl
ZkoH 9l O X} By 483,000 483 483
02023 2J101= L=X2 SHIEXZAY &
Tl o QIR BHY 185,000 185 185
020238 Fet==4dH 28 THl N &
OIXt ehy 24,799,000 24,79 24,79
020234 HI1&= FHE0+ YA 2 0
NI 12,466,000& 12,466 12,466
020238 SERSA 2gH| A& Hldy 0
NN 1,374,000 1,374 1,374
020234 =I)traN 4E2x4E FHIEX
A ZlZoR g OIXt Bhe
15,824,000& 15,824 15,824
O203E SERIA DXl S K@ JHE
o 8! OIt BHY 203,000 203 203
020238 ALRISXISAHA 241 SH| A& 2
ESSESEUSRUE BYUR -
1,229,000 1,229 1,229
020238 A2 KIS AR 2SSO 24835t X
H EAs oy 2 0l4 gt
6,000 6 6




H & 0l & AHS B Ml A

=PSE)
(S &)
- HE - S2A(3) - NIRAY - BES 0 & ol B o HIRS2
130,376,961 124,761,953 5,615,008
= 68,528,552 68,561,959 A33,407
s 1,447,556 1,447,556 0
| 1,053,884 1,054,764 A880
= 16,926,767 16,535,214 391,553
o 42,420,202 37,162,460 5,257,742
(At 24) 72,354,051 71,446,442 907,609
= 47,090,233 47,281,060 A190,827
s 747,920 747,920 0
= 5,125,774 4,900,008 225,766
= 19,390, 124 18,517,454 872,670
FOHAANL &= 2,288,821 2,165,393 123,428
sl A 2 E= 925,093 853,593 71,500
402 QI2ERHE01 & 925,093 853,593 71,500
01 QI T2 AIE 2R (RIAMITHR) 925,093 853,593 71,500
Obtsal2 d= 2 B 925,093 853,593 71,500
-0232 |RXE+

Z & 60,000,000 60,000 20,000 40,000
OlArel Ots2l2 B 20,000,000& 20,000 0 20,000

-Zoiel I2sl2 24
Z2E 27,39%5,000& 27,3% 15,895 11,500
SEEX 3|2 2= At 86,908 41,800 45,108
401 AIEHIZL 28I 86,908 41,800 45,108
01 AlEHI 86,908 41,800 45,108

O=H SN2 2 A
Z& 86,908,000 86,908 41,800 45,108
SeEXal2 2= At 6,820 0 6,820
AEHIZL S 6,820 0 6,820
AlI&HI 6,820 0 6,820
OdoH SE=Xa2 e A
6,820,000& 6,820 0 6,820
IS XAIE Y FOUEHOYAIL &5 3,676,625 3,508,279 168,346
= 254,596 205,423 49,173
S 315,916 301,164 14,752
= 3,106,113 3,001,692 104,421
dE A 2 259,346 189,346 70,000
401 AlEHIZ 20| 70,000 40,000 30,000
01 AlIZHI 70,000 40,000 30,000
OERY 2RDYEL

Z & 50,000,000& 50,000 20,000 30,000
QI2EA=0| & 189,346 149,346 40,000
01 QI T2 AIE 2R (RAMITHE) 189,346 149,346 40,000
OZ2Y B 189,346 149,346 40,000




2A:
X XH -
o e

=aak

SN - B - SA(B) - NIRAY - BES 0 & ol B o HIRS2
—A7R ARY 9K 2%
A3 50,000,002 50,000 20,000 30,000
-l (2Te)ARY A S|
10,000, 0002 10,000 0 10,000
229wyl 2 F3| K 509,192 410,846 9,346
2 254,50 205,423 49,173
< 76,379 61,627 14,752
2 178,217 143,79 34,421
201 Yer2 | 11,000 8,162 2,838
2 5,500 4,081 1,419
= 1,650 1,204 426
= 3,850 2,857 9%
01 Al 22l 11,000 8,162 2,838
OEICTER= 11,000 8,162 2,838
~FRY U3 byl
A3 11,000,002 11,000 8, 162 2,838
2 5,500 4,081 1,419
= 1,650 1,204 426
2 3,850 2,857 9%
301 YerEFI 110,000 71,184 38,816
2 55,000 3,592 19,408
= 16,500 10,678 5,822
2 38,500 24,914 13,586
REEEEREIEREESTE]) 110,000 71,184 38,816
OY2Y Y| X2
A3 110,000,002 110,000 71,184 38,816
2 55,000 3,592 19,408
= 16,500 10,678 5,822
2 38,500 24,914 13,586
307 BI2H0IH 388,192 331,500 56,692
2 194,006 165,750 28,346
= 58,229 49,725 8,504
2 135,867 116,025 19,84
e CEEEETIEES 388,192 331,500 56,602
OFEY Yt X
A% 388, 192,000% 388, 192 31,500 56,602
2 194,006 165,750 28,346
= 58,229 49,725 8,504
2 135,867 116,025 19,84
oINS 2Y 0,718,183 10, 108,348 614,835
2 2,000,000 2,240,000 £240,000
2 13,604 13,604 0
= 3,095,884 2,884,870 211,014
= 5,608,695 4,964,874 643,821

|
5
|




2A:
X XH -
o e

=aak

S - BE - B9I(3H) - NRAY - BES il v ol H o HlDE2
LOIMEAIY =g At & SZoisd] XA 53,589 61,010 AT,421
= 5,359 6,101 NT42
ik 48,230 54,909 26,679
307 212t01 & 53,589 61,010 AT,421
s 5,359 6,101 ANTA2
= 48,230 54,909 26,679
11 ARSI S XA E X 53,589 61,010 AT,421
COIMEAAE =5 X & SZoiddl X
Z & 53,589,000& 53,589 61,010 AT,421
= 5,359 6,101 ANT42
s 48,230 54,909 6,679
=R = 2,500,000 2,800,000 A300,000
= 2,000,000 2,240,000 240,000
= 250,000 280,000 230,000
s 250,000 280,000 230,000
301 LEE2NHF 2,500,000 2,800,000 A300,000
= 2,000,000 2,240,000 240,000
s 250,000 280,000 230,000
= 250,000 280,000 230,000
01 MBI EZEGZ2(2REZTHRA) 2,500,000 2,800,000 A300,000
OAE A=A Z& 2,500,000,000& 2,500,000 2,800,000 A300,000
= 2,000,000 2,240,000 A240,000
= 250,000 280,000 230,000
= 250,000 280,000 /30,000
LOIEDIRS Mots 2,923,830 2,369,800 554,030
= 202,383 236,980 55,403
= 2,631,447 2,132,820 498,627
301 LEEHF 2,923,830 2,369,800 554,030
= 292,383 236,980 55,403
i 2,631,447 2,132,820 498,627
02 AISI 2GS (FAAS, RLTHR) 2,923,830 2,369,800 554,030
OLoIFI2% IS0 X
Z2& 2,923,830,000& 2,923,830 2,369,800 554,030
== 292,383 236,980 55,403
= 2,631,447 2,132,820 498,627
LOEIIRY AESH 4,977,800 4,608,024 369,776
= 2,488,900 2,304,012 184,888
= 2,488,900 2,304,012 184,888
301 BB F 4,977,800 4,608,024 369,776
L= 2,488,900 2,304,012 184,888
= 2,488,900 2,304,012 184,888
02 AISI 263 (FAAS, RLTHR) 4,977,800 4,608,024 369,776
CEDIQAAE LAHIE KA
&3 4,977,800,000& 4,977,800 4,608,024 369,776
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2N ds=s1
MM LOI2XSX(AIR=SX]/ ol - HAE)
&2l LoI=EXANE2Y (CH9: &S1)

3 - RA(3) - NRAY - BES Off &4 & A BlunsZ
= 2,488,900 2,304,012 184,888
s 2,488,900 2,304,012 184,888
AL SAA E2 2 99,490 102,840 23,350
S 9,949 10,284 A335
= 89,541 92,55 A3,015
99,490 102,840 A3,350
S 9,949 10,284 A335
ia 89,541 92,556 23,015
) 99,490 102,840 A3,350
d& 99,490,000 99,490 102,840 A3,350
= 9,949 10,284 A335
s 89,541 92,55 23,015
1,800 0 1,800
& 1,800 0 1,800
1,800 0 1,800
= 1,800 0 1,800
1,800 0 1,800

%

1,800,000& 1,800 0 1,800
== 1,800 0 1,800
55,670,422 55,669,422 1,000
= 44,835,637 44,835,637 0
s 734,316 734,316 0
== 1,713,974 1,713,974 0
i 8,386,49% 8,385,495 1,000
AMEI=X &E X 12,700 11,700 1,000
01 LeH2EH| 4,000 3,000 1,000
01 AtR2telbl 4,000 3,000 1,000
Oo2gsg 4,000 3,000 1,000
—-?33 FHE Z & 4,000,000 4,000 3,000 1,000
GR0t 2 Ol SXET(ME=X/ES =20 4) 24,684,812 22,543,965 2,140,847
= 8,474,605 8,450,835 23,770
s 573,192 573,192 0
J| 20,160 20,160 0
=S 6,652,657 6,526,141 126,516
s 8,964,198 6,973,637 1,990,561
20 22 = e E58E 24 15,635,544 15,513,388 122,156
= 6,236,475 6,234,675 1,800
Fas 15,000 15,000 0
= 5,381,607 5,280,387 101,220
s 4,002,462 3,983,326 19,136
36,802 33,500 3,302




SN H=SSD
HH: ARl L 0I5 XS (AESX/EF - IEUCL)
oels 20 22 o+ e EFEE X4 EER=E)
M- - SA(3) - MRAY - BES Ofl kel | & A Hlns
201 LEH29Y| 5,302 2,000 3,302
01 Al22t2|H| 5,302 2,000 3,302
Ogets2Y| 2,000 0 2,000
—-EFAIE | FNE S A
2,000,000 2,000 0 2,000
o294y 2,400 2,000 400
-2STBIAG| 5|9 HAay
FH 2,400,000& 2,400 2,000 400
o222y 902 0 902
—Agordae| 9H|(7 HZEMLUZHOE
01&) 902,000 902 0 902
SSAE HK0F X2 133,032 147,018 ~13,986
307 QI2+0|& 133,032 147,018 ~13,986
10 A SXAIEHE A S 133,032 147,018 ~13,986
OESAlE SR0F S2AHl NI 34,632 48,618 ~13,986
-de2orEs 1Y X
33 o 0 13,986 A13,986
O2lold 2g X2 (=AM XId) 18,000 14,400 3,600
= 9,000 7,200 1,800
[ 4,500 3,600 900
2 4,500 3,600 900
307 QI2+0|& 18,000 14,400 3,600
= 9,000 7,200 1,800
(= 4,500 3,600 900
2 4,500 3,600 900
10 AlBISTAIEEESYH B X 18,000 14,400 3,600
O02I01d 29 X2 (SaAM2e XAS)
A3 18,000,0002 18,000 14,400 3,600
= 9,000 7,200 1,800
(= 4,500 3,600 900
= 4,500 3,600 900
OIS ofglole 29 2,640 4,800 N2,160
[ 1,320 2,400 A1,080
= 1,320 2,400 A 1,080
307 QI2+0|& 2,640 4,800 A2,160
(= 1,320 2,400 1,080
= 1,320 2,400 A1,080
10 A EXAIEHY2HH B X 2,640 4,800 A2,160
OO0f2HAZE Of2I0IE 2% X
FH 2,640,000 2,640 4,800 N2,160
(= 1,320 2,400 A1,080
= 1,320 2,400 1,080
021018 2IXIA (=) 183,473 208,913 N25,440
[ 55,042 80,482 N25,440
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FA: dssS0
M R0t & Ots SXSA(AMSR/ES - IEL0d)
oels 20 22 o+ e EFEE X4 EER=E)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
= 128,431 128,431 0
307 2I2t01 183,473 208,913 n25,440
< 55,042 80,482 N25,440
= 128,431 128,431 0
10 AlRISTIAEEE2HIEX 183,473 208,913 N25,440
ONE0IE 2l XI&(0~2Al)
38 03 0 25,440 N25,440
[ 0 25,440 N25,440
OElold 2gHl X2 (0~2H1) 25,440 0 25,440
& 25,440 0 25,440
307 2I2t01 25,440 0 25,440
< 25,440 0 25,440
10 Al2IS XA EEE 22X 25,440 0 25,440
ONE0IE 2SI (0~2Al)
25,440,000 25,440 0 25,440
< 25,440 0 25,440
Oelold Al SI1&8 ML A 12,500 12,500 0
[ 3,760 3,760 0
= 8,740 8,740 0
402 RIZEXH20IH 12,500 12,500 0
< 3,760 3,760 0
= 8,740 8,740 0
02 QI A2 AL E R (01X THE) 12,500 12,500 0
O=Z28020ld AW SI1E HEMY
33 03 12,500 A 12,500
< 3,760 23,760
= 8,740 28,740
OO02l0lE AUSIIE (=8, Fat) HEAY
12,500,000 12,500 0 12,500
< 3,760 0 3,760
= 8,740 0 8,740
oelold etits 2&X X 20,000 0 20,000
307 2I2to1 20,000 0 20,000
04 QIZFHAIAIS E = 20,000 0 20,000
Oogold sits 2&X X
20,000,000 20,000 0 20,000
Oelold HAgsl SEdst /A 10,000 0 10,000
307 2IZtold 10,000 0 10,000
11 ARBIS A EE 10,000 0 10,000
O0gl0l&etsl Aet2dst /38
10,000,000 10,000 0 10,000
Felty 5M1 F=IHKIE 101,400 0 101,400
< 101,400 0 101,400
307 2Itold 101,400 0 101,400




FA: dssS0
M R0t & Ots SXSA(AMSR/ES - IEL0d)
oels 20 22 o+ e EFEE X4 EER=E)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
[ 101,400 101,400
1 ARRIEXIASE X 101,400 101,400
ONE0IE Sl 5H =IOt
101,400,000 101,400 0 101,400
< 101,400 0 101,400
Ols0l A28t DS =4 7,119,268 7,030,577 88,691
= 2,233,130 2,216,160 21,970
= 558,192 558,192 0
) 20,160 20,160 0
< 1,271,050 1,245,754 25,296
= 3,031,736 2,990,311 41,425
ZAOISSA X (USHISEIHEYUZ) 61,725 49,725 12,000
< 61,725 49,725 12,000
301 EtE NS 61,725 49,725 12,000
< 61,725 49,725 12,000
02 ARSI SEHS(FIANS, XLETHE) 61,725 49,725 12,000
OZAlIOls SAXR(L=SH EE3AHEYS
3& 61,725,000 61,725 49,725 12,000
[ 61,725 49,725 12,000
A ¥ ESEZ Ot NHEEEAS 100,000 80,000 20,000
< 30,000 24,000 6,000
s 70,000 56,000 14,000
301 LEIEN S 100,000 80,000 20,000
[ 30,000 24,000 6,000
= 70,000 56,000 14,000
02 MBI 2HHSFHS(HAANS, XLHE) 100,000 80,000 20,000
Ofl4 ¢ 255 0t HEd&=
Z& 100,000,000& 100,000 80,000 20,000
< 30,000 24,000 6,000
= 70,000 56,000 14,000
2SEI0ts M= XE 72,000 48,000 24,000
= 57,600 38,400 19,200
< 2,160 1,440 720
= 12,240 8,160 4,080
301 LEENZ 72,000 48,000 24,000
= 57,600 38,400 19,200
< 2,160 1,440 720
= 12,240 8,160 4,080
01 ARIE2EHSFS(RRNEERTHE) 72,000 48,000 24,000
OEs&=0ts IHE+g N
Z& 72,000,000 72,000 438,000 24,000
= 57,600 38,400 19,200
[ 2,160 1,440 720
= 12,240 8,160 4,080

_51_




H==20t
A20l W OIS 2XST(AIB=X/LS - HEL0A)
OLSOl A28t I1REY X4 #21)
SA - BB - SRAGEH) - NS - BES ol H o 2
2250ts 188 29 422,232 421,632 600
2 168,893 168,653 240
= 126,670 126,490 180
=z 126,660 26,489 180
307 212H01 422,232 421,632 600
2 168,893 168,653 240
< 126,670 126,490 180
2 126,660 26,489 180
e EEEETIEES 422,232 421,632 600
02250l 188 29
AT 422,282,002 422,232 421,632 600
2 168,893 168,653 240
< 126,670 126,490 180
2 126,660 26,489 180
OIS=TAE SAR Sa224e 25,450 25,200 250
= 2,725 12,600 125
2 12,725 12,600 125
301 Yer2FI 25,450 25,200 250
= 2,725 12,600 125
2 12,725 12,600 125
2 Al 2R EH S(HAAS, ML) 25,450 25,200 250
OOIS=TAIL BAR S2224Y
AT 25,450,002 25,450 25,200 250
< 2,725 12,600 125
2 2,725 12,600 125
OIS SXIAIE SAR MMt 7,100 6.600 500
= 7,100 6.600 500
301 YrEFEZ 7,100 6.600 500
< 7,100 6.600 500
02 Al 2R EAHS(HAAS, NLHR) 7,100 6.600 500
OOISZXAIE SAXH MM
A% 7,100,002 7,100 6.600 500
= 7,100 6,600 500
MEIZXIAE AR SaX 2242 4,700 4,800 A100
= 2,350 2,400 A50
2 2,350 2,400 A50
301 Yer2 w3 4,700 4,800 A100
= 2,350 2,400 A50
2 2,350 2,400 A50
2 Al 2R R4 S(HAAS, NLHR) 4,700 4,800 A100
OBSHEIY BAR S4X 224
2 4,700,0002 4,700 4,800 A100
S 2,350 2,400 A50
2 2,350 2,400 A50
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PN =80
3 IR0t € Ol SAS(MASK/ES - HELAHY)
el Oks0l Adet JEatd &4 (Gt H2)
SA - BB C9I(B) - HIRAY - BES ol ko o 8 o HImE2
SsdE1y otsstsgs Ad 49,316 42,110 7,206
< 24,658 21,055 3,603
z 24,658 21,055 3,603
307 2IZtol& 49,316 42,110 7,206
= 24,658 21,055 3,603
z 24,658 21,055 3,603
1 ARBISXIAIEE X 49,316 42,110 7,206
O3sdEIIy olsstsgEs N
23 49,316,000 49,316 42,110 7,206
=S 24,658 21,055 3,603
[ 24,658 21,055 3,603
NSotsEsd2I|2 29 12,458 11,992 466
308 XXM SOl 12,458 11,992 466
07 XM= 12,458 11,992 466
OXdotsE2sd2l 2 2Y
38 12,458,0002 12,458 11,992 466
NotsEs 2012 2 (QIAHHIXIH) 5,250 6,968 A1,718
308 ARISMSOIE 5,250 6,968 ~1,718
07 MA MRS = 5,250 6,968 A1,718
OXlgotsEsd=I12 29 (2 A8IXE)
33 5,250,000& 5,250 6,968 ~1,718
OlSE2SHYRI MY 53,500 38,380 15,120
z 30,704 30,704 0
= 1,152 1,152 0
= 21,644 6,524 15,120
101 2124 46,000 30,880 15,120
fas 24,704 24,704 0
< 927 927 0
z 20,369 5,249 15,120
02 JIEtXE =+ 46,000 30,880 15,120
OOtsE23dg 2@ IAHI(XHA)
15,120,0002 15,120 0 15,120
OrsE3e 500 1,000 2500
= 350 700 A350
== 23 45 N2
= 127 255 A128
301 LEEX S 500 1,000 500
= 350 700 2350
< 23 45 A2
= 127 255 A128
01 AlRI2ZH 63 (RNEERTE) 500 1,000 A500
OttsE37l & 500,000 500 1,000 2500
= 350 700 2350
< 23 45 N2

3




SN #=sED
Hm: 2R0F 2 OIS SXST(MSZN/2R - HEL01Y)
el Oks0l Adet JEatd &4 (Gt H2)
SN - B - SA(B) - NIRAY - BES 0 & ol B o HIRS2
| = 127 255 A128
SIHIIGHOISEE 29 X 248,69 248,494 200
= 99,476 99,39% 80
= 74,600 74,549 60
2 74,609 74,549 60
307 2I12H0| 248,694 248,494 200
= 99,476 99,39% 80
= 74,600 74,549 60
2 74,609 74,549 60
05 Q293 248,69% 248,494 200
Ot imsHotSEE 22 Nd
AW 248,604,008 248,694 248,494 200
= 99,476 99,39% 80
= 74,600 74,549 60
2 74,609 74,549 60
ST 10,000 6,000 4,000
= 7,000 4,200 2,800
= 450 270 180
2 2,550 1,530 1,020
301 Y2 A 10,000 6,000 4,000
2 7,000 4,200 2,800
< 450 270 180
= 2,550 1,530 1,020
01 ABIZRH46S(DEETE) 10,000 6,000 4,000
OFE0ISESH| 25 10,000,008 10,000 6,000 4,000
2 7,000 4,200 2,800
= 450 270 180
2 2,550 1,530 1,020
SIYIIGHOFSAE! Q11| Xt XI& 54,450 47.7% 6.667
= 16,338 14,338 2,000
2 38,121 33,454 4,667
307 BIRH0I A 54,450 47.7% 6.667
= 16,338 14,338 2,000
= 38, 121 33,454 4,667
05 BIRteleta 54,459 47,79 6,667
OSIYIIHOLSHE ©124b Xt X
2 54,450,008 54,450 47,79 6,667
= 16,338 14,338 2,000
2 38,121 33,454 4,667
ssELY 46,800 46,800 0
= 23,400 23,400 0
= 23,400 23,400 0
301 YRS 46,800 46,800 0




PN =80
3 IR0t € Ol SAS(MASK/ES - HELAHY)
el Oks0l Adet JEatd &4 (Gt H2)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
& 23,400 23,400 0
i 23,400 23,400 0
02 M2 RS (FAAS, NLHA) 46,800 0 46,800
O=s=s+< A= 46,800,000 46,800 0 46,800
< 23,400 0 23,400
z 23,400 0 23,400
03 At 2EH a6l (X ) 0 46,800 46,800
OJiEsss+¢ & 23 02 0 46,800 46,800
= 0 23,400 A\23,400
E 0 23,400 A\23,400
HEAAE 0120l =0IMEAE =4 1,930,000 0 1,930,000
HEAAE 0f2l0] SOINSAIE ZH(25Y) 1,900,000 0 1,900,000
401 AlZHIL 2 0HY] 1,900,000 0 1,900,000
01 Al 1,900,000 0 1,900,000
OdeAE of2lol sO0IMEAE Z8(X
o) ('8 NYLEUSIIS)
1,900,000,000& 1,900,000 0 1,900,000
HEAASE 0210l SOIMEAE ZTH(L9H) 30,000 0 30,000
401 AlZHIL 2 CHY] 30,000 0 30,000
01 Al 30,000 0 30,000
OdEAAE o2l0l =0IMEAE =d(&4
o) 30,000,000& 30,000 0 30,000
0d - I - =28t X ST(ARST/ES - HFLUY) 4,328,677 4,202,427 126,250
= 714,574 644,574 70,000
Il 1,083,724 1,034,604 A880
< 324,934 300,644 15,290
z 2,255,445 2,213,605 41,840
dgES &8 1,195,954 1,190,354 5,600
= 6,000 6,000 0
Il 622,872 623,752 1880
5 110,555 111,145 250
= 456,527 449,457 7,070
ColY EH0E s 18,400 20,000 1,600
< 5,520 6,000 A480
i 12,880 14,000 A1,120
307 2IZtol & 18,400 20,000 1,600
< 5,520 6,000 A480
z 12,880 14,000 21,120
12 QPRI = H| 18,400 20,000 21,600
Oy SH0T WS
33 18,400,000& 18,400 20,000 A1,600
= 5,520 6,000 A480
E 12,880 14,000 A1,120
Had 22 GE2 5,000 6,100 A1,100




PN =80
I 0d - OtE - U238 SX S (MSN/ES - JIIE20d)
el ¥dEs e (SH9 H2)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
2l 4,000 4,880 2880
= 500 610 A110
z 500 610 A110
301 LEtEX S 5,000 6,100 A1,100
Il 4,000 4,880 A880
& 500 610 A110
z 500 610 A110
01 AlRI2ZH 63 (RNEERTE) 5,000 6,100 A1,100
OgsHl, NS+ X
33 5,000,000& 5,000 6,100 A1,100
Il 4,000 4,880 A880
& 500 610 A110
z 500 610 A110
H4uldde 29 Xa 240,3% 232,09% 8,300
309 MES 201,4%6 193,156 8,300
01 SAH- SH3LTES 201,456 193,156 8,300
OAlZ2te| 3 MES(0gHITHIE)
38 201,456,000& 201,456 193,156 8,300
AL & C2etdel 30|18 =4 2,066,778 1,946,128 120,650
= 414,124 344,124 70,000
Il 410,852 410,852 0
< 166,814 150,934 15,880
z 1,074,988 1,040,218 34,770
Ol0I==AE 591,608 491,608 100,000
= 414,124 344,124 70,000
< 88,742 73,742 15,000
i 88,742 73,742 15,000
307 2IZtol& 591,608 491,608 100,000
= 414,124 344,124 70,000
< 88,742 73,742 15,000
= 88,742 73,742 15,000
05 2I2t?& =3 591,608 491,608 100,000
Oorol==sX& & 591,608,000 591,608 491,608 100,000
= 414,124 344,124 70,000
= 88,742 73,742 15,000
[ 88,742 73,742 15,000
IHEHE 2 (MHME) 28,000 9,000 19,000
401 AlZHIL 2 0HY] 19,000 0 19,000
01 Al 19,000 0 19,000
OJI=4E 0l& AU QIO SAt
19,000,000& 19,000 0 19,000
IIELE S S22 17,900 16,800 1,100
= 5,370 5,040 330




2N w=EsD
B 0 1S - 028 SX SA(MISX/2S - FIEL0S)
SRl ALIIWAIY U CH25DIO HEI|8 £ CERED
SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
2 12,530 11,760 770
01 YerewE 17,900 16.800 1,100
= 5,370 5,040 3%
2 12,530 11,760 770
02 Al ERE A S(HAHS, NLHR) 17,900 16.800 1,100
OJZHE BT S4224E
B 17,900,002 17,900 16,800 1,100
= 5,370 5,040 3%
2 12,530 11,760 770
IFSUE SAKH H2H S 8,950 8,400 550
= 8,950 8,400 550
301 YerEFI 8,950 8,400 550
= 8,950 8,400 550
02 AEIREEAFS(HANS, NLHE) 8,950 8,400 550
OJISHE ZAR HLM M|
2% 8,960,002 8,950 8,400 550
= 8,950 8,400 550
HOHQISNSE U =085 (MEI=X/FAASTR) 26,442,3% 26,294,352 148,042
2 12,249,140 12, 185,490 63,650
2 1,668 1,668 0
= 4,800,543 4,776,562 23,981
2 9,391,043 9,330,632 60,411
ZojI=XAL 2 X8 13,579,223 13,554, 148 25,075
2 6.761,621 6.761,621 0
= 92,315 938,461 3.854
2 5,875,287 5,854,066 21,221
ZOHOI=XIAE 2 X (63) 974,952 953,245 21,707
= 97,49 %,325 2,170
2 877,457 857,920 19,537
307 S12H01 ™ 419,952 308,245 21,707
= 41,9% 30,825 2,170
2 377,957 358,420 19,537
REENNEEEEETIEES 419,952 308,245 21,707
OFUWAHFAIE 2Y X2 (55)
A 419,92, 0002 419,952 38,245 21,707
= 41,9 30,825 2,170
2 377,957 358,420 19,537
DOHOIIFAIE SAK T L 0 224 X8 18,130 14,762 3,368
= 9,065 7,381 1,684
2 9,065 7,381 1,684
307 212H01 ™ 18,130 14,762 3,368
= 9,065 7,381 1,684
2 9,065 7,381 1,684
RN EEEEETIEES 18,130 14,762 3,368
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2A:
X XH -
o e

=aak

===
Foe=sxsd € =
U =XAIE 28 XA

=0 ES (A EX/FHLAHSKR)

SN - BE - SRA(SIH) - NIRAY - B2 0] a0t ol & o HimEE]
OZOMNQANFAIL AR & & 0t 22
=2 XA Z& 18,130,000 18,130 14,762 3,368
T 9,065 7,381 1,684
= 9,065 7,381 1,684
ZOHe Ktetse st 5,181,346 5,058,697 122,649
= 2,431,561 2,367,911 63,650
= 1,668 1,668 0
L= 547,305 527,273 20,032
i 2,200,812 2,161,845 38,967
A MEIA B2 X 150,000 178,572 N28,572
= 105,000 125,000 220,000
= 6,830 8,036 21,206
= 38,170 45,536 AT,366
301 B2 F 150,000 178,572 N28,572
= 105,000 125,000 220,000
= 6,830 8,036 21,206
= 38,170 45,536 AT,366
01 MBI EEHGIZ2(IREZTHA) 150,000 178,572 N28,572
LEMEALIA BI2X X
Z& 150,000,000 150,000 178,572 N28,572
= 105,000 125,000 220,000
s 6,830 8,036 21,206
= 38,170 45,536 AT7,366
ZOoHe! ESXAS0 FIKIA(=HI) 70,000 38,280 31,720
= 35,000 19,140 15,860
= 35,000 19,140 15,860
301 LEt2NHF 70,000 38,280 31,720
L= 35,000 19,140 15,860
i 35,000 19,140 15,860
02 AISIEZE6IZ(FAAS, RLTHR) 70,000 38,280 31,720
OZ0e! BSXAZS0 FIXS(ZHI)
Z & 70,000,000 70,000 38,280 31,720
& 35,000 19,140 15,860
= 35,000 19,140 15,860
Z0Hel & Ex01J| =2lHlE N& 22,000 15,000 7,000
301 LEBNEF 22,000 15,000 7,000
02 NBIEZEGS(HAAS, KLTHA) 22,000 15,000 7,000
O&oel 5 BxJ17] 2lHl& XA
Z2& 22,000,000& 22,000 15,000 7,000
SXRID| eldly 22 63,000 70,000 A7,000
307 QI2H0| A 63,000 70,000 A7,000
03 QIRIHEHXHE2EHIB X 63,000 70,000 A7,000
OEXJ1D| =elde 24 X&
Z & 63,000,000 63,000 70,000 A7,000




SN H=S=SD
. HOHSXNBE L =B S(ASISXI/FAHEXR)
chelr ZoHe! Krets &t (SH9 H2)
M- - SA(3) - MRAY - BES Ofl kel | & A Hlns
=S wadX™opel F2F A8 111 XY 119,501 0 119,501
=2 83,650 0 83,650
(= 5,378 0 5,378
= 30,473 0 30,473
301 LetEX2 119,501 0 119,501
= 83,650 0 83,650
(= 5,378 0 5,378
= 30,473 0 30,473
01 AlSIEZEAHZ2(ZREZMA) 119,501 0 119,501
Ozxl=Z ggdoel =2t Og 111 K&
119,501,000 119,501 0 119,501
= 83,650 0 83,650
(= 5,378 0 5,378
= 30,473 0 30,473
ROl MEHOrY X 4,415,170 4,414,852 318
= 2,926,993 2,926,993 0
(= 450,236 450, 141 %
= 1,037,941 1,037,718 223
FIE HOHFEES 28,100 27,782 318
(= 8,430 8,33 %
= 19,670 19,447 223
301 LetEE2 28,100 27,782 318
(= 8,430 8,33 %
= 19,670 19,447 223
02 A SHEH2(FHAHS, NLTHE) 28,100 27,782 318
OZ3JN& Eoel+&SE
A3 28,100,0002 28,100 27,782 318
[ 8,430 8,335 %
= 19,670 19,447 223
ol2Hyl(#H=s80) (J1EH/IIE 229,305 179,79% 49,510
= 124,776 124,776 0
(= 22,859 22,859 0
= 81,670 32,160 49,510
clEIAY|(H=ss0) 229,305 179,79% 49,510
2 124,776 124,776 0
[ 22,859 22,859 0
= 81,670 32,160 49,510
OIS SEAIIB2IAHE-AEIE) 124] 139,754 116,264 23,490
z2 93,011 93,011 0
[ 6,976 6,976 0
2 39,767 16,277 23,490
101 QIAH 124,754 101,264 23,490
= 81,011 81,011 0

_59_




2A: gEs8l
NI OlHSAH(Y=S2) (JIEHIIE
Ciel: QIER2AH|(M=ESSW) 2 HS)
M- - SA(3) - MRAY - BES | & A z
(= 6,076 6,076 0
2 37,667 14,177 23,490
03 BRH(RIHA) 2224 124,754 101,264 23,490
OOtSSErALIZRIAL Q12AH] =D+ RIS (X
Hl) 23,490,000 23,490 0 23,490
SEXNDAHEZAEIE) o124d] XL 44,591 29,571 15,020
z2 14,785 14,785 0
[ 7,393 7,393 0
2 22,413 7,393 15,020
101 QIAH 40,001 25,571 14,520
= 12,785 12,785 0
(= 6,393 6,393 0
2 20,913 6,393 14,520
03 SRH(RIHA) 2224 40,091 25,571 14,520
OOtS =X WAL Q1AH] =+ XIS (XHAI)
14,520,0002 14,520 0 14,520
304 AZLEYIS 4,500 4,000 500
z2 2,000 2,000
[ 1,000 1,000
2 1,500 1,000 500
04 BRE(2I|HL) 22X HEHI 2= S 4,500 4,000 500
OOIEEXDAHEZAELIE) 4ALHEE At
a3 500,000 500 0 500
UM DIXIFKS FHAEAL Q1A 44,960 33,960 11,000
z2 16,980 16,980 0
[ 8,490 8,490 0
= 19,490 8,490 11,000
101 QI24H| 44,960 33,960 11,000
z2 16,980 16,980 0
< 8,490 8,490 0
2 19,490 8,490 11,000
02 JIEt= 84 44,960 33,960 11,000
OMLHIES DIXIEXS HLLE AL A8
XEAI) 11,000,000 11,000 0 11,000
sy edZH(d===0) (I1EHDIE 32,650 28,400 4,250
lzdtl(dsss) 32,650 28,400 4,250
Jl2&y 32,650 28,400 4,250
201 Lete | 25,630 21,380 4,250
01 Al22t2|H| 25,630 21,380 4,250
OIEIEE=4u] 16,750 12,500 4,250
—UHAREE Z3 7,000,000& 7,000 5,000 2,000
I \=2 BEF 25,0002 %1502 A 3,750 3,000 750
-I2IE & SADI EY
X 300,0002 %203 6,000 4,500 1,500
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SN B=ss0
M WRHS(ASS2D)(ASIZX/AE =X
o9l 28NS EER-E)
SA - B SA(B) - MRAY - BES (TPNET /iE- ClImE=T]
WRES(H2SS ) (AEIZXI/AEI =X 2,305,072 66,572 2,238,500
SRS 2,305,072 66,572 2,238,500
SIS 2,305,072 66,572 2,238,500
802 BHEH2|El 2,305,072 66,572 2,238,500
01 2DExIeE2 1,172,278 62,684 1,109,504
0028 J|ES2 ALY =H| IATH Brit
386,457,000 386,457 0 386,457
023 OtS4E =H| MSRHo4 Bt
140,002 140 0 140
02023 XIHOISHIE 22 X2 (FS) 0l
Xt gt 4,0002 4 0 4
O3 XIHOISHIE o124H| X2 (FS) &
SEIOH Bt 276,000 276 0 276
02023 XIHOISHIE Q1248 X2 (FS) 0
Xt et 1,0002 1 0 1
02023 XIZOISHIE S2HAH XY =]
R4 Bt 1,260,000 1,260 0 1,260
02023 S KAOISHIE] ZIINY(S2
SHE ZIINY) 24| IR B
1,0002! 1 0 1
02023 THRIDAL 14 012 SRR 2y
TS EIOH Bt 830,000 830 0 830
O3 EX(GIE) DA 1 018 EIX=2
Bt 1,608,000 1,608 0 1,608
O3 BX (IR DAF Q121H] D RroY g
= 17,117,0002 17,117 0 17,117
O3 EX(SIE)WAF Q124H| 0K B
84,0002 84 0 84
O3 BSDXY HLMM XIS (LU WA
X2l XI9) RgRon gt
1,080,000 1,030 0 1,030
OB PN HRIMH K2 (LU DA
X2l XI®) OIRt Bt 13,0002 13 0 13
O2028E ESDEY MMM K (DAIRE
SIT) FBAIH Bt 975,000 975 0 975
O28E ESDAY MM K (DAFRE
2IZH) OIRF Bt 3,0002 3 0 3
OB FENNY HRMH N (SELS
WA SH224L) FBAH Bt
185,000 185 0 185
OANRE BSDIY HMM X (sELS
DA SH224G) 01X Bt
20,0002 20 0 20
020234 0{RI0I1T DY B4DS IATH bt
et 1,000,000 1,000 0 1,000
O3 ALOILFE X A O B
4,170,0002 4,170 0 4,170
O3 IIHYSLE DSEH Bt
60,437, 000! 60,437 0 60,437

_61_




SA: =SS0
Hu: YRS (AZSST) (ASI=X/ASI=TUE
Sl 2HAE EERE)
- HE L CRI(B)) - HIRAY - BAS 0l &t CImE==h
02023 YKL OIX BHe
167,0008! 167 167
020238 S22LIHYC 22 Ate) &Aoo
Bt 237,000 237 237
02084 22301 O R Bt 44,0002 444 444
O2023 OFE=XIWAF THH LSTH Bh
4,544,000 4,544 4,544
O3 FHANE OISSEAHIA(SYAE
) 8,073,000} 8,073 8,073
O3 CHEHEZHE 29 X (2S)
RSN Bt 50,0002} 50 50
O3 CHEHSZHE 29 X (2S)
OIXt ghet 3,0002 3 3
O3 CHEtHESHIE 21218 X (RS)
TR BhHt 75,0002 75 75
O3 CHEEHS S HIE 214 X (2S)
OIXt ghet 1,0002 1 1
OB OIELSHLQY 25| TN
o 116,0002 116 116
0084 OISESHE R 24| OIX gt
10,0002 10 10
O3 LBPSOIE 1E2 2SN =4 &
SEION Bt 10,930,000 10,930 10,930
O3 RLBSOIS 182 22X = 0
Xt ghet 45,0002} 45 45
02084 OlSLLXIAHF X SRS
o Bt 10,386,000%! 10,386 10,386
020234 OlSZLXIAAF X OIR} g
o 104,0008! 104 104
020234 SHHLIGHOISHE X bS]
o gt 6,252,000 6,252 6,252
O208E SHHIIGHOISHE X Ol Xt gt
S} 13,0008 13 13
O3 2SNAE 21| X2 (22l
WP QIAHI) =l OIX Bhe
958,0002! 958 0 958
O3 BSDAY QI24H] XIS (HOIHYS
WE QIH|) 2| A Bt
886,0002! 886 0 886
O3 BSDAY Q1248 XIS (HOIRYS
WP QIAH|) =H| OIX B
39,0002 39 0 39
02084 BSNAS MR X2 (THH RA
0I24H|) =Yl BRI Pt
8,204,000 8,204 0 8,204
008 PSS HRIMH K2 (T DA
oI24H|) 2| OIXt Bt 1,088,000 1,088 0 1,088
O2023 01210/1% N (LMR7H) 28 &
BEIOH Bt 217,000 217 0 217
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2A:
PSR
ool

s
WRES(H=S2D (MEI=SX /A=
SHXS

28t

SA - FE - SRA(Z) - HRAY - Off &4 & A HnsZ
020234 02101 X2 (50ZELTHE0I0f2!
01F) =t TR Bh 66,0002 66 66
02023 O{RI0IY SHS(=1) 2| FHI
Bt 29,984,000% 29,984 29,984
02023 01210/F =(=1) =ul 0IX ety
11,0002 11 11
O34 HHRANFAL 2Y X DB EY
it 133,515,002 133,515 33,515
O34 FORIHFAL 2 X2 OIX B
6,598, 0002 6,598 6,58
020234 HOYANZAIL BIIFHI| dg X
2 FEToH Bt 38,0002 368 388
020234 HOYINZAIL BIIFFI| dg X
2 OIXt B 3,0002! 3 3
02023 HOAHEAIL 10T, AIEE SSA
Soy| 0/X Bhet 4,002 4 4
02023 ZOHOINHFAIL JISE2 A OIXt
it 1,004,0002! 1,004 1,004
020234 FOQIUXI2I XA (LB ATI2]) &
SO Bhet 4,750,000 4,750 4,750
020234 FOQILXIZIXI A (LB ATI2]) O]
Xt org 37,0002 37 37
020234 QALK (AR RI2]) &
SO Bt 1 014,000% 1,014 1,014
020234 FORRIUXI2IXIH (AIZFHIZKI2I) Ol
e, 49,0002 49 49
020234 FojRIARI XA (SXIYR2I) &g
ok grt 1,961,002 1,961 1,961
020234 FOjRIL K2 XA (ZXILR2I) Ol
Bt 162, 0002 162 162
O34 LLTHBALIA BIRH N HHF
o Bhg 38,080,002 38,080 38,080
O3 LLTHEAHIA BI2X K@ 0IXF g
ot 589,00024 589 589
020234 H0jQl BTEXNAZ0 N DB
it 47,075,0002 47,075 47,075
020233 FoHol HEXAZ0 X 0% vret
3,676,002 3,676 3,676
02003 OOl BEBE IS0 XIE 0Kt
ot 71,0002 171 171
Q20234 FOYQl FEHRTAS O/} Bret
1,0002 1 1
0234 HOISS(IF) 20| THFY vig
549,000 549 549
OB FHOISE(JI1F) 2H| 0% Hha
313,0002 313 313
02028 ZOH4SH(XIAT) 2H| HBT gt
et 88,0002 &8 &




2A:
X XH -
(=

=aak

==
WRES(H=S20) (AISI=XI/AEI =S XY
SHXS

A - FE - SRS - MRAY - BaS 0] a0t ol H o CImE=E
02023 Zoh=LH(XH&H2l) =8| OIX+ BHe
129,000& 129 129
020233 H0ielHs =H| Ha&H Bigt
76,445,000 76,445 76,445
020233 ZHOHelAZ =4l OIA+ B
2,731,000 2,731 2,731
02023 ZOHel 2=D(0] =H| & By
990,000 990 990
02023 HOHILED(D] 28| OIX+ B
9,000& 9 9
02023 ==0IAE JIs22 2d| JS#EH
A=t 3,058,000& 3,058 3,058
020238 ==0CIAI4 JIs2Z =d| OIX+ Bty
9,000& 9 9
O2028E = MASZE0HR! JEH] & Al =
HI ZeH&to Byt 362,000 362 362
O2022EdE LRIQAAAM EF5(JIsEd) =t
Okt BHh 12,000 12 12
020283 & HI|2I|2 CCTV X K& A
=H| &l B 8,178,000& 8,178 8,178
Q20238 I |L2I|2 CCTV Xl K& ALY
=4l OIX+ Bt 1,000& 1 1
020238 E5E=0ts M2 N 34l &
SHEAHOH Bt 320,000& 320 320
O20283¢ E53=20ts AE=g X& =8| 0
A+ gHef 1,000& 1 1
0O2023F LA a0ls 24| =H| &N
gHef 4,200,000 4,200 4,200
02023 L2 H&0ts 234l =l OIX+ Bty
13,000& 13 13
O2023F L2HE X2 2HI(013) LHEH
Sla=1 1,890,000 1,890 1,890
02023 LotsSIts XJ(Ls+Y) I
JI3) HHTH Bt 1,893,000& 1,893 1,893
O2023F LAIRIE MEO0tsESH| 2H &
LHOH Bt 3,150,000& 3,150 3,150
020238 LAIRE OtsE37Hl =4l
LHOH Bt 700,000 700 700
02023 M20tSESH| =4 & gt
6,300,000& 6,300 6,300
020234 Hete o122 =H| 0IX+ Bty
1,463,000 1,463 1,463
020238 LolIXE=sSMHIA =H| Tl KoK
2 OlR+ Bt ,677,000& 29,677 29,677
020284 NAS S2L2ItE X 24| SeHE
O Bt 37,49%,000& 37,49%6 37,496
O2023F HAERR Ots2=sd| XN 34 &
SHEAHOH Bt 1,700,000 1,700 1,700




2A:
X XH -
(=

=aak

==
WRES(H=S20) (AISI=XI/AEI =S XY
SHXS

SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
OB HAHEED GRIXAAIY 20| &
SOy Hhet 1,392, 0002 1,39 0 1,392
O34 LoIAT2| U ABIHE XIRAI
SN Bt 65,521, 0002 65,521 0 65,521
O3 woIURel U AEIESE KRA Ol
e, 21,880,002 21,880 0 21,880
O3 B2Y Yol o w3y XA &
SOy Bhet 41,459,0002 41,459 0 41,459
O34 A2Y Wl 2 %2Y| X 0l
Rt g 74,0002 74 0 74
@ Al- SHISESEES 1,132,794 3,888 1,128,906
O3 OISTIZ Y| AY S RS
uhy 2,210,00024 2,210 0 2,210
O3 OI=XB 2FH| AY S OIX B
o 10,0002 10 0 110
O34 JIZAS At Thl FHT B
13,769, 0002 13,769 0 13,769
O3 S2UHIAAHIA SUEZ
HFroH Bt 45,0002 454 0 454
Q20234 - IASMIEITIH EBAY bhet
5,913,0002 5,913 0 5,913
020234 LIASHMEITI 0|t Bhd
22,0002 2 0 2
O3 LOISBIAKIY MY Piet
8,068,002 8,068 0 8,068
O34 LoIR2ZAXIA O/ B
33,0002 3 0 B
O2BE OIS+E TH AT Yrt
18,0002 18 0 18
O34 LoIFSHYY U EIX/AI &
SHEOH HhL 21,498,002 21,498 0 21,498
O3 LOI=X| 2 BITHPI 2 AT ALY
OIXt Bt 2,0002 2 0 2
020234 XIHOLSHE Q1218] ZIHKIH &g
o wih 5,776,0002 5,776 0 5,776
O34 XIHOLSHE Q121H] ZIHKIZ 0l
uhy 2,0002 2 0 2
O34 XHOISHE SSRA N T
o Bht 416,0002 416 0 416
020234 XIHOISHE SSRAF X Ol 8t
ot 7,0002 7 0 7
02023 XIGOISHE SIS DITAH X
2 RSTOL YhL 591,002 591 0 591
02023 XIGOISHE SIS DFAA X
2l OIR Bret 3,0002 3 0 3
02023 XIGOISHME RIS ESH X 0Kt
she 3,0002 3 0 3
O34 XIHOISHE MMl Tazroy
uhy 600, 0002 600 0 600
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2A:
X XH -
(=

=aak

2L - Z3H - SA(EH) - H2AY - HES 0ff &k2H Jl & o Hln=2
020238 ZAISZSAXK(DE) RSHEH Bt
= 29,395,000 29,39%5 29,39%
02023 ZAIOISSA XK (DE) OIX By
15,000 15 15
020238 2AI0ISSAXIR (KHA) B &tod vt
= 65,078,000 65,078 65,078
02023 AAIOLSZ AKX (XHA) OIXF BHet
18,000 18 18
020238 XS 0ISHE 29H| X (ZE) &
HI OIXb Bt 2,000 2 2
020234 KOS HIE QIAH| XIR(ZE) &
SHZHOH Bt 138,000&4 138 138
02023 XSOISHIE QIHH| XIR(ZE) &
Hl O Xt Bt 1,000 1 1
020238 XIS OtSHIE SAMAH X ZeH
ZhoH Bt 630,000 630 630
02023 E4Y XHOISHE FIIXA ZH|
OIX} Bt 1,000&4 1 1
02023 BR(GIA) WAL QIHAH| ZISHAIOH Bi
= 8,559,000& 8,559 8,559
02023 EX (1A WAL QIAH| O Xt BHef
42,000 42 42
02023 0{210|& DR HRIHAH|I(ZHI)
ZIGHRROH Bt 18,950,000 18,950 18,950
02023 K{2I01& WEY HRIMAHI(ZH])
OIX} Bt 65,000 65 65
02023 2K DA HRMSH FIHKIK(EHI)
ZIGHAROH Bt 4,970,000 4,970 4,970
020238 EWAF MLIMAH| FIIXIK(EHI)
ZIGHRROH Bt 18,0002 18 18
02023 HOIBtAL & E42R24E TST
of Byt 2,705,000 2,705 2,705
020238 HOtEtIAL S SE4224E AT
oH it 4,0002 4 4
02023 CHAIQISd QIHH| RIGHRIOH Bt
2,477,000 2,477 2,477
02023 CHAIQI2 QIH| O X+ BHet
5,000& 5 5
O2023E JIERIZE S 0{2I01R X2l ol
ZIGHAIOH Bt 1,200,000 1,200 1,200
020238 ENE2 HOHA KR (SU DA
X2 X|) ZedEkoH gt
515,000 515 515
020238 EKNE2 MM KR (SU DA
X2 X)) &k gt 7,0002 7 7
02023 ESDXA HRANA X2 (DAIE R
SUF) TIGHAIOH it 488,000 488 488
02003 ESNES MMM X2 (DAIEA
SIZL) Ol Xt Bhet 2,000&4 2 2
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SN B=ss0
M WRHS(ASS2D)(ASIZX/AE =X
o9l 28NS EERE))
SA - B SA(B) - MRAY - BES (TPNET /iE- ClImE=T]
OANRE BSDAY HLHH X (s=2S
DA SHE224E) HBANH By
93,0002 %3 0 %3
OB BSDIY HHH X (sELS
DA SEIRLY) T Bit
10,0002 10 0 10
02023 OfRI0IT DY 40T THFH B
= 500,000 500 0 500
O08E SENEE 02101 SAHl XY &
SHEIoH Blt 9,695,000 9,69 9,695
O3 HEDS ZAlHl X ol
Xt gt 49,0002 49 49
OB ALOILFE K A O B
1,123,000 1,123 1,123
02023 THHI DAL 14 012+ EIRNED T
TSHEIOH Bt 415,000 415 415
003 EX(SIE) DA 1E 018 EIX=2
Bt 804,000 804 0 804
O3 IIEYFLE ZBEH Bt
16,272,000 16,272 0 16,272
023 IIHYFSL 01X Bret
45,0002 45 0 45
O208E Felns S2YXY A 01X B
4,965,0002 4,965 0 4,955
O3 F2IWE NULPS2 XY TSR
Bt 8,510,000 8,510 0 8,510
O208E F2lnE UHBSE XY 0% Pt
251,008 251 0 251
02084 0{2I01X SYXIR(FH|) &sHzro
Bt 7,577,000 7,577 0 7.577
020283 012101 2YXIR(SHI) 0IXt Pr
28,0004 28 0 28
O3 SBBLIHYE 2% A FszHo
B 119,002 119 0 119
0223 ZIIHFI| XIS A DAY BHt
671,002 671 0 671
O3 FOHE OIS SEAHIA(S2IAE
) TBEH Bt 606,000 606 0 606
O3 OFSEXIMAF THH EHEH By
2,272,000 2,272 0 2,272
0028 £230{ 0K Bt 120,002 120 0 120
O84S CHEHSSHIE 22| XY (ZS)
TS EIOH Bt 25,0002 25 0 25
O3 CHEtHESHE 22 X (2S)
OI X} B 3,0002 3 0 3
O35 CHEHSSHIE 2121H] KR (ZS)
ZSHEION Bt 33,0002 B 0 3
O3 CHEEHS S HIE 214 X (2S)
OIXt Bzt 1,0002! 1 0 1




2A:
T ZH -
(=

=aak

=
S (B=SED) (AEISX/AEI=T L
&

SA-3Y - SRA(SAH) - MRAY - BES Off &4 & A HnsZ
OBY CIEHSSHH S+2948 38
ok Brt 915,000%! 915 915
O34 CIEITISSHE =202 X2 8
ok Brt 3,945,0002 3,945 3,945
O34 CHEINSSHE S22 X 0/t
dr 8,0002! 8 8
O34 CIETHSSHE 01248 FIHNE &
S O4 Bhet 7,143,000%! 7,143 7,143
020234 CHEITNSSHE 01218 ZIHNE 0l
Xt e 1,0002 1 1
O34 CIEHESHE T2 X 0IX
dr 1,002 1 1
02238 =oIYR2| +8I|2 U BAX K&
Herroy pigt 3,249, 0002 3,249 3,249
02024 CoIYRR] £8I|2 U BAK X
OIXt gt 16,0002 16 16
02023 FHOHS Wt ASXNA(IELY)
Hg Ry viet 250,00024 250 250
020234 FHOHS Wl ASXA(F2L)
OIXt Wt 2,000! 2 2
OB OISESHLR T8 T ut
o 5,0002! 5 5
OAB4 OISLEHLRY T4 TBTH |
Rt g 2,00024 2 2
O3 RES0E 1E& THl 28X &
SO Bhet 2,460, 0002 2,460 2,460
O3 RES0E 1E& THl 2EX 0
Xt ere 10,0002 10 10
02023 OFSEL XA N SH DB
o BiLt 668,00024 668 668
02023 OFSZE XA X 6l OIXt gt
o 7,0002 7 7
OB QBSOS SIEBE MY B
3,600,0002! 3,600 3,600
OB LBS0IE SISBS 0% Yt
11,0002 11 11
024 OISZXIAIE BAK S4224
He Ry pigt 4750002 475 475
O34 OISZXIAIE SAK MM &
SO Bht 00,0002 100 100
020238 SIHIIGHOISEE SYXY 2|
of TH| FBIY Bit 4,689, 0002 4,689 4,689
02023 SIHIIGHOISHE KIFIAIS SHl &
SO Bhet 12,410, 0002 12,410 12,410
02023 SHHIIGHOISEE XHHIAI SHI Ol
Xt ere 10,0002 10 10
O BEDHA 22| X (B
DES I12AH]) | OIXt gret
479,0002! 479 479
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2A: =22
N NPES(H=2S=2D)(ASI2X/ASI =X
=9 =84S (Er9): @)
SA - Z3H . A2(3H) - NIRAIY - BE2 0ff &k2H Il & A Huns2
0203 BSWAS 0IHH| XA (LoIHSS
WA 0IAH|) TH| ESHEH Bt
444,000 444 444
O3 ESWEL 0IHH| X (HotEgs
WES 012AH|) TH| OIXF BHet
20,0002 20 20
02023 BESDES MM KIS (CHH DA
OIAH|) TH| EBHEIOH Bt
4,102,000 4,102 4,102
0203 BSWRL HRME KA (CHHM DA
oI2AH|) THI OIXF BHet 544,0002 544 544
02023 (2I01& X (LHDH) SHl &
SHRFOH BiLY 109,000 109 109
02023 O{2I01& X (sHEATE IR
01X) CHI RSHRIOH By 33,0002 3 3
020234 {2I0|1& &=(21) CH| ZaaroH
By 14,992,000 14,99 14,992
02023 ZZE 0{2I01% SYH|(HEAIL)
CH| REHArH B 13,156,000 13,156 13,156
02023 ZZE 012101 2| (KSHAIS)
CH| OXF Bt 33,0002 3 3
02023 ZZE 0RI01% 2 sHEBHAL
o) CH| ZsHEoH BHLt 20, 145,000 20,145 20,145
O3 228 ORI0|E 2HSASHEEAL
o) TH| OIXF BHt 91,000& 91 91
02023 Z2E 02101% QIHH|(FBHAFL)
CH| RSHArOH Big 3,050,000 3,050 3,050
02023 ZZE 0{RI101X QIAH|(KBHAIR)
TH| OXt B 15,0002 15 15
0203 ZIITE BSHAEE Y| XA
TH| OIX B 7,000 7 7
02023E Al SOISSIXIHEl 2 (K SHAL
o) 20NS TH| 0|X
9,000 9 9
02023 A2 SOISSXIHE S0IXSA
HHXI (MEAL]) SH| OIXt Bret
10,0002 10 10
O34 A2 SOISSRHE Ieoreg
X2AEe BiXl SHI OIXF BHe
7,000 7 7
02023 HNESOIES DAL 24 25t n
£ TH| OIX B 2,000 2 2
02023 OHIOIEE 021018 29 TH| &3
ZtoH Byt 38,040,0002 38,040 38,040
020234 OMIOIEE 0{2I01% 29 SHI OIXt
= 26,0002 26 %6
02023 OF2FARE 0RI01R 2 TH| &
ZtoH Bt 2,600,000 2,600 2,600
02023 OF2FI&FE 021012 2 SHI OIXt
By 16,0002 16 16

_69_




2A: S2s2])
Hx: RES(H2S2D) (ABISX /A= X6t
Sl 2HAE CER-E)
A -3 - A4A(3H) - MRAY - BES Of] koK J| M oA Hpnsz
O2023E ZONQIHTAIA 29 |2 ZsHxroH
Bt 8,584,000 8,584 8,584
O2023E ZHOHQIHTAIA 2 X2 OIXF Bt
425,000 425 425
O2023E ZONQIHFAIA ZIIEHFD| et X
2l TIBHAIOH Bt 48,0004 48 8
02023 ZOHQIHZTAIL ZIIFEAD| g X
2 OIXt BHet 1,000& 1 1
Q2023 ZHOHQIHZTAIA |oT, Al S=2AIY
29| 0|X Bt 1,000 1 1
020238 ZONIHFAIE JIS22 Al O
= 1,004,000 1,004 1,004
Q2023 ZHOHQIZXIAIA AAX KR (4S) &
SHEOH Bt 2,686,000 2,686 2,686
Q2023 ZHOHQIZXIAIA AUAX KR (4F) Ol
Xt Bryt 40,0002 40 4
020238 ZOHQIZXAIE 2 X (6E) A&
RioH Bt 12,154,0002 12,154 12,154
Q2023 ZHOHCIZXAIA 29 XIR(6S) OIA
et 155,000 155 155
Q20238 ZHOHQIHZTAIA ZAMAH G1& L OF2t
D24C X AR By
4,0002 4 4
O2023 ZONQIHZAIA ZAMK G1& L 02t
22 K& 0l Bte 9,000 9 9
02023 ZOQIEATHEIAIL 29 XIS TEH
ZhoH Bt 1,687,000 1,687 1,687
O2023 ZHOHQIXIATHEAIL 2 X Ol
Bt 6,000 6 6
Q2023 ZHOHQIZIATHEIAIA QAR KIS (4F
) EISHZIOH Bt 1,232,000 1,232 1,232
02023 ZONQIZATHEIAIL UAR} KR (4F
) OIXt gHt 5,000& 5 5
Q2023 ZHOHQIXIATHEAIL 2 X (7TE)
ZIBHRHOH Bt 225,000 225 225
020238 ZOHQIXATHEAIL 2" XI(7TE)
Ol X+ Bt 2,000 2 2
Q2023 ZHOHQIXIATHEIA| A S A ZHOHO! T
Sl K9 ZEEon st 9%,000& % %
O2023E ZHOHQIXIATHEIAI L SIEHOHO! T
3l4g XY Ol BHet 1,000& 1 1
020238 ZONQIEATHEIAIL EALA H M
S| Ol Kb gret 1,000& 1 1
02023 ZOHQ! BHOAIA D& XIRHE 29
ZISHRrOH B 185,000 185 185
O2023 ZOHQ! BOIAIM JI&=XRHE 29
Ol Kt Bt 4,000& 4 4
O2023E RN BHOJAlA SEZAIRY 29
ElsHRroH B 4,548,000 4,548 4,548
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2A:
PSR
ool

A - B - S2A(3H) - HRALY = Oi &F2H N3 A Hlunsz
02023 ZOHe! HOAlE SEHIARE 29
OIXt BHef 2,000& 2 2
020238 TNl HX| AEH MapAH S &
o Bhyg 387,000& 387 387
02023 HoJAlE AX| AE M==ZAt Ol Kt
gret 3,000 3 3
O3 ZojoIxie X (Lerexiz)) &
SHRFOH Dbt 713,000 713 713
02023 ZOfCIL X2 XI& (L& Rtel) Ol
A+ gre 6,000 6 6
02023 ZOoHI LRl KA (AL Rel) &
SHRFOH Ohit 152,000%J 152 152
02023 ZOoflUXtel XI& (AlZERIZ Xt2l) ol
A+ gHef 8,000& 8 8
O2023 ol LRl XA (SR LX) &
&HoR B 295,000 295 295
02023 ZOfeIL X2 XIJA (=XKL Atel) Okt
ghet 25,0003 25 25
02023 ZofelsXgite HEXNEH ItA
J:léHxl-oH gyt 5,699,000‘0\:] 5,699 5,699
020233 Hofel=Xgnte H2XNER otA
Ol R+ BhHef 14,000& 14 14
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< 635,964 635,964 0
2 2,456,479 2,321,479 135,000
SSX0l (LXK 01 4,002,098 3,867,098 135,000
=2 909,650 909,650 0
= 635,964 635,964 0
2 2,456,479 2,321,479 135,000
TADIA Z2AK 550,000 445,000 105,000
402 BIRIXHZOIH 550,000 445,000 105,000
01 BIRIXFE ALY BE (KA THE ) 550,000 445,000 105,000
OSADIA ZBSA (2 W DIBSXS)
21 550,000, 0002 550,000 445,000 105,000
ATHA LT 22AY 130,000 100,000 30,000
402 BIRIXHZO| 130,000 100,000 30,000
01 QIITHEAI 2 (LRI ) 130,000 100,000 30,000
OZIIE ZHESZ KA (S A
30,000,000 30,000 0 30,000
MRS (e - SAILLULX/MARE - DE35) 9,509,972 8,082,513 1,427,450
= 9,711 3,210 6.501
= 1,071,000 1,071,000 0
s 0,000 10,000 0
< 967,755 955,247 12,508
2 7,451,508 6,043,056 1,408,450
Xgr2ot o el 45,570 33,900 11,670
= 6,711 3,210 3,501
s 10,000 10,000 0
= 4,701 2,247 2,454
2 24,158 18,443 5,715
AB0I2 L BB (HLXIR) 11,670 0 11,670
2 3,501 0 3,501
= 2,454 0 2,454
= 5,715 0 5,715
301 Y BHZ 11,670 0 11,670
=2 3,501 0 3,501
< 2,454 0 2,454
2 5,715 0 5,715
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A AASRE
M MATNS (MY - SAIILLNE K/ ASFRE - DEF
Rl XS etE2el EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
14 JIEt2 4 11,670 0 11,670
EHStAAA EASXIR(HHEXIR)
11,670,000& 11,670 0 11,670
= 3,501 0 3,501
[ 2,454 0 2,44
= 5,715 0 5,715
4,599,075 4,436,400 162,675
= 3,000 0 3,000
= 1,071,000 1,071,000 0
< 953,400 953,000 400
= 2,571,675 2,412,400 159,275
2 (2HIEX3) 2,142,000 2,142,000 0
z 1,071,000 1,071,000 0
< 428,400 428,000 400
= 642,600 643,000 2400
2,142,000 2,142,000 0
z 1,071,000 1,071,000 0
[ 428,400 428,000 400
= 642,600 43,000 2400
= 2,142,000 2,142,000 0
LI A (ZHIEEXS)
Z3F 2,142,000,000 2,142,000 2,142,000 0
= 1,071,000 1,071,000
< 428,400 428,000 400
= 642,600 643,000 2400
NS LT (FHEOHRG A XH) 5,000 0 5,000
= 3,000 0 3,000
= 2,000 0 2,000
301 LEEES 5,000 0 5,000
= 3,000 0 3,000
= 2,000 0 2,000
14 JIEt2 4= 5,000 0 5,000
OXIGAI A ZH DT (HEIALA X
) 5,000,000& 5,000 0 5,000
= 3,000 0 3,000
= 2,000 0 2,000
XA A S LR (XEH) 157,675 0 157,675
301 LEEEZ 157,675 0 157,675
14 J|EtE &S 157,675 0 157,675
OJHEAZA S gol8dZz(=2hI)
157,675,000 157,675 0 157,675
asse 48 & 2,873,460 2,530,760 342,700
a8 NEA 1,057,360 956,660 100,700
201 LEH2 | 7,200 6,400 800




A ANZOIXIR L
HA: AARS(AY - SAILLUU X/ AMHEES - DEF})
ol AyBe 48 XA (SH9 H2)
M- - SA(3) - MRAY - BES Ol &koy N3 A Hwsz2
01 AFR2t2(HI 7,200 6,400 800
o2g4+4 1,200 400 800
- 24XV BA Y
33 1,200,000 1,200 400 800
307 2I2H0| & 385, 160 285,260 99,900
04 QIZHSHARAIH B X 19,900 0 19,900
O4atBelol & I Al #AL X2
19,900,000 19,900 0 19,900
08 OIXtEA 2 260,000 180,000 80,000
2430 D=5 JFoE U3 K= K
2A(0IX2H) a3 260,000,000 260,000 180,000 80,000
SSAA 45 NFAL(22) 42,000 0 42,000
201 LEt2Y| 42,000 0 42,000
01 At22t2IHI 42,000 0 42,000
(OFEI=IR= =] 42,000 0 42,000
-822 S X 42,000 0 42,000
ZII= 224 S5 A (ARER
3t) 22,000,000 22,000 0 22,000
AT SRAA SHMSE(UEEY)
20,000,000 20,000 0 20,000
224 B BUEHR| SHA(2L) 200,000 0 200,000
201 L2 H| 3,000 0 3,000
01 AF22t2(HI 3,000 0 3,000
Ut ZH| 1,500 0 1,500
- A F=XE X 29|
1,500,000 1,500 0 1,500
Oegsd 1,500 0 1,500
~HOMEIIRIRE B4 &g
1,500,000 1,500 0 1,500
401 Al HI L 20| 197,000 0 197,000
01 Al&HI 197,000 0 197,000
OatH BiCHHe| SHAML(ZAABR)
197,000,000 197,000 0 197,000
AZE AlE2R] 2 29 1,991,867 1,081,453 910,414
< 9,654 0 9,654
2 1,982,213 1,081,453 900,760
ANE 22l L SX28 986,509 189,070 797,439
101 QIAH 9,439 0 9,439
M IIZH22 RS2 9,439 0 9,439
Q0I5 2 9 MSAIE 2EFe 7,550 0 7,550
-J|23 9,860 x3A| 2222 %22 x4 5,207 0 5,207
-FFY
9,860 *3A| 2H+42 22 x4 047 0 947
-Ra5dY
9,860 *3A| 2+ 12 %4 119 0 119
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FA ASUXIR B
A MANS(AHY - SAILLUUX/MHEE - DS}
SR A A2 & 2E (SH9 H2)
S - BE - B9I(3H) - NRAY - BES il v ol H o CImE=E
- MEUZ BN
BE0@ *3A| 2262 2 +4H 531 0 531
= 6,781,000 +11% 746 0 746
OHENHSANE &S 3a 235 1,889 0 1,889
-JI23 9,860 *3AI 2222 2=+ 1H 1,302 0 1,302
-F5+g
9,860 *3AI 24«28+ 1H 237 0 237
— O ASOIACEH
e 9,860 x3AI 2121 30 0 30
- MUz 2
8503 *3A| 2262 2«18 133 0 133
-28= 1,700,000 *11% 187 0 187
201 Zet=Eh] 58,600 45,600 13,000
01 AlR2telHl 11,500 8,000 3,500
Oget+=24] 11,500 8,000 3,500
-ANE 2g HIS 7Y S
& & 8,500,000 8,500 5,000 3,500
2 s3234l 47,100 37,600 9,500
OAIZEHIF Al 30,900 21,400 9,500
-ANE AME=E RANEs
&dd 15,000,000 15,000 10,000 5,000
—IJHERISAE 793 W ZEAE 2l
4,500,000 4,500 0 4,500
401 AIEHIZL 20| 897,200 122,200 775,000
01 Al&€HI 897,200 122,200 775,000
OZXZAY DAUTZHE LAY
775,000,000& 775,000 0 775,000
ZAIME2 28 22l & RNES 11,914 14,114 A2,200
401 AIEHIL 20| 2,200 A2,200
01 Al&HI 2,200 A2,200
OJMERISAY HHEME=Z NSF=HE
HEEX 38 0 0 2,200 A2,200
HYEZMERZ 24 22l & |FAL(SH H=3) 373,6% 358,249 15,447
W HES 372,6% 358,249 14,447
01 SAl - SHIMHES 372,6%6 358,249 14,447
OJHdZAE e s YN ES
3 372,696,000 372,6% 358,249 14,447
404 SMHSHAZ2HES 1,000 0 1,000
01 Al - SEHAI=2HES 1,000 0 1,000
OHgZALac|sE NH2HES
1,000,000& 1,000 0 1,000
HEAIE & URSLANE 435 XE A 6,920 0 6,920
307 212+0I1& 6,920 0 6,920
04 QIZESHAAIH B R 6,920 0 6,920




A AASRE
M MATNS (MY - SAIILLNE K/ ASFRE - DEF
SR A A2 & 2E (SH9 H2)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
OSt A% SNots AT
6,920,000 6,920 0 6,920
CIXAEESANE SEA 170,000 87,500 82,500
308 XXM SOIA 170,000 87,500 82,500
13 SO [2SOHE & EAS A 170,000 87,500 82,500
OUXNEESAIE SEMY(ZHIRER)
Z3& 170,000,000 170,000 87,500 82,500
ANEBSIHIIX XA 0 9,000 29,000
307 2Ito1d 0 9,000 29,000
02 2B A HE L 0 9,000 29,000
OAMFEESIIX XM (ZHIREZ)
3& 03 0 9,000 A9,000
HEAZ STHIIIXZE KIZ A 19,308 0 19,308
< 9,654 0 9,654
= 9,64 0 9,64
307 2I2t01 ™ 19,308 0 19,308
< 9,654 0 9,654
= 9,654 0 9,654
02 LB AANHEE 19,308 0 19,308
OXSAZE MK E2E XIHAS
19,308,000 19,308 0 19,308
< 9,64 0 9,654
= 9,654 0 9,654
MY 2AZHI(AASAXIRA D) (DIEHIIE) 22,840 21,400 1,440
JlE2Zddl(Aa3X3 ) 22,840 21,400 1,440
JI23Hl 22,840 21,400 1,440
201 LEH2 | 16,240 14,800 1,440
01 At22t2l] 16,240 14,800 1,440
o=l 23 400,000&~ 122 4,800 3,360 1,440
M-S (AaZIXIRAD) (OIEHIIE 2,402,115 8,323 2,393,792
FSPNES 2,402,115 8,323 2,393,792
PSP 2,402,115 8,323 2,393,792
802 Btet=JIEt 2,402,115 8,323 2,393,792
01 2DEXIPHEZ 9,322 8,223 1,09
020238 XA 2SS LT3 (IHIAY)
=4l OIXt Bte 1,005,000 1,09 0 1,095
020234 =5HAA A 843 XA =4I
Okt BHe 4,000 4 0 4
02 Al - SHIEZ=ZBHEZ 2,392,693 0 2,392,693
02023 XSFAIZASH AT (IHIAY)
SHI OIKt gHe 10,0002 10 0 10
020238 XA 2SS LT3 (ZHIAY)
CHl &R 58 OlX et
128,547,000 128,547 0 128,547

_87_




SN AABOIKH D
BH: RS (AMBXAD) OIEHIIE
=9 =84S (EH9): ®2)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HnsZ
02023 XHAZAEH 2L <ol OlXt
et 59,0002 59 59
O2023 =BIIARIA BAE NRAY THl
OIR whet 1,0002 1 1
OEote! LPRHHRIY PEANY S| Ta T
9 O|%} BHet 2,261, 122,002 2,061,122 2,061,122
02023 HEAF QIFEE(ASIIXI™ )AL
Sl "EEY U 0IXt B
168,002 158 168
020234 MEAIZ BTN LS KR AL
Sl BT o O|Xt BrE
2,794,000 2,79 2,794
02023 MAHTSIIZ BF2 NAARI (A4
20l) THl OIX Bre 2,000 2 2




H & 0l & AHS B Ml A

0243 F=Z 2 3 Luts|H A
A 2eHHS
¥ sz ds(2sL 2 /28 0=)
el SEEs Y= ¥ 54 EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
2= 28,938,683 17,514,858 11,423,825
= 115,300 90,400 24,900
) 804,389 804,389 0
< 4,154,482 64,145 3,460,337
= 23,864,512 15,925,924 7,938,588
23z ME(SSL2R/25 =) 12,945,800 4,814,514 8,131,286
= 0 17,100 A17,100
Jl 403,490 403,490 0
< 3,609,765 204,178 3,405,587
= 8,932,545 4,189,746 4,742,799
StEES 2= ¥ |4 6,666,722 1,384,962 5,281,760
< 2,055,500 55,500 2,000,000
= 4,611,222 1,329,462 3,281,760
ANg2etd =4 427,359 424,079 3,280
201 er2 3| 38,557 957 37,600
02 S3=gHl 37,600 0 37,600
OAIEZHIS I 37,600 0 37,600
—JIEE3 A Al R X2
37,600,000 37,600 0 37,600
307 2Ito1d 383,802 423,122 N~34,320
02 2B YA HE L 113,14 109,914 3,280
O 238 2XAY 113,194 109,914 3,280
-YRE g dE & 3,694,000 3,694 12,914 29,220
-z2o € 018 SEdAE
10,000,000 10,000 0 10,000
- HM23| Jtg=stol= A 2,500,000 2,500 0 2,500
05 2IHRIE S 144,258 181,858 237,600
OJIE=EstE A 2d2el A= 144,258 181,858 237,600
—Alg2eHI8 3% 63,360,000 63,360 114,460 A51,100
- ANEZR|HA (L2 E-ASE 1EHH)
& 55,098,000 55,098 43,398 11,700
—HAH@AIRE 22)
Z& 25,800,000 25,800 24,000 1,800
=tz 29 168,325 156,045 2,280
39 &2 168,325 156,045 2,280
01 SAL- SHIYHES 158,325 156,045 2,280
OAlg2e| 3 HES (203 2)
3& 158,325,000 168,325 156,045 2,280
ARIEH 2E X3 422,821 3%,621 26,200
307 2Itold 422,821 3%,621 26,200
02 B AAHE L 327,061 300,861 26,200
OJtEs2ste Mgl 18,000 0 18,000
—OST FEST 18,000,000 18,000 0 18,000
Ootgeul 24,200 16,000 8,200
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SA: 23S
M 250 NE(SILR/250)
el SERS 2= 2 |4 (Gt H2)
A - 3 - S2A(FH) - MRAY - BES 04| &keH J 3 N Hnsz2
| -HE D120 e 8,200,000 8,200 0 8,200
S50lS3I R 2/ DL (FBAL) 5,300,000 50,000 5,250,000
= 2,000,000 0 2,000,000
2 3,300,000 50,000 3,250,000
401 AIZHIZ 2 THY] 5,300,000 50,000 5,250,000
= 2,000,000 0 2,000,000
2 3,300,000 50,000 3,250,000
01 Al&H] 4,890,000 0 4,890,000
O=23&0232 21222
4,890,000,0002 4,890,000 0 4,890,000
[ 2,000,000 0 2,000,000
2 2,890,000 0 2,890,000
02 22/l 400,000 50,000 350,000
O=23s0232 2122
2R 400,000,002 400,000 50,000 350,000
03 Al S| 10,000 0 10,000
O=sti=s2 212ee 10,000,0002 10,000 0 10,000
Xe2siols ME 6,279,078 3,429,552 2,849,5%
=2 0 17,100 A17,100
9] 403,490 403,490 0
= 1,554,265 148,678 1,405,587
2 4,321,323 2,860,284 1,461,039
2310=HAF HE L XA 61,000 39,000 22,000
201 LEre A Y| 52,000 30,000 22,000
01 Al el 52,000 30,000 22,000
oYxz 47,000 25,000 22,000
—EXHURAY BHE MXSE AR
AR 22,000,000 22,000 25,000 £3,000
~HEHE 2 M0 EEY 2E AR
25,000,000 25,000 0 25,000
401 AlEHIZL 200 5,000 5,000 0
01 AlZH] 5,000 5,000 0
ORMY QY SHE AR TA
A 0 0 5,000 25,000
OMEHE & M0l SEE AXIZAF
5,000,000 5,000 0 5,000
HEASS =T A 8,550 25,650 A17,100
=2 0 17,100 A17,100
[= 2,565 2,565 0
2 5,985 5,985 0
308 XHXISHHISOI & 8,550 25,650 A17,100
= 0 17,100 A17,100
[= 2,565 2,565 0
2 5,985 5,985 0




2A:
X XH -
o e

=aak

SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
183 SV 2SS & AE AL 8,550 25,650 217,100
O8d =atll=HA Z & 8,550,000 8,550 25,650 A17,100
= 0 17,100 A17,100
= 2,565 2,565 0
T 5,985 5,985 0
SEE30ISH(2H+2IIIE) XA 578,760 578,760 0
J| 403,490 403,490 0
= 26,290 26,290 0
[ias 148,980 148,980 0
307 212t01& 0 578,760 A578,760
J| 0 403,490 A403,490
S 0 26,290 N26,290
ia 0 148,980 148,980
02 QItESAIEE X 0 578,760 A578,760
OsgEa018d ALY 33 0d 0 578,760 A578,760
Il 0 403,490 403,490
S 0 26,290 N26,290
fia 0 148,980 148,980
308 AHXIHMSO0IA 578,760 0 578,760
Il 403,490 0 403,490
S 26,290 0 26,290
= 148,980 0 148,980
183 SISOt EAS AL S| 578,760 0 578,760

OSERS0I8H AMS(FIN2EE)

578,760,000 578,760 0 578,760
Il 403,490 0 403,490
& 26,290 0 26,290
= 148,980 0 148,980
SE0I=2 XA (HEA) 134,902 116,276 18,626
== 40,410 34,823 5,587
i 9,492 81,453 13,039
307 212t01& 134,702 116,076 18,626
= 40,410 34,823 5,587
[ias 9,292 81,253 13,039
02 QIHHAANEE X 134,702 116,076 18,626
O0l=2 X3A 2 & 134,702,000 134,702 116,076 18,626
= 40,410 34,823 5,587
s 94,292 81,253 13,039
A=2gdet2 2SI 45,200 43,200 2,000
405 AtatsE = 4,200 2,200 2,000
01 A ESFH SHI 4,200 2,200 2,000
o4l 2 1,000,000 *2CH 2,000 0 2,000
23t Al ZEAY 452,960 452,960 0
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M ZSHHSH
M 2otz e (2L 22/25H0E)
el XNYIstilzs &8 (CH9: &S1)
S - BAEH) - HRAY - BYS ol &4 ol 8 o HRE
201 LBt 49,960 49,960 0
03 A2 I 20,000 20,000 0
OHRLIE 2= =& 0 20,000 A20,000
—-HRLIE I3 g3 02 0 20,000 A20,000
OZstMHet 88 el - 2 /I35
20,000,000& 20,000 0 20,000
SAA19039 2 728,206 704,206 24,000
201 L2 308,890 306,890 2,000
01 AtR2telbl 173,890 171,890 2,000
Oget==8Hl 60,000 58,000 2,000
-S2491939 22 &3 50,000,000& 50,000 48,000 2,000
207 AR 52,000 30,000 22,000
02 MADHLH] 22,000 0 22,000
O82%1939 SH0IXl K&
22,000,000& 22,000 0 22,000
SADICIHAEH =8 L 2 (HEAIY) 2,800,000 0 2,800,000
[ 1,400,000 0 1,400,000
= 1,400,000 0 1,400,000
207 AR 22,000 0 22,000
< 11,000 0 11,000
= 11,000 0 11,000
02 MARHLHI 22,000 0 22,000
OXNSSA0ICIHLE SHOIX 2=
22,000,000 22,000 0 22,000
< 11,000 0 11,000
= 11,000 0 11,000
401 AIEHIL20HY 2,778,000 0 2,778,000
= 1,389,000 0 1,389,000
= 1,339,000 0 1,339,000
01 Al&HI 2,768,000 0 2,768,000
Ol XALA0ICIHH =4
500,000,000 500,000 0 500,000
< 500,000 0 500,000
OXNYGADICIHME =4
2,268,000,000& 2,268,000 0 2,268,000
< 834,000 0 884,000
= 1,384,000 0 1,384,000
03 A& S CHYI 10,000 0 10,000
OXNSGADICIHME =4
10,000,000& 10,000 0 10,000
= 5,000 0 5,000
= 5,000 0 5,000
IoiRa B= 4 22 (2L 22/ 23HH) 1,247,110 1,189,900 57,210
= 115,300 73,300 42,000
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A 2eHHS
M 2oRs 2 2 22 (2L 22 /23HH)
el dEEs ¥ 23 2= (SH &)
SA - ZB . 9(B) - NIRAD - BaS ol b Il & o SimE==t
[ 323,650 317,650 6,000
i 808,160 798,950 9,210
dS=23 & 23 23 1,247,110 1,189,900 57,210
= 115,300 73,300 42,000
< 323,650 317,650 6,000
s 808, 160 798,950 9,210
SEZS 2 2 FH| 355,610 352,400 3,210
201 Ler2 | 52,110 48,900 3,210
2 S5=2g4l 6,710 3,500 3,210
O8&82= € HA 710 500 210
- 23R4 AL MRS
30,0002 +7& 210 0 210
OAIEZHIS I 6,000 3,000 3,000
-=3M &0l 2= && 6,000,000 6,000 3,000 3,000
401 Al&BIL STy 303,500 303,500 0
01 AlEZHI 303,500 303,500 0
O SAt FIEAIE HESA
& 178,000,000& 178,000 200,000 £22,000
OZ2st=at dMYZ FH
3& 42,000,000 42,000 20,000 22,000
HSTHE HADIBAIE X2 A 54,000 0 54,000
= 42,000 0 42,000
< 6,000 0 6,000
= 6,000 0 6,000
402 RIZERHZ01H 54,000 0 54,000
= 42,000 0 42,000
< 6,000 0 6,000
z 6,000 0 6,000
02 QI A2 AL E R (0IHTHE) 54,000 0 54,000
O2024F MSMHZ(8HX1) HAD|BIAIL X1 AL
& 54,000,000 54,000 0 54,000
= 42,000 0 42,000
< 6,000 0 6,000
= 6,000 0 6,000
SHztel (st 2/ 2350 =) 672,000 650,000 22,000
SN Pl ES=A 672,000 650,000 22,000
et HAHAENS 422,000 400,000 22,000
207 ARl 22,000 0 22,000
01 H2ESHI 22,000 0 22,000
OMZHAEE 20 24 89
22,000,000 22,000 0 22,000
Hetd 24(23222/H=) 13,659,601 10,825,749 2,833,852
) 400,899 400,899 0
< 221,067 172,317 48,750
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2A:

EcIpS (el

M HRMY SH(2SL22/HS)
el MsSs4 EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
= 13,037,635 10,252,533 2,785,102
H=ssd 8,780,561 8,139,507 641,054
< 48,750 0 48,750
= 8,731,811 8,139,507 592,304
H=X22e 65,120 16,220 48,900
201 LBl 60,120 11,220 48,900
01 At22t2l] 31,400 4,500 26,900
o9 20,000 0 20,000
—HSAE RAEEIEH A 9
20,000,000 20,000 20,000
OZelEg%] 6,900 6,900
—orEze|BA(AE, ®I, S2D1)
5,208,000& 5,208 0 5,208
- B 2stHISHE orE2e|(R1Z Y
AIAES) 282,000 62 1,692 0 1,692
2 s5=34l 28,720 6.720 22,000
OZZ2SLHA 28,720 6.720 22,000
-dIes Z3 1,200,000« 128 14,400 6,000 8,400
-=£Q3 23 7,120,000 7,120 720 6,400
-tAez 6,000,000 6,000 0 6,000
-Stes 1,200,000 1,200 0 1,200
cUHSE g3 3,302,471 3,183,171 114,300
307 2I2t01 3,230,871 3,116,571 114,300
04 DIZHHATAIZ B & 1,046,440 932, 140 114,300
Od= % I &2 HelsXl MISAY
33 520,000,000 520,000 430,000 90,000
OHM=el stots =Hl 14,300,000 14,300 0 14,300
Odz 89 H=2 A3E
10,000,000& 10,000 0 10,000
oI M= st 613,250 578,789 34,461
307 2I2to1 613,250 578,789 34,461
02 QB AANGER 220,843 216,843 4,000
OXHREY sl && X
3& 12,000,000 12,000 8,000 4,000
03 M EHE2SHIEX 325,907 321,946 3,961
OJHEZEUMAM=E AHR= el2H|
d3 257,775,000 257,775 253,814 3,961
04 RIZFHAIAIZSE = 66,500 40,000 26,500
Od=te HHAMFUHE =X & =
& 40,000,000 40,000 20,000 20,000
OJt&EZ ZoHe! M=zl & JHal
6,500,000 6,500 0 6,500
Algze|s8g 29 & 2l 2,531,114 2,185,221 345,893
309 dE= 2,473,514 2,137,421 336,093




2A:

EcIpS (el

Hu: HSAY SH(SHLB/AK)
29 A== (el @e)
SN - BE - SA(B) - NRAY - BES 0 &t ol o CmE==T
01 BAH- BHBATEZ 2,473,514 2,137,421 33,098
ON&Z2IBH HESOHEENT)
AN 259,152,002 259, 162 247,959 1,193
ON&Z2IBY HES(BHZHSH)
2% 653,737,002 653,737 535,607 118,130
ON&22IBY HESOIBHSD)
A 173,775,008 173,775 162, 135 11,640
ON&22IBY HESOIBEESST)
24T 202,299,002 202,299 179,629 22,670
ON&ZRIBY HEZ(SPHERY
A% 14,740,0002 14,740 7,440 7,300
ON&RIBE HEZOIBOITE)
24 32,016,008 3,016 26,916 5,100
ON&22IBY HES(L0IRR)
2 19,952, 0002 19,952 16,862 3,000
ON&RIBE HES(ZZUSHEH)
A 413,995,002 413,99 356,89 57,100
ONSRIBE HES(HBSEISSTSH
E) 2% 469,226,002 469,226 380,286 88,940
ON&22IBY HESOBIITBEY)
24T 106,275,002 106,275 %,345 10,930
404 SNBLREHES 57,600 47,800 9,800
01 BA - BLRZHES 57,600 47,800 9,800
ONSRIBE MES(ZEUSHEH)
2% 16,400,002 16,400 7,600 8,800
ONg@eIze #E3(3ESHRNSY
) 2% 3,200,009 3,200 2,200 1,000
MS2l JISIAS AR 97,500 0 97,500
= 48,750 0 48,750
2 48,750 0 48,750
301 Y BHZ 97,500 0 97,500
= 48,750 0 48,750
2 48,750 0 48,750
2 A2 HEAFIZ(FAHS, L) 97,500 0 97,500
Ol JIslAS 97,500, 0002 97,500 0 97,500
= 48,750 0 48,750
2 48,750 0 48,750
HSIIBHAIE 25 (X)) 2,776,380 1,033,582 1,542,798
IZHSAIE FY| 466,380 203,582 262,798
401 AIEHIL L] 447,798 185,000 262,798
01 Al&HI 447,798 185,000 262,798
OBZHS AEZH|
23 160,000,002 160,000 60,000 100,000
OMESUSTR X2
217 60,000,002 60,000 30,000 30,000
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X XH -
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EcIpS (el

M4 S5 (23L22 /M)

el MSIIBAIE &25( H‘HI)D (SH9 H2)
SA -3 - A(3) - MISA - B85 Oi &F2H N3 Hws2Z
OXBIACMESHEH HESSAH AAIEHE
& 22,000,000 22,000 0 22,000
OJENINE SR B
105,798,000& 105,798 0 105,798
OJHEHIE AlEEH|
Z & 80,000,000& 80,000 75,000 5,000
HUMEYSIR =X SHEMIG 1,200,000 0 1,200,000
401 AIEHIZL 28I 1,200,000 0 1,200,000
01 Al&HI 1,200,000 0 1,200,000
OEAMEFIRSE =XE HEML(EXNE
AtHl) 1,200,000,000& 1,200,000 0 1,200,000
HOIEESHE A4 i 150,000 100,000 50,000
401 AIEHIZ 2018 150,000 100,000 50,000
01 AlEHI 150,000 100,000 50,000
O#lel ¥ &lstel HOIEEEH XE E=
50,000,000& 50,000 0 50,000
Ao BHiHHl St HE Y2 HS 380,000 350,000 30,000
401 AIEHIZL 28I 380,000 350,000 30,000
01 AlIEHI 380,000 350,000 30,000
O&9 Bl E2tMSHH U2 IHES
At Z & 380,000,000 380,000 350,000 30,000
MBS JRHSHH HE(EX) 1,190,000 580,000 610,000
L& it SstsHH A8 180,000 0 180,000
405 XHetE S| 180,000 0 180,000
01 ML =SFSHI 180,000 0 180,000
OXZ BHiHl 2SHSHH 2928 2
94,000,000 94,000 0 94,000
OXZ Bl EstHsHH 23017 72
86,000,000& 86,000 0 86,000
9 BHiiH| SstsHH A 430,000 0 430,000
401 AIEHIZ 2018 250,000 0 250,000
01 AlEHI 250,000 0 250,000
O&< Ol 23HHISHE HESA
250,000,000& 250,000 0 250,000
405 KHHE SH| 180,000 180,000
01 XL ESH =S| 180,000 180,000
Oger gt =e=dH 228 78
94,000,000& 94,000 0 94,000
O&9 Bl 2stHsHH 23017 7Y
86,000,000 86,000 0 86,000
SSHFAE HES> 160,000 120,000 40,000
HEHSs2 2= 160,000 120,000 40,000
401 AIEHIZ 2018 160,000 120,000 40,000
01 AlEHI 160,000 120,000 40,000




2A:

EcIpS (el

M HRMY S4(2L22/HS)
el SSHSAIE 2= EER=E)
SA - BB - SRA(3) - MRAY - BES 0l Ao ol E o timE=FT
OJtgxs2 &£l wA
40,000,000 40,000 0 40,000
HH2SZHI(2SHSF D) (OIEHIIE 31,750 24,550 7,200
Jl=2ZHI(23tH=1 31,750 24,550 7,200
Jl=&H] 31,750 24,550 7,200
201 Ler2 | 25,150 18,850 6,300
01 At2t2ltl 24,850 18,550 6,300
Oget=ZH| 22,050 18,450 3,600
—LEAIRES & 9,300,000& 9,300 5,700 3,600
O=gHl 9,000 6,300 2,700
—AIZtIZ2SR Xt OHAH
3F 750,000& 123 9,000 6,300 2,700
202 04t 3,000 2,100 900
01 =LHoi 3,000 2,100 900
OJlzge =il
ZF 50,0002 %1235 3,000 2,100 900
Heas(2std 2/ 235H0=) 382,422 10,145 372,217
FSPNES 382,422 10,145 372,277
SEXE 382,422 10,145 372,217
802 grat= DI E 382,422 10,145 372,217
01 = NExIeteE=z 197,887 7,049 190,838
020238 AXEAZ0|S2 (LE) XA =
Hl Z&ioh 2 O[Xt gt
44,058,000 44,058 0 44,058
020238 ALEAA0ISH (Z0HQ!) XA
=H| Hei&toh & OA+ gy
484,000 484 0 484
02023 MEHUSXISRHL B HHXIAY &EH
Zroh 9l Of Xt BH 7,342,0002 7,342 0 7,342
02023 MEMFXSXHAHZA!) BIXIAY O]
X+ Bt 6,000 6 0 6
02023 MEMKXISXHEOHR!) BHXIA Ol
X+ Bt 12,0002 12 0 12
O2021E BSAE E2=FHI(24]) XIZ A
SH&o gl O Xt EHe 11,897,000 11,897 0 11,897
020238 ZSHHESHHI(SUAH L)AL 2H]
Hxol gl of Xt ehe 5,625,000& 5,625 0 5,625
020238 MESAHE E+FHI(Z2H]) XA
a&oy g Ofkt ghe 22,404,000 22,404 0 22,404
O2023E HSAE LMHAIARTR=(=H]) XIJ
Ared OIRL BHe 76,0002 76 0 76
Q20238 MEAE UTHAIAE RXE4(=HI)
KZAS D Zoh g1 oAt BHe
174,000 174 0 174
o201 S¢ dey SUMSHY HEAMY
OIZt BH(2MEEEDIZ)
13,612,000& 13,612 0 13,612
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X XH -
(=

=aak

SN - BE - SA(B) - NRAY - BES 0 & ol o HIRE2
020198 £o61 MES ZOIMSHE At
ERPEIEEI ERESIE)
19,723,002 19,723 0 9,723
00108 HBE! MBS OIMSHE A A
ERPAEISIEE R ESIE)
22,482,002 22,482 0 22,482
0= MSFSDH ZHA OIX B (X
SRS AI) 1,139,0002! 1,139 0 1,139
OJtE HAS BILIAK D1 & At 0]
Rt B (X RS AI)
2% 3,287,002 3,287 3,137 150
O20178~20198 SBHTAIZAAIS 2H] 01X
Bre 3,141,000% 3,141 0 3,141
OBE SE23H018 A =H| HBEY
2 O|X Bre 38,513,002 38,513 0 38,513
@ Al- SHIEESEES 184,535 3,006 181,439
OXARS LA (OHE 23R HY) &
SZo4 9 O|Xt BH 103,807, 0002 103,807 0 103,807
020283 FSAE B2FHI(SHI) KA
Hezroy pig 6,190, 0002 6,120 0 6,120
O34 FIIE B20IE TRHE O|N B
5,002 5 0 5
020288 FIIE 020l JIBAS FHTY
OIXt Bret 12,848,002 12,848 0 12,848
O34 B - N2 25 A ZaTes
OIXt gt 3,011,002 3,011 0 3,011
O3 MESS SHT2IY SAAM X
o4 9 O|X} BHt 3,0002 3 0 3
020218 FSAE B2THI(2W1) KA
CHI BT 9 OIX Bre
4,759,000%! 4,759 0 4,759
020283 FSAE B2THI(2W1) T A
CHI ZETA U OIX B
11,202,002 1,202 0 11,202
020288 FSAE YTAIAL PE(28]) X
AN TH| 01X Bre 38,0002 3 0 c
O34 HEAE YTHAILEY ST B4 (2H)
RIZAIS CH ZaRon o 0|} Bt
87,0002 &7 0 87
O SUZSE LA X2 ©
Bl OIX: Bret 21,0002! 21 0 21
O34 SNZ2E BLFHIAY | &
sS4 9 O|X} BHt 5,965, 0002 5,965 0 5,965
020234 2T SZ Y (ZUH A b
Zgro 9 O|X} Bt 1,206, 0002 1,206 0 1,206
024 SXZ2E AS24A | &
o4 9 O|Xt B 08,0002 108 0 108
020283 MBOICINASCR X8 TH Mg
ok gt 6,809, 0002 6,809 0 6,809




M ZSHHSH
M RS (2L 2/235H0=)
& BEEXE (CH9: &S1)
SA - BE - SRI(BH) - MRAR - BaS ol &t o H o HIDS2
020238 ME0ICIHAFRCOL =4 SHl Ok
BHef 143,000 143 143
02023 SAE U&Z K& Al &Hl SR
of B, 128,000 128 128
02023 SAHE &= XA AlY ZHl OIXt gt
=1 1,000& 1 1
Q20238 AZLEAA0ISH (LB XEAY &
Bl Ze&ton & OIAF Bt
9,441,000 9,441 9,441
020233 AXZAE0|SH(Z0H!) XA
THl ZaR & OIXF gy
104,000 104 104
02023 MEHISKSRHLEH) BIXIAIY &4
o gl Of Xt EHe 3,671,000 3,671 3,671
020234 A”% 4|~3Xl5x+(0+ Al) BHXIANY &
Bl OIX+ gt 3,000& 3 3
020234 s=t 1|*3I|EIP(§OHCL|) BHXIALY &=
Bl OIXt gt 6,000 6 6
020234 *”%ﬂl%XIEXH%‘ﬂ H2H) M=
JHE AMY EH| Z &R 2 OfXt BHe
350,000 350 350
02023 MEHS X SXHEOC!) MRS At
& &Hl OIX+ Bt 1,000 1 1
020238 =sAEXZSE SHAE MG =4
AR & 0|kt BHy 9,000 % %
0202 2t AZ RN (HMENAY &
Hl &N o OIXF Bt
8,853,000& 8,853 8,853
02023 SE=E3018A AIY o HH &M
ENVPCl= 2,583,000& 2,583 2,583




H £ 0l & AF & S

Al A

02449 =F 2 3 LS| A
SA: 22
I 2y Jle &s g 2ol (2H 2 /2Y)
el 22 o (SH9 H2)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
22 19,669,369 14,674,624 4,994,745
= 216,000 216,000 0
LS 4,664,000 4,664,000 0
e 14,789,369 9,794,624 4,994,745
22 JlEt 2E & 2Ae|(2se 2 /24Y) 12,262,916 11,376,649 886,267
fas 216,000 216,000 0
< 4,608,000 4,608,000 0
= 7,438,916 6,562,649 886,267
2222 & oY 2,927,276 2,492,354 434,922
< 149,000 149,000 0
z 2,778,276 2,343,354 434,922
z4g 82 484,182 483,880 N4,698
201 Ler2aY| 110,978 111,480 2502
03 HAL= S Y] 9,378 9,880 AB02
OdY Alg =3 2U =2 22X S0
43 9,378,000 9,378 9,880 A502
406 XHaHF S| 39,804 44,000 N4,196
01 AL =S FH S 39,804 44,000 N4,19%6
OJHESA4 2Z88 M &R
3& 39,804,0002 39,804 44,000 N4,196
Atetd 2 HIAE 1,334,219 1,023,219 311,000
301 LEtEN S 920,000 620,000 300,000
4OBHEd= 900,000 600,000 300,000
OX =3l Fe(Xehd 2 HAE 28S &
=) &4 900,000,000 900,000 600,000 300,000
401 AlZHIL S CHY] 37,000 26,000 11,000
04 A2t A E Y 37,000 26,000 11,000
OXietd 2 HAE F4 YAl "I £X
23 21,000,000 21,000 10,000 11,000
oYL M & 24 (HEALY) 165,500 127,360 28,140
< 30,000 30,000 0
i 125,500 97,360 28,140
201 Ler2aY| 13,560 12,360 1,200
2 s==3tl 6,960 5,760 1,200
O332= € MAl 6,960 5,760 1,200
—2H2OHHA & OHAE 6,960 5,760 1,200
AL MRS
33 4,800,000& 4,800 3,600 1,200
401 AlZHIL 2 0HY] 131,060 105,000 26,060
< 30,000 30,000 0
z 101,060 75,000 26,060
01 Al 131,060 105,000 26,060
OZ3otlis 223 & 2F0oHHE Zy|
34d 31,060,000& 31,060 5,000 26,060
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M 2 J|E BE 2 2e|(2t /)
©elr 2AZESE L CHA (EEEE))
SA - B BR(S) - HRAY - BAS o v o H o HmS2
405 KHAHH SH 10,880 10,000 880
01 AL ESHSHI 10,880 10,000 880
O2 4 2t oA WHHE)| 2¢
830,000& 880 0 880
EIZHEA SH(HEALL) 232,375 151,895 80,480
201 L= 5,000 0 5,000
01 A2t 5,000 0 5,000
OZst2Zoll At SIEE AL
5,000,000& 5,000 0 5,000
301 LEIEEF 207,400 131,920 75,480
14 JIEt2 a3 207,400 131,920 75,480
O2stAZ &AL =HI(XHA)
&3 200,000,000 200,000 128,520 71,480
OIstAZ A 255 72
2 & 7,400,000 7,400 3,400 4,000
HE HsY 22 243 At 42,000 22,000 20,000
301 LEIEEF 20,000 0 20,000
14 J|EI2 A2 20,000 0 20,000
OJHE Al 22 243 T2OH 2H
20,000,000& 20,000 0 20,000
22T 4,376,161 4,060,635 315,526
< 1,350,000 1,350,000 0
= 3,026, 161 2,710,635 315,526
At BEE 2g2] 926,344 769,344 157,000
201 223 179,585 147,585 32,000
01 AtR2telt] 37,980 35,980 2,000
Oget=ZH] 35,480 33,480 2,000
-0l3te 2ES8 7Y
Z& 20,000,000 20,000 18,000 2,000
02 3224l 141,605 111,605 30,000
oozl 90,000 60,000 30,000
-0lete 2gacel g8l
23 15,000,000& +62 90,000 60,000 30,000
206 M=l 30,000 25,000 5,000
01 =4l 30,000 25,000 5,000
OMZHl 30,000 25,000 5,000
-0I3td 2 2l 20,000 15,000 5,000
0l =5, 22, Hlg, ZCESH
Z& 5,000,000 *43] 20,000 15,000 5,000
401 AIEHIZL 20HY 422,500 302,500 120,000
01 Al&H| 420,000 300,000 120,000
OXietd AlE Il 420,000 300,000 120,000
—Xietd Al =Xl 2tel
23 120,000,000 120,000 100,000 20,000
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A 221
SH

M HAPAZH|(Z2)(JIEH/IIE)
&t JI=Z (CH9: &S1)
SA - BE - SRI(BH) - MRAR - BaS ol &t o H o HIDS2
Oget==8Hl 17,330 14,130 3,200
—LBINRES Z& 4,800,000& 4,800 4,000 800
—ZgH & A &Y
Z & 300,000 %203] 6,000 3,600 2,400
Or==i:] Z & 800,000&4+12& 9,600 6,720 2,880
202 04l 8,856 7,056 1,800
01 2ol 6,000 4,200 1,800
OJ=2ge =aotl
Z& 50,000&+128 10 6,000 4,200 1,800
Heas (22D (OIE/JIEH 40,164 29,106 11,058
PPN 40,164 29,106 11,058
BEXE 40,164 29,106 11,058
802 Btz DI Et 40,164 29,106 11,058
02 Al - SHIEZZEHEZ 20,088 9,030 11,058
020238 ==afeld AM2ZAIR XEAMY HHl
ot Bhet 8,808,000& 8,808 0 8,808
020238 ==atellX AEZAIR KIZAIS OIXk
BHef 253,000& 253 0 253
020234 Y MALZE WKRIZ ) &
ol Bt 250,000& 250 0 250
020234 LA MAEZ= WKRIZ)2H O|Xt
BHef 8,000& 8 0 8
020233 I 2HZ=H KJAAY Z&oH B
=1 196,000 196 0 196
020234 FII2AZ =M XJAMY OIK gy
116,000 116 0 116
02023 2t OHHEX|E Al & 24 TH|
SEAY & By 1,349,000 1,349 0 1,349
02023 2+ QHHEXIE Al & IHE S CH|
SZA OIXt B 70,000 70 0 70
020238 MSet=HE=AIE 2SRE At
& OI&t Bhe 8,000& 8 0 8
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20248 =Z 2 3| LEta|H &
A s
M sEMSSHANH (sHEHLL/ = - 5F)

&t sgelsisd (SH &)
S - B - SRA(SIH) - HSAY - BYS ol &4 ol o HRE2
SHEM] 22,023,274 21,642,283 380,991

= 408,523 225,323 183,200

[ 1,632,472 1,629,642 2,830

J| 5,487,764 6,775,764 1,288,000

= 200,000 200,000 0

S 3,789,290 3,516,234 273,056

= 10,505,225 9,295,320 1,209,905

SEMSEANE (sELM/=Y - &) 9,686,944 8,668,798 1,018,146

= 263,844 112,644 151,200

[ 1,487,000 1,487,000 0

£ 200,000 200,000 0

< 2,696,628 2,488,008 208,620

[ias 5,039,472 4,381,146 658,326

sYI=XSE 5,400,464 4,968,264 432,200

= 116,100 106,500 9,600

S 2,574,321 2,368,701 205,620

s 2,710,043 2,493,063 216,980

s0RDIZAS XI3AY 405,000 0 405,000

= 202,500 0 202,500

[ias 202,500 0 202,500

301 LRtENEZF 405,000 0 405,000

= 202,500 0 202,500

s 202,500 0 202,500

02 MR 2HHSFHS(HAANS, XLHE) 405,000 0 405,000

Os0eDelAs X3

150,0002 #9000 32 405,000 0 405,000

S 202,500 0 202,500

fia 202,500 0 202,500

Od=sgol #=HLH 55,840 45,440 10,400

= 16,752 13,632 3,120

s 39,088 31,808 7,280

307 212t01& 55,840 45,440 10,400

= 16,752 13,632 3,120

s 39,088 31,808 7,280

02 QAN E X 55,840 45,440 10,400
O0&Esgel d=HIRH

&3 160,000 349 55,840 45,440 10,400

&< 16,752 13,632 3,120

= 39,088 31,808 7,280

SE KA 16,800 0 16,800

= 9,600 0 9,600

s 7,200 0 7,200

307 212t01& 16,800 0 16,800
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P sBIHL
I sELZZNE (SN 5 - S&)
el sga=sIsd (SH9 H2)
SN - BE - SRA(SIH) - NIRAY - B2 0] a0t ol & o HimEE]
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= 9,600 0 9,600
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SEMESY0E MEgssl N2 127,234 117,234 10,000
= 38,170 35,170 3,000
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T 38,170 35,170 3,000
[ 89,064 82,064 7,000
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OsEMEs20s NgEstl A&
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& 38,170 35,170 3,000
i 89,064 82,064 7,000
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= 125,000 0 125,000
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= 125,000 0 125,000
= 100,000 0 100,000
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i 100,000 0 100,000
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101 21=21b 39,310 21,209 18,101
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100,000,000 100,000 0 100,000
405 AHaHE = 117,280 117,280
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100,000,000 100,000 0 100,000
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13,680,000 13,680 0 13,680
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= 200,000 200,000 0
= 84,154 68,372 15,782
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01 2 15,000 12,500
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IESsESAXELS 326,552 266,384
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OJIBE SESAX S45IAIY
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SEFANSFHNLAY 13,000 0
= 10,400 0
2 2,600 0
307 2I2t0| & 13,000 0
= 10,400 0
z 2,600 0
02 QIHAAAILEE 13,000 0
OSEHANEFHHLXI
13,000, 0002 13,000 0
=2 10,400 0
= 2,600 0
SENSKEXIZEA 12,400 0
= 6,200 0
z 6,200 0
SENSRENZA 12,400 0
= 6,200 0
z 6,200 0
201 Yt 12,400 0
=2 6,200 0
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S - BE - B9I(3H) - NRAY - BES 0] a0t ol H o CImE=E
= 47,769 47,769 0
s 145,472 142,642 2,830
| 43,904 43,904 0
= 212,962 213,112 A150
= 939,440 906,590 32,850
TSI SE ALY 132,000 100,918 31,082
L= 36,000 36,959 A959
i 96,000 63,959 32,041
307 QI2H0| A 132,000 100,918 31,082
T 36,000 36,959 A959
i 96,000 63,959 32,041
02 QIZHALAIH 2L 132,000 100,918 31,082
ORI S EsAS I SEHALY
Z& 72,000,000 72,000 100,918 A28,918
s 36,000 36,959 2959
i 36,000 63,959 A27,959
ORI SASASOISEHAN K2 (2BIXIH)
60,000,000& 60,000 0 60,000
ELXMHSHS= 222,712 218,264 4,448
= 145,472 142,642 2,830
= 38,620 37,811 809
i 38,620 37,811 809
307 2I2+0l ™ 222,712 218,264 4,448
s 145,472 142,642 2,830
= 38,620 37,811 809
= 38,620 37,811 809
02 QIRHEAAIHE X 222,712 218,264 4,448
OE2MEH I Z2E 222,712,000& 222,712 218,264 4,448
s 145,472 142,642 2,830
= 38,620 37,811 809
= 38,620 37,811 809
sIHASeHEXA 6,912,629 8,195,629 A 1,283,000
= 1,760 1,760 0
| 5,443,860 6,731,860 A 1,288,000
& 445,587 420,587 25,000
= 1,021,422 1,041,422 220,000
SHASHIIISS 113,100 133,100 220,000
307 QI2H0| A 30,000 50,000 220,000
02 CIZHALAIH E X 30,000 50,000 220,000
O=gol erMTial 28 XA
Z & 30,000,000 30,000 50,000 220,000
Jl2d SAX=SHA 5,372,000 6,660,000 21,288,000
| 5,372,000 6,660,000 21,288,000
301 L2 Z 5,372,000 6,660,000 21,288,000
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pJ 5,372,000 6,660,000 1,288,000
14 JIE2 4= 5,872,000 6,660,000 1,288,000
OJl=d sd&=2=
3% 5,372,000,000 5,872,000 6,660,000 1,288,000
) 5,372,000 6,660,000 1,288,000
10l =X SIIH SSAH 25,000 0 25,000
< 25,000 0 25,000
402 QIEXH=0I A 25,000 0 25,000
< 25,000 0 25,000
02 RIENESASEZ(0IETHR) 25,000 0 25,000
OZJ10| =X sI1H SSAMY
25,000,000 1CH 25,000 0 25,000
[ 25,000 0 25,000
fe=acl 92,100 60, 100 32,000
= 92,100 60,100 32,000
=2l ZEN M 88,000 56,000 32,000
= 88,000 56,000 32,000
201 Ler23 | 88,000 56,000 32,000
= 88,000 56,000 32,000
01 AtR2t2l] 88,000 56,000 32,000
OZFRLS ZIEM M
3% 88,000,000 83,000 56,000 32,000
= 88,000 56,000 32,000
SERSHE 1,018,341 980,631 37,710
= 3,050 3,050 0
< 66,945 58,475 8,470
= 948,346 919,106 29,240
st 78 &4 162,709 143,209 9,500
201 er2 3| 35,800 26,300 9,500
01 AtR2telHl 27,000 18,000 9,000
O824 ZHME SS0/8H|
4,000,000 4,000 0 4,000
O82U1939 ZZ2UE SSHI) =2
2,000,000 2,000 0 2,000
Oggt==3H| 12,000 9,000 3,000
-SS&E T U AlE e
3,000,000 3,000 0 3,000
-sS42 22 IBIE(AEE HAH)
38 02 0 5,000 25,000
-SME A EES & 2 A
Z& 9,000,000& 9,000 4,000 5,000
2 s5=34l 8,800 8,300 500
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—SAH19390 ZHME 2322
500,000 500 0 500

- 11 -




AN SHEHL
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< 8,470 0 8,470
= 19,740 0 19,740
402 QIZERH201H 28,210 0 28,210
< 8,470 0 8,470
= 19,740 0 19,740
02 RIENZASEZ (01 THR) 28,210 0 28,210
OFCHA JIg & AlEIHd X2
28,210,000 28,210 0 28,210
< 8,470 0 8,470
s 19,740 0 19,740
KEIHsE BHelMA 2= 928,023 897,635 30,388
< 223,168 192,052 31,116
= 704,855 705,583 AT28
SOtEAst @ 8 satE JIEMAHA 2= 139,600 139,600 0
201 er=23| 43,600 43,600 0
01 AtR2tel] 23,600 23,600 0
Ogt==H| 23,600 20,000 3,600
—JIEMA 2ie| Z278 He
3& 23,600,000 23,600 20,000 3,600
Ozels849H] 0 3,600 23,600
—J|2daate] T2 2
38 02 0 3,600 23,600
Zgtd S ResttE stugal A 340,000 230,000 110,000
< 170,000 115,000 55,000
= 170,000 115,000 55,000
307 2IZto1 ™ 340,000 230,000 110,000
(= 170,000 115,000 55,000
s 170,000 115,000 55,000
02 LB HANHEE 340,000 230,000 110,000
O S Razd2 stnsa XA(
SHE) Z& 300,000,000& 300,000 190,000 110,000
< 150,000 95,000 55,000
= 150,000 95,000 55,000
ZFoEd M2ME) 2Y 47,000 47,000 0
201 er2 3| 6,000 6,000 0
01 AtR2t2l] 3,000 0 3,000
Oggt=2H| 3,000 0 3,000
-MNREE 2 A28 S 7Y
3,000,000 3,000 0 3,000
2 s5=4g4l 3,000 6,000 13,000
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-®Ig, 523
d& 3,000,000 3,000 6,000 23,000
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=8| S0{E BS34 AL 64,998 19,610 A54,612

= 19,499 3,883 16,384
2 46,499 83,727 £38,228
307 LI2F0IH 64,998 119,610 £54,612
= 19,499 35,883 A16,384
2 45,499 83,727 £38,228
02 QIRIAMAR B E 64,9%8 19,610 A54,612
Os8I| 50/= TS2A AL
2% 64,998, 0002 64,998 19,610 A54,612
< 19,499 3,883 A16,384
2 45,499 83,727 738,228
% OFZH 20101 POHRIY XA 0 25,000 225,000
T 0 7,500 A7,500
2 0 17,500 A17,500
307 L1201 0 25,000 225,000
& 0 7,500 A7,500
2 0 17,500 A17,500
02 QRIFMA S E 0 25,000 225,000
O J2LX 2I10| RUHXIY XA
28 03 0 25,000 225,000
= 0 7,500 AT7,500
s 0 17,500 217,500
SOIMASFADBIE A 996,000 917,000 79,000
= 110,000 110,000 0
2 886,000 807,000 79,000
SRl NI B ALY 768,000 692,000 76,000
401 AlBI L 2OH8] 768,000 692,000 76,000
01 Al&tt] 763,000 688,000 75,000
O[Z0Ia0 |43 82| 4518 DY &X
SAH(10m) A% 02 0 50,000 250,000
OsIIgAlE HEs L Sz
2% 130,000,0002 130,000 40,000 90,000
OJIBS 01x2l 1086% X B4z XA
35,000,000 3,000 0 35,000
03 A& =T 5,000 4,000 1,000
QIIBIAIA JH24 L RXIZE
21 5,000,000% 5,000 4,000 1,000
22l A ST 220,000 220,000 0
= 110,000 10,000 0
2 110,000 110,000 0
401 AIEBIZ 2 THE] 220,000 220,000 0
= 110,000 10,000 0
2 110,000 110,000 0
01 A& 220,000 220,000 0
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MM SHEMAASH SN LA/ =Y - =)
CHR: SHAMAMSIAID|BIR A (CH9: &S1)
A -3 - A4A(3H) - MRAY - BES 0ff &k2H Jl & o Hln=2
O&tet oistel 5658 Kl 242 & X2 AHL=160m)
ZH 66,000,000 66,000 64,000 2,000
< 33,000 32,000 1,000
= 33,000 32,000 1,000
OZXZH plotel 248-1HX 222 AXIZA
(L=175m) 21X 88,000,000 88,000 105,000 217,000
[= 44,000 52,500 28,500
= 44,000 52,500 28,500
Q& StAle] 242 222U BA
15,000,000 15,000 0 15,000
< 7,500 0 7,500
= 7,500 0 7,500
2T AL 22 8,000 5,000 3,000
201 LA 8,000 5,000 3,000
01 AFR2t2IH] 8,000 5,000 3,000
O gt=2H| 8,000 5,000 3,000
—SI|BAIE 2R
Z& 8,000,000 8,000 5,000 3,000
HPES(sSaLi/ s - 5&) 415,574 557 415,017
BEXE 415,574 557 415,017
[SShES 415,574 557 415,017
802 Btat 20| Et 415,574 557 415,017
01 2DEXZta= 332,008 0 332,008
02023 GAP OHEAEA KR ZIGHEOH Bt
258,000 258 0 258
02023 GAP OIS E2A KR O|XFAio Byt
23,000 23 0 23
0203 SEHESAOS AIRE S=H| &
SHAMOH Bt 1,000& 1 0 1
020BE SEHEESAOIS AIRE S=H| 0]
Xt Bt 114,000 114 0 114
O20BE SEHESA0IS B KA
o ZISHEOH Bt 1,273,000 1,273 0 1,273
020RE SEHEESA0IS B8 KIKA
o 0|t Bt 9,0002! 9 0 9
O203Ed SEHEEA0IE 2IH L AIRE D
SKI A 0| ghet 1,000 1 0 1
02023 sZ=0I8 MHIA IR DS XIAAY
ZISH RN Bt 297,000 297 0 297
02023 s=018 MHIA OHE DS XA
OIX} Bt 24,0002 24 0 24
00178 Al2ads 2N8X3 0|Aety
107,000 107 0 107
020198 JIESSZESAXSHSIAY 208
X2 0| Kt 26,693,000 26,693 0 26,693
020208 JIESSESAXNSASIAIY 208
T2 HaZer 30,693,0002 30,693 0 30,693
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SA: =AY
o YRS (SHLSMN/ s - 5E)
o9l 28NS EERE))
SA - B SA(B) - MRAY - BES (TPNET /iE- ClImE=T]
OO0 IHESsESAXN LAY 202
T2 0IXEH 32,223,000 32,223 0 32,223
O3 FSASANTR S N Dz
Bt 1,370,000 1,370 0 1,370
O3 TSHBSAXNIXE X OIX g
1,0002! 1 0 1
O3 SIIHSEEZ LA OIX P
11,0002 1 0 1
O208E J|=8 BOINEZ FBAIH Bt
161,619,0002 161,619 0 161,619
023 J|=8 BoINEZ 0| Bret
152,000 152 0 152
O3 JI28 BoNEZ HHZY THR
o4 Bt 6,656,000 6,656 0 6,656
0223 J1=28 BoAXEZ #FAY| 01X Bt
= 48,0008 48 0 8
O3 HARSNEZ AT Pt
1,423,000 1,423 0 1,423
O208E MBRSXEIZ 0|k Pz
2,0002 2 0 2
0028 RI=AX KA FSHRIH Bt
= 284,000 284 0 284
0028 RISAX KA OIR Bt
32,0002 32 0 2
O3 LIZHIZ HHBE L +2OH X
SIAS T it 60,781,0002 60,781 0 60,781
O3 2I|HHIZ NHBE L £20HF X
2AAMRS O X} B 64,0002 64 0 64
02023 EAMEH KA EBHFH Byt
1,0002! 1 0 1
02028 SR KA OIR} Bret
15,0002 15 0 15
O3 HEADR2|H| (AQAH|, ZETY
HIZH ) s Erod Bht 7,708,000 7,708 0 7,708
O HEARR2|H| (AQAH|, ZEY
HZ)O0IXt ghet 3,0002 3 0 3
O3 HEARRA2|H| (AR, ZEH
H=)0IXt ghet 37,0002 37 0 37
000 SANHXI0ISSESHAIL) 0K Bt
= 85,0008 8 0 85
02 Al - CHIEE29E2 83,566 557 83,009
020234 +2IAISFHIAIS Ol Rt
8,0002 8 0 8
O3 FEHY S 24=42 stnZal X2
At T EroN Blet 7,658,000 7,658 0 7,658
O3 TEY S 24542 stngal X2
AR OIXFEAHoH Bt 146,008 146 0 146
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M JReS(sgHiidt/=s - 55)
thel: B8XE EER=E)
SA - Z3F - SRA(E) - HRAEY = Ofl &F2H I8N Hws2
o3d et S Laestte R0t 38
Al ASEAY Heti&oh Brg
409,000& 409 409
O3 etd S Resite ER0 332
AL AIEALY Ol Xp2Ha4o Bt
3,000 3 3
020234 Ngssts A28 XZA &
SHAFOH Bt 507,000& 507 507
02023 ZII0| FOHXHYH XA Of KA
o Bt 41,000 41 41
020238 sAIE AMEIHE XA OIAEHE
34,0002 4 Rzl
O2023d dSF A NS g4t 2 53
KIZ A OIXHEHt 30,0002 30 30
o223 G0t & B8 ML X2AE Ol A
BHe 7,000 7 7
020238 +=Z2Z S N LOAIY Lol Biy
985,000 985 985
02023 +==Z 8= MLAE OIXtEHe
21,0002 21 21
Q20228 HIIHIHADIEZAI(0IR) Ol XKHgt
e 446,000 446 446
02023 s==42 FARIEAl ZAI7 29X
2 Ol Xradoy Bhy 8,000& 8 8
o223 s&=0t2 SSH AtelH 23K &
o Bht 4,381,000 4,381 4,381
02023 =sZ0t2 SSHl Aleld S XI& 0]
A+ gt 9%,000& % %
020288 sga4 & J2MS N3N JY
&hoK By 58,0002 58 58
o023 sPaa & FEMS XA OIAL
Bt 29,0002 29 29
02023 s0{Z=8le} otxate| XI3AAY &l
Zhol By 2,121,000& 2,121 2,121
02023 sO0{Ealet otaate| X2 At Ol
g 44,000 44 4
o023 Zletdsits S =AY JHE
of Byt 66,0002 66 66
o023 gletdsits 2ls SUALY Ol gt
e 64,0002 64 64
02023 &etd MHEA MW= XId
T HErH Bhy 22,817,000& 22,817 22,817
02023 &2ty MEEH Mui&edz K& 0l
X+ et 15,0002 15 15
O20238 S AESIAY OIA et
78,000 78 78
02023 sgs2elll & A8sIIH A& &
Ao Bt 1,151,000 1,151 1,151
o223 sgE2eI| & 28I X2 0
X+ et 183,000& 188 188
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02023 68 <etilol MHol=-Hl OIkt Bt
4,000& 4 4
020234 43 HolIloh HoHS+Hl & &l
gHef 10,000,000& 10,000 10,000
02023 48 HoHlloh IHoH=-Hl OIkt Bt
22,0003 22 22
02023 == HIUTHEH EASIAIY EHEHH
Sla=1 329,000 329 329
02023 == HIETHEH SHAStAFY OIKF BHe
2,000 2 2
02023 =s&2 MHEE KIRAI OIAt BH
248,000 248 248
O2023F MHENsY AF0ts ZdAY &
SHEHOH Bkt 29,0002 29 29
020238 MEEdse AFE0S ZdAY 0
A+ gret 25,000& el 25
O2023F I8z B2 2 =338 X
ALY EHEoH BHt 12,131,000 12,131 12,131
O2023F I8z JIEEx ¥ =308 X
ZAAL OIXF BHe 33,000 33 3
02023 ELINSFH KIRAL AN g
1,000& 1 1
02023 ELHEH K2 ALS OIX+ Bhe
5,000& 5 5
020235 =HCIHMTHoHEE KIJAIS EE
LHOH B, 5,640,000& 5,640 5,640
020238 =IHMTHHE S KIZ ALY OIA
gt 42,0003 42 42
02023 SARSIE S K2ALS T &
PL 1= 2,835,000& 2,835 2,835
O2023¢ SFTSE s K2 AL Ol K+ gt
=1 114,000& 114 114
020238 &0l 2K sJIH S= At
Ol R+ BHef 81,000& 81 81
020238 H R+ SSAE ALY ZA LR
gHet 6,000 6 6
020238 H R+ S=AI& A OlX+ gt
=1 12,0002 12 12
020238 2HEE H0sIt RSAEAE &
SHAFOH B 3,529,000 3,529 3,529
O2023E ZHEEE 0=t RSAEA 0
Kt 24O Bt 16,0002 16 16
O2023F ZHEE HASMAXAH 25 XIFA
& HEAH By 6,467,000& 6,467 6,467
020238 2ZEEE ASMAXAH 2= XIJA
A Ol KHEa4ol Bt 27,000& 27 27
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H & 0l & AHS B Ml A

FA FBAE ML
M RpFYHH(sHilLsN/s5Y - 5&)
ol DSESMEFIAE (SH9 H2)
A -3 - SRA(3H) - HRAE - BES Ofl &4 I3 A Husz
FAE 8,992,539 8,629,870 362,669
= 460,354 454,514 5,840
2l 325,471 312,285 13,186
= 1,000,000 1,000,000 0
< 1,060,788 1,061,936 A1,148
i 6,145,926 5,801,135 344,791
I YE=H (s LM/ =Y - sE) 7,501,212 7,360,407 140,805
= 397,854 392,014 5,840
) 325,471 312,285 13,186
s 1,000,000 1,000,000 0
< 69%6,798 696,446 352
[ 5,081,089 4,959,662 121,427
VSESMEFEAE 2,019,567 1,971,365 48,202
= 9,431 0 9,431
2l 196,188 183,002 13,186
= 346,585 345,838 747
= 1,467,363 1,442,525 24,838
FAHE I 260,600 252,100 8,500
201 ZBt2 ] 5,500 5,000 500
01 Al 2telHl 5,500 5,000 500
Ogt==H| 5,500 5,000 500
—SME0F MY & EEE, E5Y A
3&d 4,500,000 4,500 4,000 500
206 M=Hl 7,000 5,000 2,000
01 THZ2HI 7,000 5,000 2,000
FiYs 222 sSME 7Y
2,000,000& 2,000 0 2,000
307 el2+old 203,000 197,000 6,000
02 QB A HE A 203,000 197,000 6,000
O =2 S4tiial &It XA
6,000,000 6,000 0 6,000
St PFSANFA 88,775 82,547 6,228
2l 53,265 49,528 3,737
< 10,653 9,906 747
i 24,857 23,113 1,744
307 e12+old 88,775 82,547 6,228
2l 53,265 49,528 3,737
= 10,653 9,906 747
= 24,857 23,113 1,744
02 QI B A E X 88,775 82,547 6,228
OstumgAXA 3% 88,775,000 88,775 82,547 6,228
) 53,265 49,528 3,737
& 10,653 9,906 747
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2A:
X XH -
o e

=aak

APE 4}

- o ™

AR (SHUHYSL/ 5L - 5E)
SRR el

SA - BB C9I(B) - HIRAY - BES ol ko o 8 o HImE2
| = 24,857 23,113 1,744
=4 ICT B2E SHAAY 112,500 107,292 5,208
p 67,500 64,375 3,125
2 45,000 42,917 2,083
402 QIR0 N 112,500 107,292 5,208
p 67,500 64,375 3,125
2 45,000 42,917 2,083
02 BIEXHE AT EZE (OIR TR ) 112,500 107,292 5,208
OF4H ICT 828 ot 112,500 107,292 5,208
I 67,500 64,375 3,125
2 45,000 42,917 2,083
ZANBMAT| P E 188, 182 169,347 18,835
p 64,663 58,339 6,324
2 123,519 111,008 12,511
307 DIt 188, 182 169,347 18,835
p 64,663 58,339 6,324
2 123,519 111,008 12,511
(2 DIFAA AR T 188, 182 169,347 18,835
OZAZMAE MYRIX MESSH X2
23 178,568,002 176,568 158,007 18,561
p 58,856 52,669 6,187
2 17,712 105,338 12,374
OZFARMAE EX7Y X
A 11,614,0002 11,614 11,340 274
p 5,807 5,670 137
2 5,807 5,670 137
BAZY D23 AYAY 9,431 0 9,431
= 9,431 0 9,431
307 DIt 9,431 0 9,431
2 9,431 0 9,431
(2 DIFA A AT 9,431 0 9,431
OStASY T2 AIHA
9,431,002 9,431 0 9,431
2 9,431 0 9,431
UEEESE I 2,299,241 2,206,015 93,226
= 31,623 1,214 409
p 110,899 110,899 0
= 183,875 184,270 A3
2 1,642,844 1,549,632 9,212
IEL A 642,852 604,241 38,611
201 LEH2HH| 54,400 54,400 0
2224t 46,400 46,400 0
OZZ2Z 2 A 17,400 13,400 4,000
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S EAFBD
HH: SAFYASH(STHSSL/ S - SE)
SE BTSSR (chol @)
SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
—SARPABASA ®IIR
A% 17,000,002 17,000 13,000 4,000
OASRHISTYI 29,000 33,000 4,000
— bSO JIXH(AS ) SR04
21 10,000, 0002 0,000 14,000 £4,000
206 T2l 266,711 228,100 38,611
01 24| 266,711 228,100 38,611
OASE weoioz 2% 77,000,002 77,000 65,000 2,000
ONYY YASE 2% 98,000, 0002 98,000 82,000 16,000
ORYY ooz 2% 80,000, 0002 80,000 67,000 13,000
OB+ olgesal 2 1,711,002 1,711 5,700 £3,989
OINEHLHOULFA 225 7
23 10,000,002 0,000 8,400 1,600
IS 0= ALY 277,338 220,501 56,837
301 YBHHHZ 277,338 220,501 56,837
14 JIEH2 A2 277,338 220,501 56,837
O MLEE At
A% 5,0002422,8005 114,000 90,000 24,000
OZ49IN 29 A ot 0 24,000 £24,000
OBIAZI 23 BE Al
56,837, 0002 56,837 0 56,837
FH Gl S Al 8,278 79,800 5,478
2 42,639 39,900 2,739
= 6,3% 5,985 410
= 3,244 3,915 2,329
301 LB 85,278 79,800 5,478
2 42,639 39,900 2,739
< 6,3% 5,985 410
2 3,244 3,915 2,329
14 JIEHR A2 8,278 79,800 5,478
ORI il FEAIZH|
A% 85,278,002 8,278 79,800 5,478
2 42,639 39,900 2,739
= 6,3% 5,985 410
2 3,244 3,915 2,309
TH HEE X 8,000 15,600 A7,600
2 2,400 4,680 ~2,280
= 840 1,638 AT98
2 4,760 9,28 ~4,522
301 LBHRPHD 8,000 15,600 7,600
2 2,400 4,680 £2,280
= 840 1,638 AT98
2 4,760 9,28 4,522
14 JIEH2 A2 8,000 16,600 A7,600
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S EAFBD
Hu: SAAVASL (ST 5 - S&)
SC RV I ESP[E RTEPE.! (crel: g)
A - BE - SR (IH) - HIRAY - BES 0] a0t /IR HlRE2
SEVERETIEE
2% 8,000,002 8,000 15,600 AT7,600
2 2,400 4,680 £2,280
= 840 1,638 A798
2 4,760 9,28 £4,52
BOAZ KL S X 18,370 18,470 A100
2 9,185 9,23 A50
= 1,378 1,385 A7
2 7,807 7,850 A3
301 Y BFHZ 18,370 18,470 A 100
2 9,185 9,23 A50
= 1,378 1,385 A7
2 7,807 7,850 A3
14 JIEH2 A3 18,370 18,470 A100
OBIA! MLt S NB(L ARDEIH &
= Alztl) A% 18,370,002 18,370 18,470 A100
2 9,185 9,23 A50
= 1,378 1,385 AT
2 7,807 7,850 A3
4 2S23 S olYu X 2,750 2,750 0
= 825 825 0
2 1,925 1,925 0
301 YBH2FEZ 0 2,750 £2,750
= 0 825 £825
2 0 1,925 ~1,925
14 JIEH2 A3 0 2,750 £2,750
O£ BE2I5 oigwal N2
& 03 0 2,750 A2,750
= 0 825 £825
2 0 1,925 A1,925
307 212H01 2,750 0 2,750
= 825 0 825
2 1,925 0 1,925
VREVOVSEES 2,750 0 2,750
O£ BE2IZ oigeal N2
2,750,002 2,750 0 2,750
= 825 0 825
2 1,925 0 1,925
SSESRASUTAY 3,182,404 3,183,027 £623
= 26,800 30,800 £4,000
p 18,384 18,384 0
s 1,000,000 1,000,000 0
= 166,338 166,338 0
2 1,970,882 1,967,506 3.377
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SN EAE
M SAZYASH(STHSSL/ S - SE)
el S2ESEMSOIFAY (chol @)
SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
SSEs22IAY(TH) 50,130 45,330 4,800
201 LBt2SY| 3,520 3,720 1,800
01 AR 22lt] 27,520 25,720 1,800
ogwragH| 25,320 23,520 1,800
~S295 222 NH
23 5,000,000 5,000 3,200 1,800
RS 8,000 5,000 3,000
14 JIEH2 A2 8,000 5,000 3,000
SIlse 12 U
A 50,0002+ 165 8,000 5,000 3,000
S EEEENINEET 2,530,000 2,530,423 ~423
= 1,000,000 1,000,000 0
2 1,530,000 1,530,423 ~423
401 Al&HI K S CHE] 2,530,000 2,530,423 423
s 1,000,000 1,000,000 0
2 1,530,000 1,530,423 N4
01 Al 2,495,000 2,492,423 2,577
ORIISSESHE ASLHY)
2% 255,000,0002! 255,000 230,000 25,000
OMaHZeE It 2% 20,000, 0002 20,000 42,423 N22,423
03 Al& = Tt 0 3,000 3,000
2X HE 212 2% 02 0 3,000 3,000
O EERECERENE 9,600 7,600 2,000
201 LBr2AY| 8,000 6,000 2,000
01 ALR22lt] 8,000 6,000 2,000
ogsr=gH| 8,000 6,000 2,000
-fJlE2 22018 )
2% 8,000,000%! 8,000 6,000 2,000
S50 24Y N 0 7,000 A7,000
2 0 4,000 4,000
= 0 3,000 £3,000
301 YBHEFZ 0 7,000 A7,000
2 0 4,000 4,000
2 0 3,000 £3,000
14 JIEH2 A2 0 7,000 A7,000
OSS=NSN 28y X
A ot 0 7,000 AT7,000
=2 0 4,000 4,000
2 0 3,000 3,000
MOHEE - SH (Y M - 2F) 480,417 453,417 27,000
= 145,750 147,250 A1,500
2 334,667 306, 167 28,500
ENEY HH U 28Y - SERS 480,417 453,417 27,000
< 145,750 147,250 A1,500




FA B
3 Yol - 2E(SF/YotE - +2)
Chel: S4AEE e & 288 - +EES (SH &)
SA - Z3F - SRA(E) - HRAEY = Ofl &F2H I8N Hws2
= 334,667 306, 167 28,500
Shtetg 2l 176,917 146,917 30,000
402 RIZERHZ01H 30,000 0 30,000
01 RIEN S A E X (XHMITHR) 30,000 0 30,000
O=42E MelZHl XA (EH)
30,000,000 30,000 0 30,000
IIEER =428 X 5,000 8,000 23,000
< 2,500 4,000 A1,500
= 2,500 4,000 21,500
307 2Itold 5,000 8,000 23,000
< 2,500 4,000 21,500
= 2,500 4,000 21,500
02 2IZHBYAIAE & 5,000 8,000 23,000
OI=EER =H2EH| NJAAY
&& 5,000,000 5,000 8,000 23,000
< 2,500 4,000 21,500
= 2,500 4,000 21,500
HY2AZH(FAEAD) (DIEH/DIE 34,7% 33,296 1,500
=&l 34,7% 33,2% 1,500
JI=2&Hl 34,7% 33,2% 1,500
202 Ot 6,456 4,956 1,500
1 2 3,600 2,100 1,500
OJl2ge &0l
& 60,0004 *12& 5L 3,600 2,100 1,500
WReS(SM4FAY) (sElldrt/ =Y - &) 193,364 0 193,364
SHEXE 193,364 0 193,364
BEXE 193,364 0 193,364
802 grat=JIE 193,364 0 193,364
01 =Ex3etE=a 104,994 0 104,994
020288 S=SLHAYZ0F =Hl 2XTAE &
SHAFOH Bt 55,168,000 55,168 0 55,168
020238 StHRKFSANZ A MU AN Bt
& 40,147,000 40,147 0 40,147
020238 SIUSOHME AZAIY D&kl
1,155,000& 1,155 0 1,155
02023 =ALZMAD|BHEE (AF el K] HIZE
284, SNHFY XJAY) T gy
231,000& 231 0 231
020238 AT Z201JF MEM AMY &y i
& 1,320,000 1,320 0 1,320
02023 AT Z2010F HEM A OIXH BHy
17,0002 17 0 17
020238 SOESERIA(ZE)AIY HeHTH
ghe 379,000 379 0 379
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H & 0l & AHS B Ml A

0243 =& 2 3 LEtSIH &l

SRS &% NS s ra/ U - ME)
Eelr AFEARES EER=E)
A BE - HA(BIAH) - ARANY - BES Off &4 I8N BlunsZ
17,235,629 14,216,975 3,018,654
= 3,066,978 2,620,506 446,472
2l 238,000 238,000 0
& 2,366,829 2,232,887 133,942
z 11,563,822 9,125,582 2,438,240
s sl b/ 5,762,649 5,400,111 362,538
= 863,409 863,409 0
Jl 238,000 238,000 0
L= 722,767 722,767 0
= 3,938,473 3,575,935 362,538
= DN BN 1,724,613 1,481,113 243,500
= 570,813 570,813 0
< 172,007 172,007 0
= 91,793 738,293 243,500
At (ZHl) 52,650 50,450 2,200
307 e12+old 15,400 13,200 2,200
1 AMISETAMLER 15,400 13,200 2,200
Oaldor 417 Fot=s X
38 10,0002 %1408 15,400 13,200 2,200
42 =H A+ MA 492,800 252,000 240,800
201 Zet=3hl 82,800 52,000 30,800
01 Al22telHl 82,800 52,000 30,800
Ogxtz 82,800 52,000 30,800
-4 =9 A8+F M o ax
3% 82,800,000 82,800 52,000 30,800
305 Hhat= S 10,000 0 10,000
01 Bia=s 10,000 0 10,000
OfIE+= XMl & 2d JI=hte iy
10,000,000& 10,000 0 10,000
401 AIEHIL 20| 400,000 200,000 200,000
01 Al&HI 400,000 200,000 200,000
Oz =8 g3 A
Z& 400,000,000 400,000 200,000 200,000
gel =4 13,620 13,120 500
201 et ] 2,000 1,500 500
01 AlR2telHl 2,000 1,500 500
Oget=2t| 2,000 1,500 500
—&EAS 2= 74
44 2,000,000 2,000 1,500 500
PN EE R 1,567,488 1,495,483 72,000
2l 238,000 238,000 0
& 83,562 83,562 0
= 1,245,926 1,173,926 72,000
S g2l (XtA) 60,000 0 60,000
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SA AE
A MY GASH s/ Y - AHE)
Rl MEASAIE EER=E)
SN - B - SA(B) - NIRAY - BES 0 & ol B o HIRS2
01 AlR2telHl 11,000 0 11,000
Odit==H| 1,000 0 1,000
-8=2= & AMRES 7Y
1,000,000& 1,000 0 1,000
ogets9l 10,000 0 10,000
-gigs 30EA EX % 29
10,000,000& 10,000 0 10,000
206 TH=HI 1,500 0 1,500
01 =8l 1,500 0 1,500
O8EE it= 3,000 *500H 1,500 0 1,500
& THOHS X (SEo 4ot/ P - &HE) 10,305,767 8,671,514 1,634,253
= 2,203,569 1,757,097 446,472
S 1,644,062 1,510,120 133,942
s 6,458,136 5,404,297 1,053,839
LEES 7,791,105 6,870,092 921,013
= 1,791,205 1,344,733 446,472
=S 1,239,493 1,105,551 133,942
i 4,760,407 4,419,808 340,599
AES Y XICHE (2H]) 892,725 864,656 28,069
201 ZBt=Ehl 183,119 155,050 28,069
01 Ar2teltl 1580, 144 133,975 16,169
Oget+=EHI 32,3% 20,975 11,419
—A=EE= A 33 25,000,000 25,000 15,000 10,000
-R8= M =8 XIS
& 510,000 510 300 210
—&EMBE AIEH]
44 2,000,000 2,000 1,000 1,000
- MEUSHH 29 2,384 2,175 209
40| Atz
38 32,0008 1238 384 175 209
Oul=H| 13,750 7,500 6,250
—&EMNGE FY 250,000 x25%H 6,250 0 6,250
o=l 0 1,500 21,500
—A=AUH 224 Sl
g8 02 0 1,500 21,500
2 =534l 32,975 21,075 11,900
Os&s= € MA 14,175 1,775 2,400
—MEXAY 29
34 1,000,0003*122 12,000 9,600 2,400
OAIZEHIF I 17,500 8,000 9,500
—MEASAL (STHES
9,500,000& 9,500 0 9,500
AURHEEE SRM(=HI) 1,883,754 1,883,754 0
= 565,004 565,094 0
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S A
M AR THOHE K (SR LA/ - AE)
ool ARES (Er9: &)
SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
2 1,318,660 1,318,660 0
401 AI&EI L S CHE] 1,883,754 1,883,754 0
= 565,004 565,004 0
2 1,318,660 1,318,660 0
01 Al 1,658,754 1,703,754 A45,000
OALRTHASY oA
A% 1,658,754,0002 1,658,754 1,708,754 A45,000
= 497 5% 511,004 A13,500
2 1,161,160 1,192,660 £31,500
o2 22l 225,000 180,000 45,000
OLLISTHASY HIZAY 22/t
A 225,000,000 225,000 180,000 45,000
= 67,500 54,000 13,500
2 157,500 126,000 31,500
AR THHCHE (ALIRTHA B 2122 (2] XIR) 892,944 0 892,944
2 446,472 0 446,472
= 133,942 0 133,942
2 312,530 0 312,530
401 AIZHIL 2B 892,944 0 892,944
= 446,472 0 446,472
= 133,942 0 133,942
2 312,530 0 312,530
01 Al 892,944 0 892,944
OALRTHASY 2 892,944,00024 892,944 0 892,944
= 446,472 0 446,472
= 133,942 0 133,942
2 312,530 0 312,530
AHHE YR (2H) 547,949 547,949 0
401 Al&HI K S CHE] 497,000 500,000 3,000
01 Al 492,000 495,000 3,000
OLLISTHESY A
2% 492,000,0002! 492,000 495,000 3,000
406 KHarE St 3,000 0 3,000
01 RHIUSEFSY| 3,000 0 3,000
OALRE 01SHEEL W)l 7Y
750,000 *4CH 3,000 0 3,000
NSRS 2,514,662 1,801,422 713,240
2 412,364 412,364 0
= 404,569 404,569 0
2 1,697,729 984,489 713,240
=2 2 184,854 181,614 3,240
201 Lst2 Y| 53,640 50,400 3,240
2 222 9,240 6,000 3,240
OXH - L8t 3,360 1,920 1,440
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SN AR
HE: AR TR (SRS L/YY - AE)
ool ARl CERED
SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
P TER =T
20,0002 +2CH+62 1,440 0 1,440
03322 % HA 5,880 4,080 1,800
-%2 a3 He3
AT 50,0002 64 2 +12% 3,000 1,200 1,800
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NER 358,607 272,53 8, 163
201 LBr2SY| 190,043 173,880 16,163
01 AlR22lH] 74,863 68,700 6,163
ogpr=gH| 13,200 8,400 4,800
~XREEE 2Y U 22
2 9,600,002 9,600 4,800 4,800
oz2lgYy| 3,563 31,200 1,363
~XhRsHIE OV SAIZe
2% 5,563,002 5,563 4,200 1,363
2 2229 115,180 105, 180 10,000
SNEETIEIE] 10,000 0 10,000
~XRESHE H2AL RX2
" 10,000,0002 0,000 0 0,000
401 AIEHIL2OHb| 100,000 30,000 70,000
01 Al 100,000 30,000 70,000
OXtRIzsHIEl Al THe L 22 100,000 30,000 70,000
—HIHQSNZAL D RA & Ea
11,000, 0002 11,000 0 11,000
~XREEE OE L B4R F
9,000, 0002 9,000 0 9,000
~XHREEHIE EHYE AL BLBA
20,000, 0002 20,000 0 20,000
~ X EIE ASRLEBA
213 30,000, 0002 30,000 20,000 10,000
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A AE=gt
M HOIE Mel & NHASHEE/HDIE)

e xrafz_@ax%% (SH9 H2)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
- NRA=EHE EH 232 Ex3At
20,000,000 20,000 0 20,000
SSMHEESHEANE 29 1,695,365 999,409 695,956
101 QI2H| 1,466,315 770,359 695,956
M IRIMZZ2XNSE S 1,466,315 770,359 695,956
OssHeSsSHEANE 29 1,466,315 770,359 695,956
— QI | ZH 78,880 %2282! %30 539,540 435,418 104,122
F5+d Z& 78,8803 48 x30H 113,588 4,656 18,932
-ma5dsE
Zd 78,8303 x17&%30d 40,229 28,397 11,832
- HEYSEdE
Z& 6,800 =283 x30H 58,752 48,144 10,608
-28= & 930,200,000 *12% 111,624 95,619 16,005
—2+Al| A 3,000&%236 *30H 21,240 17,280 3,960
—g&ESotdl 400,000& *30H 12,000 0 12,000
- N E=SHE JIEN22 T EX S
518,497,000 518,497 0 518,497
HOISHEX 29 1,024,890 834,890 140,000
308 XtXIEMSO0IE 170,000 220,000 A50,000
07 XML S 170,000 220,000 50,000
ORs= 170,000 220,000 50,000
-HDIZ M= RfE3
& 170,000,000& 170,000 200,000 30,000
-=EHER MR 2ES
38 02 0 20,000 £20,000
401 AlZBIL LY 630,000 440,000 190,000
01 AlEZHI 630,000 440,000 190,000
OXtE =gt S+=2At ZXI £X
190,000,000 190,000 0 190,000
MEHDIE M HelAlL(MBT) 22 6,171,832 4,926,000 1,245,832
201 fer23| 1,996,628 1,646,400 350,228
01 AtR2t2|HI 1,39%,628 1,106,400 290,228
OZelEg%] 1,3%,528 1,104,300 290,228
—-SAEFHIIZ /Sl
3 490,228,000 490,228 200,000 290,228
2 35244l 600,000 540,000 60,000
O8&82= £ HA 600,000 540,000 60,000
-&JIRs Z& 50,000,000 *12& 600,000 540,000 60,000
307 2I2to1 2,831,104 2,735,500 95,604
05 2IZtRAES 2,831,104 2,735,500 95,604
OHSHIIZ EX2IAIZ(WBT) RE2Y 2,831,104 2,735,500 95,604
- AIR2gHI(123H])
Z3d 1,531,104,000& 1,631,104 1,435,500 95,604
401 AlEBIYL S CHYI 1,344,100 544,100 800,000
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A AE=gt
M HOIE Mel & NHASHEE/HDIE)

=aak IP%%%@H::%% (SH9 H2)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
01 AlZHI 1,344,100 544,100 800,000
OWEHIIZ MH2AE B 1,344,100 544,100 800,000
—AFLANAIE A SAL
700,000,000 700,000 0 700,000
—AFLXAIE HESA EHES
3% 50,000,000 50,000 70,000 £20,000
—dEHIISHEMIAIL THII BR(2=)
23 220,000,000& 220,000 100,000 120,000
Aldzte|3e 2el(MH=2)(22/HII12) 33,040 30,640 2,400
Agae| 3o 29 2 2l (I8 33,040 30,640 2,400
AE2e|8H 29 & 2l 33,040 30,640 2,400
309 == 33,040 30,640 2,400
01 SAL- SHEYTES 33,040 30,640 2,400
OAEd2e|BE HEZ3(ZHHSTF)
Z& 33,040,000 33,040 30,640 2,400
MY 2AHHI(KHR =2 (DIEH/DIE 34,720 32,956 1,764
=3l 3,720 32,956 1,764
JI23Hl 3,720 32,9%6 1,764
202 04l 5,880 4,116 1,764
01 =LH0i 1,800 1,260 540
OJl=ge =doit| 23 1,800,000 1,800 1,260 540
02 A0 4,080 2,8% 1,224
OJ=2ge NI & 4,080,000& 4,080 2,8% 1,224
WREs (A=) (23/HII2) 238,111 200,000 38,111
BEXE 33,111 0 38,111
SFSONE 33,111 0 38,111
802 grat=JIE 33,111 0 38,111
01 2NEXIPHE= 34,631 0 34,631
o201 HEES SEME K& Atg =4
gaxol gl of Xt ehe 3,389,000 3,389 0 3,389
020234 stA=H2H2D |2 (H 2Rs 28 L
Meldl2 XI@ArY) Jaizol g oIX gre
31,242,000 31,242 0 31,242
02 Al - EHIEE=SBHEZ 3,480 0 3,480
O20238 S=F=HXS HABX =HE &R
K@ AtY D& g1 Ok} BHe
5,000 5 0 5
02023 SS3HE Al QtAHIAH AX| At &
SHXLOH oI Q| Xt Bt 77,000 7 0 7
O20238 sEHHIE =H&¥ds TN
OIXt BHe 3,015,000& 3,015 0 3,015
020238 SAESR HIIE =HE &X XA
2 &l 2 Ok ety 66,0002 66 0 66
02023 MEHII2 HEHHSAIE EXAE &
SHXkOH oI Q| Xt Bt 317,000 317 0 317
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H & 0l & AHSH H M A
0244 =4 2 3| LBts| &l
A AID
M CANL(SELXGNL/RSLEAI)
ol CAIHE S (CH9: &S1)
SA - B BR(S) - HRAY - BAS o v o H o HmS2
S Al 20,127,747 17,317,788 2,809,959
< 150,000 150,000 0
x 600,000 600,000 0
= 19,377,747 16,567,788 2,809,959
SANL (S ELXGNL /X HL Al 19,791,348 17,272,428 2,518,920
< 150,000 150,000 0
x= 600,000 600,000 0
= 19,041,348 16,522,428 2,518,920
SAEE 1,156,028 1,137,308 18,720
SARAE 29 X 47,000 28,280 18,720
201 LBt 42,000 23,280 18,720
01 AtR2telbl 42,000 23,280 18,720
o2g+g 36,000 17,280 18,720
—THEREE S fIHE FH+E
23 100,0002 %153 * 12 18,000 9,600 8,400
-ZHEARYE S A HAE
Z& 18,000,000& 18,000 7,680 10,320
SADIBIAIE =5 301,200 300,000 1,200
SAAEAIE EXEY 301,200 300,000 1,200
201 L2 1,200 0 1,200
01 At22te|bl 1,200 0 1,200
ogxz 1,200 0 1,200
-EXBA Z203 Xt
1,200,000 1,200 0 1,200
SADRE 185,000 50,000 135,000
SSs2Es¥ =4 100,000 0 100,000
401 AIEHIL20HY 100,000 0 100,000
01 Al&HI 100,000 0 100,000
O=ss2eE3 &4 100,000,000 100,000 0 100,000
2U TAISE =A2c 85,000 50,000 35,000
201 L2 15,000 10,000 5,000
01 AtR2te|bl 15,000 10,000 5,000
O] 15,000 10,000 5,000
-SS2ESY FEA 22sY
Z& 15,000,000 15,000 10,000 5,000
401 AIEHIL20HY 70,000 40,000 30,000
01 Al&HI 70,000 40,000 30,000
OZU TAIEE sXlZc
Z & 70,000,000& 70,000 40,000 30,000
SAIEEZ HE 10,515,570 8,219,570 2,296,000
S 400,000 400,000 0
= 10,115,570 7,819,570 2,296,000
IFEZAAEEE S22-158 HWESA 1,070,000 850,000 220,000
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2A:

SAIT

I SANY(ZELXSEIHNL/ALTAI)
Rl ZAIHEEZ OHE EER=E)
SA -3 - A(3) - MISA - B85 Off &K N3 Hws2
401 AlEHI L 201 1,070,000 850,000 220,000
01 Al&l 1,070,000 850,000 220,000
Ot s=22-1SH(FH0IIE~-EXAME =
2)HhE Z & 1,070,000,000& 1,070,000 850,000 220,000
IMEZAHEEZ S23-2546 HEBA 1,600,000 1,300,000 300,000
401 AlEHI L 2THY] 1,600,000 1,300,000 300,000
01 Al&l 1,600,000 1,300,000 300,000
OJHl Z23-25 ¢ (SHOHIE~ESOHIE)
e Z 3 1,600,000,0002 1,600,000 1,300,000 300,000
IHEEZAHEEZ L2145 LML B A 10,000 0 10,000
401 AlEHIL 201 10,000 0 10,000
01 Al&l 10,000 0 10,000
O A21-45 4 (UHS421 L&) IR
10,000,000 10,000 0 10,000
HEZAHEEZ AR2-8SH HEBA 1,150,000 1,000,000 150,000
401 AIEHI L 2THYI 1,150,000 1,000,000 150,000
01 Al&l 1,150,000 1,000,000 150,000
O Az2-8sd(HEegde-E0HIE
RUES! Z3 1,150,000,000& 1,150,000 1,000,000 150,000
IHEZAHEER 4229546 NEAIY 900,000 600,000 300,000
401 AlZHIL 201 900,000 600,000 300,000
01 Al&l 900,000 600,000 300,000
ONBEAIHECZ AZ22-05H (DI2HOIE L~
ZLAIRO0IIE )N E
Z3 900,000,000 900,000 600,000 300,000
IEZAHEEZ AR-1755 4 HABA 20,000 0 20,000
401 AIEHI L 2THY] 20,000 0 20,000
01 Al&Hl 20,000 0 20,000
OJHE AZ2-1755 M (OHE S8t -e B EHAIA)
e 20,000,000 20,000 0 20,000
SCITAINEER B2345H WEAIY 200,000 0 200,000
401 AlZHI L 201 200,000 0 200,000
01 Al&l 200,000 0 200,000
Odle| 22345 (XERXX= L&) He
200,000,000 200,000 0 200,000
SCITAHEER 422754 2 2L HESBA 600,000 0 600,000
401 AIEHI L 2THY] 600,000 0 600,000
01 Al&dl 600,000 0 600,000
O#lel 222758 2 2l (Motn~seld
Z=1) e 600,000,000 600,000 0 600,000
SETAHEETZ AR2-55H 2 3 =& HEIA 600,000 300,000 300,000
401 AlZHI L 21 600,000 300,000 300,000
01 Al&l 600,000 300,000 300,000
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SA SAID
A CADHE(SELXSNL/XALTAI)
=Rl TAIHEEZ 4 EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
OSSTAMAHEEZ A22-55H 2 3002 i
HIA && 600,000,000 600,000 300,000 300,000
g - 28 ZAIHEEZ Oi4 162,250 6,250 156,000
201 ZBt=Ehl 12,250 6,250 6,000
02 33234l 12,250 6,250 6,000
O=32= € HAl 12,250 6,250 6,000
- HEANE 3323
3 12,250,000 12,250 6,250 6,000
401 AIEHIYL 20| 150,000 0 150,000
01 Al&ZHI 150,000 0 150,000
O=8s 221-1254 2 M- (FSHARLA
~S413) - 100,000,000& 100,000 0 100,000
OJHE AZ22-1705d 2 2H=d(OHE S A
IHEENY) HE 50,000,000 50,000 0 50,000
SANHEEZ A2 HEAY 60,000 30,000 30,000
401 AIEHIZL 20| 60,000 30,000 30,000
01 Al&€HI 60,000 30,000 30,000
Ot SAAEEZ ARE2 HHEAY
&% 60,000,000 60,000 30,000 30,000
CAHEER OHE & 24 AIZR0YI 30,000 20,000 10,000
401 AIEHIL 20| 30,000 20,000 10,000
03 Al R0HYI 30,000 20,000 10,000
OFAAHEEZ e & 24 AU
23 30,000,0002 30,000 20,000 10,000
FHRB NS 1,272,550 1,224,550 48,000
< 150,000 150,000 0
= 1,122,550 1,074,550 48,000
SAZZAIE & Z2hNERN20d 322,550 274,550 48,000
201 Zet2d] 164,550 164,550 0
01 AlR2telHl 137,550 137,550 0
O=2g+¢ 3,000 4,050 A 1,050
-SSUAL ASAATEs Hod
Z& 100,0002+33|x10H 3,000 4,050 A1,050
OggtEA| 87,050 9,000 8,950
-0 |l= 2t 8 sgZ0s E)1 dyl
g9 3% 12,050,000 12,050 6,000 6,050
-E2¥ RsZIsE JHEsY
&dd 75,000,000 75,000 90,000 15,000
OZelEg%] 35,000 25,000 10,000
=SS 422 Y
Z& 20,000,0002 20,000 10,000 10,000
401 AIEHIYL 20| 168,000 110,000 48,000
01 Al&€HI 158,000 110,000 48,000
OZAd2NE= & SSEE= 2
& 50,000,000 50,000 30,000 20,000




S ZAID
M CANL(IELX SN/ N ALEAI)
Rl FHEENe (SH9 H2)
SA - B SA(3) - MRAY - BES O &0 p/IE- - HimE=ET
|| O=sa e 40,0002 200 28,000 0 28,000
SNl TIPS 2,080,000 2,060,000 20,000
HEAHZ JIPAIE T4 (E23-19) 20,000 0 20,000
401 AIEHIL = Ch| 20,000 0 20,000
01 Al&H 20,000 0 20,000
OZBANH J|BtAIE ZH(S23-19, L=60n, b=
i2m) 20,000,002 20,000 0 20,000
SHESZHI(ZAID) OIEHIIED 53,900 43,360 10,540
|2 ZHI(EAIDH 53,900 43,360 10,540
UEEE] 53,900 43,360 10,540
201 ger2 | 3,300 28,560 6,740
01 Al 22lb| 3,300 28,560 6,740
Oger+gH| 27,500 28,100 4,400
~LEAREE 2% 9,000,000 9,000 7,000 2,000
—ZelH 2 =ADI EY
A% 9,600,0002 9,600 7,200 2,400
o2zl 7,800 5,460 2,340
—AZRI22% S204AH|
27 650,008 * 122 7,800 5,460 2,340
202 4| 10,000 6,200 3,800
ETT 10,000 6,200 3,800
OJI=dP $80it)
A& 10,000,008 10,000 6,200 3,800
WL EE(RELXNL/ AL A 282,490 2,000 280,499
SRS (CAID) 280,499 0 280,499
SENS(ZAD) 280,499 0 280,499
802 Bret 3l 280,499 0 280,499
01 FnExIEE 12,568 0 12,568
ODIZZ0I 7o X% IBAR OIX e
et 12,568,000 12,568 0 12,568
2 Al - EHEES et 267,981 0 267,981
ONADHLTAIY T4 gt
98,501,0008 9,501 0 9,501
ONADHLTAIY 0% het
90,906,000 9,906 0 9,906
O L2l TAITAAIY &0 pht
78,524,0002 78,524 0 78,524
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H & 0l & AHS B Ml A

0243 =& 2 3 LEtSIH &l

SN DED

MM DESY NH(DELSR/UEDE - 23S
col 2R 2ol 2 XY (12l M2

B - CHR(31) - HIRAIY - BES 0 & ol B o HIRS2
7,118,013 17,180, 153 AB2,140
= 270,600 270,600 0
= 608,000 608,000 0
= 300,000 300,000 0
= 1,569,019 1,723,119 A154,100
ES 200,000 200,000 0
= 14,170,3%4 14,078,434 91,960
& S2/0Z1E - 285018 3,291,602 14,541, 162 1,249,470
= 270,600 270,600 0
2 608,000 608,000 0
s 300,000 300,000 0
= 1,569,019 1,723,119 A154,100
= 200,000 200,000 0
= 10,344,073 11,439,443 A1,005,370
9,363,516 11,204,877 A1,841,361
= 270,600 270,600 0
= 608,000 608,000 0
= 978,519 1,159,619 A181,100
= 7,506,397 9,166,658 A1,660,261
2N 18,000 0 18,000
18,000 0 18,000
18,000 0 18,000
U I 2IAKY
18,000, 00024 18,000 0 18,000
1,648,853 2,265,853 AB17,000
= 136,800 136,800 0
= 453,616 638,716 A185,100
2 1,068,437 1,490,337 A431,900
1,648,853 2,265,853 AB17,000
= 136,800 136,800 0
= 453,616 638,716 A185,100
= 1,068,437 1,490,337 A431,900
1,648,853 2,265,853 AB17,000
(XER)
2F 1,202,053,0002 1,202,053 1,819,053 AB17,000
= 30,616 545,716 185,100
@ 841,437 1,073,337 A431,900
Dzl ZoHA ZZAT Al 420,514 1,669,9% A1,249,481
308 XHXI SISOl & 420,514 1,669,9% A1,249,481
13 2| 2SO CHEH AR S EAL | 420,514 1,669,9% A1,249,481
OUiZS 2ot~ EZAH A

2 420,514,002 420,514 1,669,995 A1,249,481
sSepEacel M2 =9 9,120 100,000 830
= 56,000 56,000 0
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A WS
M WsSEd e (NSEER/UHSNS - EF/SIIE)
ol 2gH 22 & A (SH9 H2)
SN - BE - SRA(SIH) - NIRAY - B2 0] a0t ol & o HimEE]
= 43,120 44,000 2880
201 er23y| 5,000 0 5,000
01 AtR2t2l] 4,200 0 4,200
Oget=ZH] 4,200 0 4,200
-SEusSsHe U §E2, SH8A
- S 4,200,000 4,200 4,200
2 s5=4g4l 800 800
0332 € HMAl 800 800
-SgEuSsHe I BER
800,000 800 0 800
405 THeHE S| 9,120 100,000 25,880
[ 56,000 56,000 0
i 38,120 44,000 15,880
01 TRHESFSHI 9,120 100,000 15,880
OSguS=He g & '(XUIIL‘?‘_ZF_)
Z& 14,120,000 14,120 20,000 15,880
CSEAl HEX HIS XI& 8,000 0 8,000
< 4,000 0 4,000
= 4,000 0 4,000
402 RIZERHZ01H 8,000 0 8,000
< 4,000 0 4,000
= 4,000 0 4,000
02 RIENEASEZ(0IETHR) 8,000 0 8,000
OL==8Al HHZXI HIE K&
8,000,000 8,000 0 8,000
[ 4,000 0 4,000
= 4,000 0 4,000
AlLHH A B35t 85,781 72,633 13,148
FESSHARDIE &4 85,781 72,633 13,148
101 @124H| 55,565 42,417 13,148
M4 JRIHZZ2REE 55,565 42,417 13,148
OHOIE 2el 55,565 42,417 13,148
=
BE 9,860 +BAI 222111 & <2 38,178 27,766 10,412
-F5=g
ZE 9,8602+8AI 24111 & «2H 6,942 5,622 1,420
-FerdsE
BE 9,860 x8BAI2Hx12+11IHE ~2H 1,736 1,578 158
- MEAZEHE
ST 850 +BAIZH26Lx11IH & <2 3,890 3,006 834
-28= ZF 43,802,880 *11% 4,819 4,545 274
SMNS 2ot & 110,919 84,980 25,939
nSHIXH 21,860 20,780 1,080
201 er2 3| 17,860 16,780 1,080
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of
i’
oF
uJ

-

KIO

Hlw

1,080
1,080
600
24,859
24,859
24,859
24,859
24,859

540,804

27,000

513,804
42,804
42,804
42,804

3,564

3,564
39,240
39,240

130,000

130,000
130,000

130,000
130,000
100,000

ol ® o

16,420
3,280
600
480
13,700
13,700
13,700
8,700

300,000
563,500

3,185,472

200,000

2,001,972

25,014
25,014

385,014
385,014

25,014
1,010,000
300,000
200,000
510,000
1,010,000

300,000
200,000
510,000
1,010,000

350,000

ol &rey

17,500
4,360
1,200

960

38,559

38,559

38,559

33,559

24,859

3,696,276

300,000

H

590,500

KA

200,000

2,605,776

H

427,818
427,818
67,818
28,578

28,578
39,240
39,240

1,140,000
300,000

KA

200,000

H

300,000

640,000
1,140,000

Ki

640,000
1,140,000
450,000

200,000

- ESS

- SRA(E) - HIRAY

S LRE-L

|x6d
|x6d

*23]
*23)

2|

_O‘:_j
fusl

24,859,000

M ACH
o T o
Z2& 100,000

X
& 80,000

01 AtR2telbl

307 212t01™

01 AtR2telbl

ol
=
S|

_J_l

.

Kl
H

180

16,5002 1, 732K
39,240,000

o o

>4

401 AIZHIY 20

33 450,000,000

01 A<l

MO A

iof
<

1ok

Ok

30,000
184,000
20,000
20,000
20,000

30,000
875,458
190,000
190,000
190,000

60,000

1,089,458
210,000

210,000
210,000
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A WSH
¥ NS W (NSLESF/UHSnS - =F[SIIE
=Rl wSAld=E X & F7AI 2el (SH9 H2)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
—HA BAsZ3E FAEY
&3 60,000,000 60,000 40,000 20,000
401 AIEHIL 20| 294,000 130,000 164,000
01 Al&HI 294,000 130,000 164,000
OUsUSAIEE RAZ+
Z& 130,000,000 130,000 30,000 100,000
OHAEFA EHl A 64,000 0 64,000
—ad S01RI0E HAZRFA i
32,000,0003* 1742~ 32,000 0 32,000
-S0 SSxSE HAFEFA A
32,000,000 %17 A 32,000 0 32,000
SAl SXtE B EX AFG(ZHI) 150,000 20,000 130,000
< 6,000 6,000 0
i 144,000 14,000 130,000
401 AIEHIZL 20| 150,000 20,000 130,000
< 6,000 6,000 0
i 144,000 14,000 130,000
01 Al&ZHI 150,000 20,000 130,000
O®icIHOIE SHAl SXHE & £X
ZE 85,000,000& 100 2 85,000 10,000 75,000
< 3,000 3,000 0
z 82,000 7,000 75,000
OJIEE0IE SAl sXtE = £X
2 & 65,000,000 1004 65,000 10,000 55,000
< 3,000 3,000 0
i 62,000 7,000 55,000
HElol2s729 W ANEEHES XA 54,000 0 54,000
& 27,000 0 27,000
= 27,000 0 27,000
401 AIEHIL 20| 54,000 0 54,000
< 27,000 0 27,000
= 27,000 0 27,000
01 Al&ZHI 54,000 0 54,000
O0EI0IEE7S ANERHES XA
54,000,000 54,000 0 54,000
< 27,000 0 27,000
= 27,000 0 27,000
ASitet AL01H2 S|t 22 35,200 23,200 12,000
SEdd N2 29,200 17,200 12,000
201 Zet=E] 29,200 17,200 12,000
01 Al2telsl 7,000 4,000 3,000
Ooget+=24| 7,000 4,000 3,000
-SSR AA MAETY
& 7,000,000 7,000 4,000 3,000
2 s3234l 22,200 13,200 9,000
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2N DED
Hu: DSEY HH(DSLYSR/HELS - 2RSIIE)
ool XSRSt A&IIN S= Bzl (cHol:ziel)
SA-3Y - SRA(SAH) - MRAY - BES Off &4 & A HnsZ
SEEEEEI 22,200 13,200 9,000
~DES L DHE 2B U2
2% 1,800,000 102 18,000 9,000 9,000
#H 2930 (DS OIEHIIE 34,500 33,200 1,300
IR 34,500 33,200 1,300
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0202349 L 321010l SAlbl X3
Ab Ol R 20,0002 20 20
OL22I A (RXZ SSEHA HLA)
EESSEUNPA, 3,923,000& 3,923 3,923
020234 WSSt Sdetd At Hed
o Bt 19,986,000& 19,986 19,986
020234 WS SetH A Ol gt
e 1,161,000& 1,161 1,161
020238 RIE2S 7 JHEAIY HRAZTN B
= 3,371,000 3,371 3,371
020234 LOI2S+9 JHEAIY Okt g
137,000 137 137
020234 012012579 JHHAE DT
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-ASS2NE REY HE =2
3& 25,000,0002 25,000 20,000 5,000
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O332= € MAl 20,000 15,500 4,500
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03 A=A R =AY 2,000 1,500 500
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Zd& 2,000,000 2,000 1,500 500
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01 Ab2teltl 27,108 22,368 4,740
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H & Ol & AF S E Al A
AT ZZ 2 5] LB H
SH: AR
HEl: SABOISMHIA MAE HD(BA/2AAR)

Chel: SAME o R AHIA JIEH £A (cHol:ziel)
SA - B S9(SH) - NIRAY - BES o ar o HIDS2
EEEE 5,040,826 4,111,820 929,006

2 5,237 28,844 £28,607
2 15,000 0 15,000
| 616,463 656,463 240,000
= 660,913 675,316 A14,403
2 3,743,208 2,751,192 992,016
SABFOABTHHIA Mot HD(2A/2AAE) 1,475,987 1,39, 181 81,806
2 1,393 15,000 A13,607
2 15,000 0 15,000
< 4,347 3,750 597
2 1,485,247 1,375,431 79,816
SAE I SZAHIA JlE TA 1,475,967 1,304, 181 81,806
2 1,393 15,000 A13,607
2 15,000 0 15,000
= 4,347 3,750 597
2 1,455,247 1,375,431 79,816
A MBI AR 463,39% 418,8% 44,500
201 2er2ei| 30,106 305,606 14,500
01 Al 22l 117,586 103,086 14,500
OYergH| 33,920 18,930 15,000
~TBUD WA LAD(UAA, Hola,
x24) 2% 8,960,002 8,950 1,450 7,500
—E40 2 SRR MR
2% 9,500,002 9,500 2,000 7,500
o2+ 10,800 11,300 A500
~XHS3olB XA BHLY
A 100,0002+7% 700 1,200 £500
207 SATHL Y| 30,000 30,000
EEEETT 30,000 30,000
SlE=T 30,000 30,000
~JHBE BBOI2IIR TE EIYLEA O
7 8 30,000,002 30,000 0 30,000
A AYSTALY 132,847 130,547 300
201 Yur2 | 1,600 1,300 300
01 Al 22l 1,600 1,300 300
Oger+gH| 1,600 1,300 300
—8XE 78 ME
243 1,600,002 1,600 1,300 300
S0ZE2ALS OIHAE MY 23,250 23,250 0
2 0 15,000 A15,000
2 15,000 0 15,000
= 3,750 3,750 0
2 4,500 4,500 0
405 THH3SH] 23,250 23,250 0
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SA -3 - A(3) - MISA - B85 Off &K N3 Hws2
2 0 15,000 215,000
s 15,000 0 15,000
T 3,750 3,750 0
= 4,500 4,500 0
01 AL = SF = 23,250 23,250 0
ORATEA OB (W) SZD 7Y
Z& 4,650,000 «5CH 23,250 23,250 0
= 0 15,000 A 15,000
s 15,000 0 15,000
= 3,750 3,750 0
= 4,500 4,500 0
S32H9=0|& 22 504,385 469,369 35,016
401 AIEHIZL 28I 496,656 461,640 35,016
01 A& 496,656 461,640 3,016
ONE2 2292)|Z T2 HL 5t FA
5,000,000& 5,000 0 5,000
OHBOIEATA U BAA HLHEA o
= SAt 30,016,000 30,016 0 30,016
=U2 M= X# 1,990 0 1,990
3 1,393 0 1,39
= 597 0 597
201 2Er2Z ] 1,990 0 1,990
= 1,393 0 1,393
= 597 0 597
01 AFS2t2ltl 1,990 0 1,990
ONelE A&HSE 2g22
1,990,000 1,990 0 1,990
= 1,393 0 1,393
= 597 0 597
ANSEAH olmet RH(BAH/E2HAAR) 3,085,207 2,434,921 650,286
= 3,844 13,844 A 10,000
| 616,468 656,468 240,000
& 656,566 671,566 A 15,000
2 1,808,329 1,008,043 715,286
2L LTS ALY 1,868,552 1,218,266 650,286
| 545,633 595,633 250,000
= 163,689 178,689 A 15,000
= 1,159,230 443,944 715,286
ZIHHYE S AAl 834,874 934,874 100,000
| 417,437 467,437 250,000
= 125,230 140,230 A15,000
= 292,207 327,207 235,000
307 QI2HOl A 834,874 934,874 A100,000
| 417,437 467,437 50,000
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SAF I
N2 olmet RF(EA/2498)

=S ES A

SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
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TEEEEET] 834,874 934,874 100,000
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R HUEE N 748,938 4,000 744,938
101 21218 25,113 0 25,113
VBIENEES=T=EN 25,113 0 25,113
OHYEEY 2% X2 25,113 0 25,113
-J=2 2,828, 0002 x4 22 22,624 0 22,624
-2ER 22,624, 00024 %11% 2,489 0 2,489
201 2er2H| 2,500 0 2,500
01 Al 22l 2,500 0 2,500
OUUTEAMS E24| 2,500,002 2,500 0 2,500
307 212H01 721,325 4,000 717,325
NEEEEET] 721,325 4,000 717,325
OXIXH QIB2OT HILEE X2
AT 401,400,000 401,400 4,000 397,400
OHAEZR LTS X
319,925,002 319,925 0 319,925
I T E A 28,348 23,000 5,348
307 212H01 16,870 10,000 6,870
TEEEEETI 16,870 10,000 6,870
OIS FBPY (A1 2l 43)
A 16,870,000 16,870 10,000 6,870
405 RHH3ISH] 11,478 13,000 A1,522
01 KIS ZFSY| 11,478 13,000 A1,522
ONUZA 2 KR (B FF WED)
A 11,478,002 1) 11,478 1,000 A1,522
SR 312,018 312,018 0
2 2,644 12,644 210,000
o] 63,785 53,785 10,000
= 69,357 69,357 0
2 176,230 176,232 0
2212|0F EIXIAR (261 20,000 20,000 0
2 0 10,000 210,000
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M XGE2A olmet RH(EH/E2HYR)
&l gy (CH9: &S1)
SA - B BR(S) - HRAY - BAS o v o H o HmS2
= 10,000 10,000 0
201 L= 2,000 2,000 0
= 0 1,000 21,000
2 1,000 0 1,000
= 1,000 1,000 0
01 AtR22telbl 2,000 2,000 0
Oggt=8H] 2,000 2,000 0
-E2238 78 23 2,000,000 2,000 2,000 0
= 0 1,000 21,000
2 1,000 0 1,000
= 1,000 1,000 0
206 M=zl 18,000 18,000 0
= 0 9,000 29,000
2 9,000 0 9,000
= 9,000 9,000 0
01 M=z Hl 18,000 18,000 0
ongers 2 Z & 18,000,000& 18,000 18,000 0
= 0 9,000 29,000
2l 9,000 0 9,000
= 9,000 9,000 0
YA HHI(2AF D) (DIEH/DIE 283,318 282,718 600
[2ZH(EAF 21 78,748 78,148 600
Jl=&H| 78,748 78,148 600
203 PR=&| 15,020 14,420 600
01 J1 228 HRF=8H| 6,000 5,400 600
Ol 22HYgRFTHI(BAH )
Z& 6,000,000& 6,000 5,400 600
NREs(BHAMY) (BA/BA9E) 196,314 0 196,314
BEXE 196,314 0 196,314
BEXE 196,314 0 196,314
802 g+et=JIE 196,314 0 196,314
01 = DExIete=a 146,354 0 146,354
020234 HoE A=0HEE 2E2tel 2|
OIXt Bt 4,000 4 0 4
02023._ S M 243 NA(MHAME S
SHIwWSH XY) =6l 01X Bre
1,000 1 0 1
020234 Zetelot EIXIAIY 28] Z&
OIX+ ghe 369,000 369 0 369
02023 0I01= & HH0E =l HAXH
! Ol BHe 565,000 565 0 565
020234 SALZSH2AL|ALY JH| B EHEHH
2 Ol BHe 4,571,000& 4,571 0 4,571
020234 sHE SRt IR MY =41 S
&hon Bt 3,375,000 3,375 0 3,375
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02028 DZLHY AT 2 LTS Al
Ul =24 YT L OIX Bre
54,643, 0002 54,643 54,643
O2BE 2IHULTS MAl 20| Fa@os Y
OIXt gt 80,260, 0002 80,260 80,260
OB HLHESSME =6 JBTA L
OIXt BHef 1,409, 0002 1,409 1,409
020283 MSHAZSHS LW DS U &8
RIZIAFR 2| @R 21 OX Bret
790, 0002 790 790
Q2022 B4 DRUHY BHAII XA
=2 BTN L OIX B
36,0002 366 36
020283 D2LHY L&t EAZAIA 28]
OIXt BHe 1,0002 1 1
@ Al- SHIEESEES 49,960 49,960
02024 THHOl2 AsTHSE 282l Y|
OIXt Bret 2,0002! 2 2
020283 EALZHDIZIAY TH| T BT
2 O|Xt B 1,372,000 1,372 1,372
02008 SHHBBTR2INAAY TH T
ok ght 3,375,0002! 3,375 3,375
02028 DZLHY ORI IR HLFE A
Ul TH YT B
16,398, 0002! 16,393 16,398
02028 2OMYTS MAl o FBTA L
OIXt gt 24,078,002 24,078 24,078
OB4 HLHESSHE TH JBTY L
OIXt BHef 423,002 423 423
OB MSHRAZSUHSRY 18 L 28
RIZAIS CHI ZaRo o 0|X} Bt
237,000 237 237
O34 ALAR (BBYOIAZ) SHI HH
o ol 0|} et 115, 0002 115 115
02028 Y2telot S 2SBOIY TH ZF
o ol 0|} et 3,083,002 3,083 3,083
O34 BITHZIH MY TH| ZSAY Bt
576, 0002 576 576
020236 BIKLRICH Y| TH| ZsRoY Bt
166, 0002 166 166
020234 SHAIBBRIAY TH| STM Bt
00,0002 100 100
O34 LA S WHLSHHLAIR &
Hl EaEo g 29,0002 29 29
02028 3ot X YHOISI|2 K@ EHl Ol
e, 11,0002 11 11

- 173 -




H & 0l & AHS B Ml A

HH: QIEE ALMHIARS(EHAZHHIA HB)(EH/BAHAZ)
el FUALSE ALY (SH9 H2)
S - BE - B9I(3H) - NRAY - BES il v ol H o CImE=E
AL ST 12,478,023 12,012,659 465,364
= 4,761,108 4,764,103 3,000
z 255,153 255,153 0
2l 1,238,892 1,217,537 21,355
< 2,285,733 2,285,875 N142
i 3,937,142 3,489,991 447,151
%)%éﬂ AZAHIAKS(EH2AS MEIA HMB) (/2242 2,819,153 2,776,035 43,118
= 49,000 52,000 23,000
= 62,605 62,605 0
2l 540,769 511,884 28,885
= 350,078 349,320 758
= 1,816,701 1,800,226 16,475
FUAASA AL 724,391 711,691 12,700
2l 254,620 248,270 6,350
< 57,192 57,192 0
= 412,579 406,229 6,350
KISAS| SERABSEAIE (28t 197,902 197,902 0
2l 59,371 59,371 0
= 138,531 138,531 0
201 Let2dY| 136,502 138,532 A2,030
2l 40,951 41,560 609
e 95,551 %,972 A 1,421
01 AFR2telHl 57,882 57,584 298
Oggt=3H| 56,522 54,584 938
-82=28 ¥ 228
38 47,522,000 47,522 46,584 938
Jl 14,257 13,975 282
z 33,265 32,609 656
ORE=H] 160 800 2640
- SRAZZX AWK
& 160,000 160 800 640
2l 48 240 AR
= 112 560 N448
2 55234l 900 1,248 348
Os&sk= € MA 900 1,248 A348
-8 2 33R= & 900,000 900 1,248 N348
2l 270 375 A105
= 630 873 N243
03 A= EHI 77,720 79,700 A 1,980
OsLga dENZS Bue 24
33 14,000,000 14,000 12,600 1,400
2l 4,200 3,780 420
z 9,800 8,820 980
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FA ALS
M OIEE ALMHIANS(2HASAMHIA MB)(E2H/2AH2=)
el FUALSE ALY (St &)
SA - FE - SRA(3H) - MRAE - Off &4 I8N BlunsZ
Ol At 2a8|
& 6,600,000 6,600 10,500 3,900
2l 1,980 3,150 A1,170
= 4,620 7,350 N2,730
Oulgrolzel & sAL 2%
& 2,520,000 2,520 2,000 520
2l 756 600 156
= 1,764 1,400 364
202 04l 800 1,200 2400
2l 240 360 A120
z 560 840 ~280
01 A 800 1,200 A400
O3RHZ2Z2X EF0Y
&4 800,000 800 1,200 2400
2l 240 360 A120
= 560 840 ~280
301 LetE2NS 600 1,170 A570
2l 180 351 A7
i 420 819 N30
11 HAFHIXIRS 600 1,170 AB70
O882e & WS S dAAH A&
& 600,000 600 1,170 A570
2l 180 351 A7
= 420 819 N30
307 212+01H 17,000 14,000 3,000
2l 5,100 4,200 900
= 11,900 9,800 2,100
0122 & 2= 17,000 14,000 3,000
OBAET SAH 2 EE2X
& 4,000,000& 4,000 1,000 3,000
2l 1,200 300 900
i 2,800 700 2,100
NAEIS A SSHAAMEIA 141,410 128,710 12,700
Jl 70,705 64,355 6,350
z 70,705 64,355 6,350
201 ZBt=3hl 45,400 37,210 8,190
2l 22,700 18,605 4,095
= 22,700 18,605 4,09
01 AlR2telHl 43,050 32,210 10,840
Ogit==H| 22,410 11,410 11,000
-22E8 7Y 3% 16,000,000 16,000 5,000 11,000
) 8,000 2,500 5,500
z 8,000 2,500 5,500
ORE W =H| 240 400 A160
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HH: QIEE ALMHIARS(EHAZHHIA HB)(EH/BAHAZ)
el FUALSE ALY (SH9 H2)
SN - BE - SRA(SIH) - NIRAY - B2 0] a0t ol & o HimEE]
-SRX22X /S WSH|
& 240,000 240 400 A160
2l 120 200 280
= 120 200 280
02 33234l 2,200 2,000 200
O3323 % MAl 400 200 200
-RER= & 400,000 400 200 200
) 200 100 100
i 200 100 100
03 Ar=EHI 150 3,000 A2,850
Osdo & dA=g 3& 150,000 180 3,000 2,850
Il 75 1,500 A1,425
= 75 1,500 N1,425
202 Ot 500 1,000 A500
2l 250 500 A250
e 250 500 A250
01 2N 500 1,000 A500
OS2REZZI ST 0|
& 500,000& 500 1,000 A500
2l 250 500 A250
i 250 500 A250
301 LetEAZ 2,000 500 1,500
Jl 1,000 250 750
= 1,000 250 750
YIIEE2d= 2,000 500 1,500
O=ddsit 25 718
& 2,000,000 2,000 500 1,500
2l 1,000 250 750
= 1,000 250 750
307 e12+0ld 43,510 40,000 3,510
2l 21,755 20,000 1,755
= 21,755 20,000 1,755
0122 & 3= 43,510 40,000 3,510
OsgExM 7 43 43,510,000 43,510 40,000 3,510
Jl 21,755 20,000 1,755
= 21,755 20,000 1,755
A2 MHIA AL 588,080 587,662 418
= 49,000 52,000 3,000
Jl 65,002 66,467 A 1,465
< 243,286 243,428 A142
i 230,792 225,767 5,025
SXEAAY 2ZIA(XHA) 26,377 21,209 5,168
101 el 26,377 21,209 5,168
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S AYBED
M ES AYMUIAKB(ZAARMHIA RIB)(22A/22AR)
ool DXEA AHIA A (el mg)
SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
VPEDEEI=T=P 26,377 21,209 5,168
OS2 AAY 2 (XHA) 26,377 21,209 5,168
-Jl=3 AT 78,8802 % 10212 17,35 13,883 3,471
-F54+Y A 78,8802 +432U 1 3,3 2,761 631
23824y
AT 78,8802+ 122U+1 947 789 158
~MEUIPHLY
A 6,8002+273+1Y 1,857 1,508 354
-2gE 2 23,553,008 12% 2,827 2,273 554
ADAMOL AR KIRAI(FIHE) 20,000 16,000 4,000
= 10,000 8,000 2,000
2 0,000 8,000 2,000
308 XX HHI SO 20,000 16,000 4,000
= 0,000 8,000 2,000
2 10,000 8,000 2,000
13 2| BSOS A X RISt ALIH| 20,000 16,000 4,000
OA DA MORIZRIRIXI A (2 F) (FIH)
213 20,000, 0002 20,000 16,000 4,000
= 10,000 8,000 2,000
2 10,000 8,000 2,000
NASE IR, ZHES KA 98,000 104,000 6,000
= 49,000 52,000 3,000
= 24,500 26,000 A1,500
2 24,500 26,000 A1,500
308 XHXISHHISOI & 98,000 104,000 16,000
= 49,000 52,000 3,000
= 24,500 26,000 A1,500
= 24,500 26,000 A1,500
13 2| 2SOIChEHZ A X RIS ALRIH| 98,000 104,000 6,000
OMASE JIKA ZHER KA
21 98,000, 0002 98,000 104,000 6,000
= 49,000 52,000 3,000
= 24,500 26,000 A1,500
= 24,500 26,000 A1,500
Al AEAZ R X 6,800 5,250 1,550
| 3,400 2,625 775
= 1,700 1,312 388
2 1,700 1,313 387
307 Q1201 H 6,800 5,250 1,550
p 3,400 2,625 775
= 1,700 1,312 388
2 1,700 1,313 387
NEEEIEET 6,800 5,250 1,550
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SH: HABAY
B2 UES AYMHIAHB(ZAABMHIA HB)(B2A/2AOIR)
SRl DX MHIA ALY (el mg)
A -3 - GRA(3) - ARAY - BES Ofl &4 I8 [ ImE=r",
Oglal Ardiztziel Xe
AT 6,800,002 6,800 5,250 1,550
| 3,400 2,625 775
= 1,700 1,312 388
2 1,700 1,313 387
SESUAOIAZAL 2 B0r2el 1,000 4,000 £3,000
| 500 2,000 A1,500
= 250 1,000 AT50
2 250 1,000 AT50
307 812¢0| A 1,000 4,000 £3,000
| 500 2,000 A1,500
= 250 1,000 AT50
2 250 1,000 AT50
0192 % 3=t 1,000 4,000 £3,000
OEBSTIAOIA ZA L 801212
23 1,000,000 1,000 4,000 A3,000
| 500 2,000 A1,500
= 250 1,000 AT50
2 250 1,000 AT50
SEE LEAAN R 2ED| X8 2,400 3,400 A1,000
| 1,200 1,700 A500
= 600 850 £250
2 600 850 £250
307 12+0| M 2,400 3,400 A1,000
| 1,200 1,700 A500
= 600 850 £250
2 600 850 £250
01 2= % 3=t 2,400 3,400 A1,000
OMES HEAN L 2FI| X2
AT 2,400,002 2,400 3,400 A1,000
| 1,200 1,700 A500
= 600 850 £250
2 600 850 £250
AROML LI HUAA| K& 900 1,200 A300
| 720 960 £240
= % 120 A0
2 %0 120 A30
307 12¢01 M 900 1,200 £300
] 720 960 £240
= % 120 A0
=z %0 120 A30
012z % 3=t 900 1,200 A300
OYROL LT LA X8
AT 90,0002 900 1,200 A300
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2A:
X XH -
o e

=aak

U= BAHOAZMHIA MZ)(E
OB MHIA A

H/BHAAT)

S - BE - B9I(3H) - NRAY - BES il v ol H o HimE=T

J| 720 960 AN240

= 0 120 A0

s 0 120 A0

SHUSEAMS 1,506,682 1,476,682 30,000

s 62,605 62,605 0

Il 221,147 197,147 24,000

= 49,600 48,700 900

i 1,173,330 1,168,230 5,100

A Zel ML (EeAd2el) (BX) 125,210 125,210 0

s 62,605 62,605 0

= 62,605 62,605 0

201 ZEt2& ] 65,910 70,910 25,000

s 32,955 35,455 22,500

= 32,955 35,455 22,500

03 &At2EH| 50,000 55,000 A5,000
OgzH2ze] HAL2ZHI

Z & 50,000,000 50,000 55,000 25,000

s 25,000 27,500 22,500

= 25,000 27,500 22,500

307 212t01 & 35,000 30,000 5,000

= 17,500 15,000 2,500

= 17,500 15,000 2,500

0122 ¢ 3=l 35,000 30,000 5,000
Ogzddae Azg42E

Z& 35,000,000 35,000 30,000 5,000

s 17,500 15,000 2,500

= 17,500 15,000 2,500

XIoHetadEe 29 231,770 201,770 30,000

J| 185,416 161,416 24,000

S 6,953 6,053 900

= 39,401 34,301 5,100

201 2Eer23 ] 119,270 88,170 31,100

J| 95,416 70,536 24,880

= 3,578 2,645 933

= 20,276 14,989 5,287

01 ArR2eltl 100,770 71,170 29,600

Ogt==H| 39,570 12,070 27,500
~E2SE 7Y U MH

Z2&E 29,570,000& 29,570 7,070 22,500

J| 23,65 5,656 18,000

S 887 212 675

= 5,027 1,202 3,825

-=S2 230 & XIHetAME 29|
Z& 10,000,000 10,000 5,000 5,000




FA ALS
HH: QIEE ALMHIARS(EHAZHHIA HB)(EH/BAHAZ)
el SYALSTAE (St &)
SN - B G(EH) - NRAY - BES 0 & o[- HimE==T
) 8,000 4,000 4,000
< 300 150 150
i 1,700 850 850
Oo=2g=+d 19,400 20,300 900
- XGMEIEAM & Atdl2elRIdE =
&d&d 1,500,000& 1,500 2,400 A900
2l 1,200 1,920 AT20
< 45 72 n27
e 255 408 A 153
Ogxz 41,400 38,400 3,000
- AQIEDD| YktE
44 7,000,000 7,000 4,000 3,000
2l 5,600 3,200 2,400
< 210 120 0
z 1,190 680 510
2 55234l 6,500 6,000 500
OXtetaet] 3,000 2,500 500
-AERFU 2 AHEEBIRAL
Z& 3,000,000 3,000 2,500 500
2l 2,400 2,000 400
< 0 75 15
= 510 425 85
03 Ar2 I 12,000 11,000 1,000
OXIOHRHAHIE T2 8 2ZEAH]
& 9,000,000& 9,000 8,000 1,000
2l 7,200 6,400 800
< 270 240 30
= 1,530 1,360 170
202 04t 4,700 5,700 A 1,000
) 3,760 4,560 800
< 141 171 A0
[ 79 969 A170
01 2LHOY] 4,700 5,700 A1,000
OZR222 X & 0|
& 4,700,000 4,700 5,700 1,000
) 3,760 4,560 800
< 141 171 A0
= 79 969 A170
405 THaHE S| 800 900 A 100
2l 640 720 280
< 24 27 A3
= 136 153 A7
01 MM =S F SHI 800 900 A 100
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SN
F8 ALMHIANS(EHASMEIA HB)(EH/2H498)
SHLSTAME (SH9 H2)
K- B3 S(B1) - HRA - BES 0] a0t ol & o HimEE]
OXIOHt&HlE & R 2IAF 2
& 800,000 800 900 2100
2l 640 720 280
[ 24 27 A3
= 136 153 A7
% %%g)ﬂgﬁl)ﬁ HB(FHA BHogMHIA M) (Atel=S 8,391,248 8,358,648 32,600
= 4,712,103 4,712,103 0
) 460,473 437,653 22,820
< 1,928,125 1,928,125 0
= 1,290,547 1,280,767 9,780
SIS 8,391,248 8,358,648 32,600
= 4,712,103 4,712,103 0
pJ 460,473 437,653 22,820
< 1,928,125 1,928,125 0
o 1,290,547 1,280,767 9,780
SIS AL EAHSO 1,400,000 1,400,000 0
= 1,120,000 1,120,000 0
< 140,000 140,000 0
= 140,000 140,000 0
301 LEENS 1,400,000 0 1,400,000
= 1,120,000 0 1,120,000
< 140,000 0 140,000
= 140,000 0 140,000
01 Al EE A S (2 DEXMR) 1,400,000 0 1,400,000
OFUEE AIESH(ZSUI)
1,400,000,000& 1,400,000 0 1,400,000
= 1,120,000 0 1,120,000
< 140,000 0 140,000
= 140,000 0 140,000
307 2I2t01 0 1,400,000 1,400,000
= 0 1,120,000 1,120,000
< 0 140,000 140,000
= 0 140,000 140,000
1 ALEISTIAIZSE X 0 1,400,000 1,400,000
OFUEEL AIESH(ZSUI)
38 02 0 1,400,000 1,400,000
= 0 1,120,000 1,120,000
< 0 140,000 140,000
= 0 140,000 140,000
SSINALSTAL 55,360 55,360 0
Jl 27,680 27,680 0
[ 4,152 4,152 0
= 23,528 23,528 0
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FA ABSL
M ghEE HAAMHIA HS(HA BAASMUIA ML) (AZISX/FLAHSKIA)
ol JAEE2e EER=E)
SN - B S2A(BH) - HRAY - BES 0 &y ol B o HIRS
307 2Ito1d 55,360 55,360 0
2l 27,680 27,680 0
& 4,152 4,152 0
s 23,528 23,528 0
05 2ItRIE = 55,360 55,360 0
OFEHAMALYSIAY
Z& 41,756,000 41,756 46,76 5,000
Il 20,878 23,378 22,500
< 3,132 3,507 2375
= 17,746 19,871 2,125
O AALSTAS
Z& 13,604,000 13,604 8,604 5,000
2l 6,802 4,302 2,500
(= 1,020 645 375
s 5,782 3,657 2,125
d=0l OISFA At 32,600 0 32,600
2l 22,820 0 22,820
= 9,780 0 9,780
308 AXIMSOIA 32,600 0 32,600
Jl 22,820 0 22,820
= 9,780 0 9,780
13 SO [2SOHE & EAS A 32,600 0 32,600
O[&8 ™AL IISEA XA
32,600,000 32,600 0 32,600
) 22,820 0 22,820
s 9,780 0 9,780
A2 AH(HLBE W) (IIEHIIE 809,39% 852,09% A42,700
z 192,548 192,548 0
pJ 237,650 268,000 30,350
< 7,530 8,430 2900
= 371,668 383,118 A11,450
plE2EH|(H2SEmn) 809,39% 852,09% A42,700
= 192,548 192,548 0
Jl 237,650 268,000 A30,350
< 7,530 8,430 2900
= 371,668 383,118 A11,450
SHEXEAMEIA SRAZZ X 212A4H| 41,300 54,000 A12,700
) 20,650 27,000 26,350
= 20,650 27,000 26,350
101 @124H| 41,300 54,000 A12,700
Jl 20,650 27,000 26,350
= 20,650 27,000 26,350
03 SRA(RIH )22+ 41,300 54,000 A12,700
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A 2SS
M oA HH|(A LSRN D) (JIEHIIE)
CHel: QIAR2AH|(ALSA D) (S &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HnsZ
OZNBAHIA BRU22X 12|
Z & 41,300,000 41,300 54,000 A12,700
| 20,650 27,000 26,350
= 20,650 27,000 26,350
XIOHAtA 22l SRAZ 2 2124h] 145,000 175,000 230,000
| 116,000 140,000 224,000
= 4,350 5,250 A900
= 24,650 29,750 25,100
101 @124H| 145,000 175,000 230,000
| 116,000 140,000 224,000
= 4,350 5,250 A900
i 24,650 29,750 25,100
03 BRA(RIAHY)2E2XNE S 145,000 175,000 230,000
OXIOfAtel2e| SSRAZZAF 1|
2 & 145,000,000 145,000 175,000 /30,000
| 116,000 140,000 224,000
& 4,350 5,250 2900
ik 24,650 29,750 25,100
A 2HAY|(H2SE ) (JIEHIIEH 29,130 25,880 3,250
[2ZH(HALSED) 29,130 25,880 3,250
JlE2&l 29,130 25,880 3,250
405 KHoHE S| 3,250 0 3,250
01 XL ESH =S| 3,250 0 3,250
Odl-gaasogae A HItleE=zH
B 3,250,000& 3,250 0 3,250
NRES(ALSIN) (BAH/BH2AZ) 429,09 0 429,09
BEXE 429,096 0 429,096
2H8XE 429,096 0 429,096
802 Bt DI} 429,096 0 429,096
01 2 NEx3tte= 264,378 0 264,378
020233 XIHOHAIMIE S &SIk 9 O]k}
gret 11,466,000& 11,466 0 11,466
02023 SEHHMALBT(HEHMALST
YR AN 9 O| KBt 1,246,000 1,246 0 1,246
020238 AHAOIZEAY &l & Ol XHEHe
490,000 490 0 490
O20234@ J|=FAHA=XMH XN &
&R 2 Ol R By 25,446,000& 25,446 0 25,446
020238 HAQAAL 2EXE Mo 2
Ol KtEtHe 185,803,000& 185,803 0 185,803
02023 HAHALASTALEE(OISELY) &
iAol 9l O KtEHy 21,470,000 21,470 0 21,470
O2023F KILDASI A2 AL O AHEAHOH B
419,000 419 0 419
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2A:
T ZH -
(=

=aak

A - F3 - SA(3H) - HRANY - BES Off &4 & A HnsZ
O17E XISABIAZTA OIKHLA Y BH
80,0002 80 &
OB LSABRIAL THEY Hiet
23,0002 2 2
02028 XISAE SEHLSTAI (L EHY
o) FFA o 0|} BHet
2,849,0002! 2,849 2,849
020224 2 ATAIY PISHTYIS B0l 2
M0 2 2| g 7,0002! 7 7
020288 HASE JIHA ZHES ML
OIXt gt 30,0002 20 0
020234 DRHEAAY TR 2 O[T Bt
2,977,0002! 2,977 2,977
020234 2IPAYATA (YR0F AL
N S) Yoz L OIX vhe
1,508, 0002 1,508 1,508
O223E RO0F AFOILE XBAY T
o ol 0|} et 7.847,000% 7.847 7,847
020234 XIHAEIZA 2UXRANEIA 22
SEZ YT 9 OIX BrE
2,717,0002! 2,717 2,717
@ Al- SHIREESEES 164,718 164,718
02023 XIHKI 222l DBTY 2 0|} ot
ot 3,049, 0002 3,049 3,049
020234 XINQHAME S FBTH o 0[X}
Bre 430,0002 430 430
O34 FIIE ESEM MBFTIANY E
HIZE2 sz 9 OIX Bie
3,941,0002! 3,941 3,941
02028 BT NRAY THIRES
Zgro 91 O|X} Bt 6,268,0002 6.268 6,268
O UETOI2H| KIS B0 2y
ol M2 THEES v 2,0002! 2 2
O o LTAY PISATY|E 40 2
M0l M2 EHl 1,0002 1 1
02028 SBHAALSV(FEFAALEX
)RR B 0| RpBHE 187, 0002 187 187
020234 KFAGIAIY FEN 2 O|KteHt
5,065, 0002 5,065 5,065
O34 I EFAALSTMEH N S F
o4 gl O X Bhet 5,489, 0002! 5,489 5,489
O2E FARAAIL SYXS BT Y
OIXtEHe: 79,630, 0002 79,630 79,630
O34 HAAYZTAL XR(TH) 2X2
TRl o O|R Pret 5,078, 0002 5,078 5,078
OB HASS JIHF FHER NAA
SHIRES 0% et 15,0002 15 15
02028 L= AjBH| NR(HE) THI2
X2 YT L OIX B
16,660, 0002! 16,660 16,660
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H £ 0l & AF & S

Al A

M J=d12 1
M 529 JodE SH(syHillgsb/sY - s&)
el dEsge 54 (SH9 H2)
SA - BB C9I(B) - HIRAY - BES ol ko o 8 o HImE2
JI=01& 4,426,732 4,299,263 127,469
= 57,700 57,700 0
z 200,000 200,000 0
< 175,615 175,615 0
= 3,993,417 3,865,948 127,469
s2 FooH S (sgillgsb/sY - s&) 1,904,515 1,844,515 60,000
= 37,700 37,700 0
< 47,835 47,835 0
= 1,818,980 1,758,980 60,000
dEsgo 54 229,959 229,959 0
< 20,835 20,835 0
s 209, 124 209,124 0
4H SEXIR(XHA) 30,700 30,700 0
206 MH=HI 4,500 3,500 1,000
01 XH=HI 4,500 3,500 1,000
Ot n4-Hs| NUMES HE
& 900,000 +53] 4,500 3,500 1,000
307 2I2to1 10,000 11,000 A1,000
02 2IZHBYAIHE & 10,000 11,000 21,000
OXAIU 2B s Stuwd-Ha| EhHl ot
pS(ImES; & 5,000,000 104 2 5,000 6,000 21,000
sgo M2II=U=R 187,300 187,300 0
= 24,000 24,000 0
< 15,000 15,000 0
= 148,300 148,300 0
sPI=HEU=R 16,000 16,000 0
= 8,000 8,000 0
< 4,000 4,000 0
= 4,000 4,000 0
201 Ler=23| 8,000 6,000 2,000
= 4,000 3,000 1,000
[ 2,000 1,500 500
= 2,000 1,500 500
03 A2 I 5,000 3,000 2,000
Osglledzu=s 29
3EF 1,250,000 +43] 5,000 3,000 2,000
= 2,500 1,500 1,000
[ 1,250 750 500
= 1,250 750 500
301 LEIEEZ 8,000 10,000 £2,000
= 4,000 5,000 21,000
[ 2,000 2,500 2500
i 2,000 2,500 A500




A JI=012l

M =59 Fole= %’é(%%‘éH%‘¢&/%% - sE)
thelr sgel M2JIsn (SH9 H2)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
1 #AAHIXIRS 8,000 10,000 22,000
OsIsdBLs ZAE
&3 500,000 #22] 1,000 3,000 22,000
= 500 1,500 1,000
(= 250 750 2500
i 250 750 A500
seZdd & E20HHE 1,487,256 1,427,256 60,000
= 13,700 13,700 0
[ 12,000 12,000 0
[ias 1,461,556 1,401,556 60,000
Selsg g8 104,160 44,160 60,000
206 M= I 85,000 25,000 60,000
01 M=Hl 85,000 25,000 60,000
OJt2=23st JAlsl 28 W=
& & 6,500,000&*108+12 65,000 15,000 50,000
OJIESe=HER sSUE e 7Y
Z & 50,0002 *200H*23] 20,000 10,000 10,000
sEMESFNH (SEHLN/ s - &) 1,285,825 1,250,462 35,363
= 20,000 20,000 0
(= 74,280 74,280 0
[ias 1,191,545 1,156,182 35,363
sSHASSH 579,475 559,475 20,000
= 20,000 20,000 0
S 74,280 74,280 0
s 485,195 465,19% 20,000
Arsg gdzt X& 36,000 16,000 20,000
207 AR 20,000 0 20,000
01 A= 20,000 0 20,000
OJHEE XRsY 2438 83 8
20,000,000& * 14 20,000 0 20,000
CAlsY 243 X 25,000 25,000 0
206 =4I 15,000 10,000 5,000
01 =4l 15,000 10,000 5,000
OZAsg T2 22 I8t Mg 7Y
Z & 750,000& %202 15,000 10,000 5,000
301 LEBNEF 8,000 13,000 /5,000
11 EAAHIXIES 8,000 13,000 A5,000
OZAsg Z208 2 ZAsg
2 & 250,000& 202 5,000 10,000 A5,000
SEXNZIIEAIE 2e| 706,350 690,987 15,363
A2t 706,350 690,987 15,363
101 @124H| 57,780 42,417 15,363
04 JIRHHZ2Z2XEE+ 57,780 42,417 15,363
OsgII=4EH AL 2t 57,780 42,417 15,363
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FA Jls=I1= 0
I sEJEHNE(sENHL s/ 5 - SE)
Cel: sEXZIIBAIE 22 EER=E)
SA - B SA(B) - MRAY - BES ofl vy /iE- ClImE=T]
-Jlzs BE 78,830 222 x 112 *2H 38,178 27,766 10,412
-FErd B8 78,8003 #47Lx2F 7,415 5,522 1,893
-Fa5dsE
338 78,8302+ 132 2L 2,051 1,578 473
-dEASEAY
ZF 6,8002+2092 2 4,067 3,006 1,061
-28s B8 55,170,000& *11% 6,069 4,545 1,524
401 AIZHIRL RO 140,000 140,000 0
01 Al&HI 132,000 140,000 8,000
OFA == - Bt M8 S
33 112,000,000& 112,000 120,000 8,000
02 el 8,000 0 8,000
OFA = - B MI|SS S&
8,000,000 8,000 0 8,000
HH2IFEI(01=2121) (OIEL/JIE) 78,214 77,614 600
=38l 78,214 77,614 600
Jl23tl 78,214 77,614 600
203 =2l 13,300 12,700 600
01 J| 223 Y=Y 6,000 5,400 600
OJ 12423 LR=H|(s2I1=4H)
33 6,000,000& 6,000 5,400 600
MPESOIS)2 ) (sElLrA/ s - 5&) 31,506 0 31,506
L=FSONES 31,506 0 31,506
2EXE 31,506 0 31,506
802 Btz J1Er 31,506 0 31,506
01 =snEx3EE=s 19,665 0 19,665
O2023F XNASs=sI=d LT3 &
YLK 57,000 57 0 57
OB sMSLSIALZA HSTH
2,459,000 2,459 0 2,459
O3 Bas SR SN
5,123,000 5,123 0 5,123
O20234 4= Atg2te] & Sugdt X
gy 1,543,000 1,543 0 1,543
020284 s)I=dH ISR 254
SN2 FHEA 2,855,000 2,856 0 2,855
02034 sZEXEMY &8 Jl=Xs 23K
2 YN 10,0002 10 0 10
O3 SeEAacld 28 ddad
676,000 676 0 676
O3 sH=dolls Mt 23 Nd 8
ZHoH 33,0002 3 0 33
02023 =ot&c|gollE HESMEt =8 &
SH &K 114,000 114 0 114
O2034 =80I=d, sHIIsdH sEXT
gtz g (0 S) SN 2,794,000 2,7% 0 2,7%
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M J=d12
I WResOl)El) (segdsdil/se - s5)
&el: 28XE EER=E)
SA - BB - SRA(3) - MRAY - BES 0l Ao ol E o timE=FT
020234 HE=0l B M LA OIXt
332,000 332 3R
O20238 =58 &lJl= AlY OIXt
3,556,000 3,556 3,556
020208 =g AlJI= Al OIXL
25,0008 25 25
O2021E =8 Al AlY OIXt
49,000 49 49
o022 =gl ZHe ML AFY Ok
9,000 9 9
O2022@ =g Al AlY OIXt
25,0008 25 25
Q20229 sl A7E &)= X (ZS)
Okt 5,000 5 5
02 Al - CHIEXSEHES 11,841 11,841
020234 24= SEXH A
2,562,0008 2,562 2,562
0202348 ZAs Argztel & duEIt X
SRS 772,000 772 772
020234 sPI=dl N33R 25
SRl T ol 1,428,000& 1,428 1,428
020238 sEXEMY S Il ESX
B I 5,000 5 5
020238 sHEHWE Jte 29 A I
Tkl 11,0002 i 11
020234 =or2e|golls Z22Me 28 &
oK 000& 35 b
020238 NHEBSA B Alg Y
1,077,000& 1,077 1,077
O20238 s FAI[2 A 2dat Al
SRS 1,382,000 1,382 1,382
020238 TAlsg gdat N3 JHSA
2,505,000 2,505 2,505
020238 s@J|ed, s2IlsdH sEXNT
IR (e YA 1,736,000& 1,736 1,736
o223 REOIYE 018 MIles 25 ST
A 128,000 128 128
020234 HE=0l B M LA OIXL
166,000 166 166
O2023d gletd=sd Mile2Es Ok
2,000 2 2
O2023E HEZMIIEES 0K
1,000 1 1
02023 ICT8E HFUANEE Jls2= 0k
4,0002 4 4
020234 t==MIIZ2Z OIX
13,0008 13 13
0202348 Z&MIIEEE Ol 3,000 3 3
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2M: JIE0IED
M

o2l BHXE

Ofl &F2H I8N
020208 =9 AlDJ|I= Alg Ol
8,000& 8
O202H Bd=gel 8 ML Ag Olkt
3,000& 3
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H £ O & A &

g

Al A

Ofl &F2H

ol ® o

HH W

5,369,405
564,620
708,199

4,096,586

5,368,405
564,620
708,199

4,095,586

tr
U

HoH W

2,504,453
494,620
59,649
1,950,184

2,503,453
494,620
59,649
1,949,184

HH W

2,195,428
355,000
27,750
1,812,678

2,194,428
355,000
27,750
1,811,678

356,062

355,062

4,000

3,000

2 & 4,000,000

4,000

4,000

3,000

3,000
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H £ 0l & AF & S

0243 =& 2 3 LEtSIH &l

Al A

S HEUFAIE A
M gdstalet £ & 29 (uF/8Y - APUR)

ol Bdsis ds (SH9 H2)
SA - BB C9I(B) - HIRAY - BES ol ko o 8 o HImE2
BHUSAHA 26,633,227 20,278,108 6,355,119

= 72,082 80,082 8,000
z 117,000 117,000 0
2l 483,361 483,361 0
< 12,791,458 6,886,089 5,906,369
i 13,169,326 12,711,576 457,750
sty A4 o 45 s/ - AGNK) 14,349,593 8,386,254 5,963,339
= 0 8,000 8,000
L= 12,394,200 6,488,200 5,906,000
z 1,955,393 1,890,054 65,339
gdistg Mg 516,593 535,254 18,661
= 0 8,000 8,000
< 88,200 88,200 0
= 428,393 439,054 10,661
gdists gdst J|g 715 112,593 115,254 N2,661
201 Zet2d] 36,002 36,992 2900
01 AlR2telHl 7,300 8,200 900
O=2g+¢ 600 1,500 900
- HUSISARFHO| 5 FAHRY

& 100,000 +12/+6S 600 1,500 2900
207 AR 20,239 22,000 A1,761
01 AR SHH| 20,239 22,000 N1,761

OJtgE 2 gdusAE nEst & HA7=S
S=E9 38 20,238, 1602 20,239 22,000 A1,761
HoIZH W= 0 16,000 16,000
= 0 8,000 8,000
z 0 8,000 8,000
201 LBzl 0 16,000 16,000
= 0 8,000 8,000
= 0 8,000 8,000
03 A2 I 0 16,000 16,000
OdelZaiuns XA 38 0 0 16,000 16,000
= 0 8,000 8,000
[ 0 8,000 8,000
ddstga A 13,833,000 7,851,000 5,982,000
< 12,306,000 6,400,000 5,906,000
i 1,527,000 1,451,000 76,000
gdistga g 13,833,000 7,851,000 5,982,000
< 12,306,000 6,400,000 5,906,000
z 1,527,000 1,451,000 76,000
401 AIEHIZL 20| 13,823,000 7,841,000 5,982,000
< 12,306,000 6,400,000 5,906,000
z 1,517,000 1,441,000 76,000
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FA BEUFAI A
I Zdsisle &4 € 293 (us/8Y - HYu\)
el gdsisd A8 (SH9 H2)
SN - BE - SRA(SIH) - NIRAY - B2 0] a0t ol & o HimEE]
01 Al 11,483,000 5,501,000 5,982,000
O84Sz A8
33 11,483,000,000 11,483,000 5,501,000 5,982,000
= 11,407,000 5,501,000 5,906,000
z 76,000 0 76,000
wWEEF Ofd & ey NA(UF/FULESSUS) 5,478,608 5,294,032 184,576
= 49,100 49,100 0
= 16,200 17,580 21,380
= 5,413,308 5,227,352 185,956
ws3H X | 1,263,679 1,273,319 19,640
ESS 22,000 25,500 3,500
308 ARISHMSOIE 22,000 25,500 3,500
08 W=D 20ICHStE = 22,000 25,500 23,500
Oxs d& =3 23 22,000,000 22,000 25,500 23,500
OIHE Ol= == 28 W 221 42,860 51,500 8,640
308 XM SOl 42,860 51,500 18,640
08 WSJ |20t 2 & 42,860 51,500 8,640
OOICHE 0l =2 28 W =223
38 42,850,000& 42,860 51,500 8,640
Laus T 101,900 99,400 2,500
308 XXM SOIA 101,900 99,400 2,500
08 WSJI20ICHStE = 101,900 99,400 2,500
Ooaus=s X
& 100,0002%1,019% 101,900 99,400 2,500
ws3L X 3,393,160 3,217,305 175,855
< 16,200 17,580 1,380
= 3,376,960 3,199,725 177,235
PYuE X2 473,400 292,945 180,455
301 LEEN S 275,400 94,945 180,455
02 A2 HGS(FHAAS, NLHA) 275,400 94,945 180,455
Os1Sstd wsHl N&
338 275,000,000& 275,000 94,545 180,455
dI|E8 NS AL RIIAY 23,000 27,600 24,600
& 6,900 8,280 21,380
z 16,100 19,320 73,220
308 XXM SOl 23,000 27,600 A4,600
< 6,900 8,280 21,380
i 16,100 19,320 23,220
08 W=D 20istE = 23,000 27,600 24,600
OZJIE Lsstd A2 SR
34d 23,000,0002 23,000 27,600 4,600
< 6,900 8,280 A1,380
= 16,100 19,320 13,220
stz & JIsSAH X 423,561 399,500 24,061




A BUNSAHA
M DSEA N 2 O X (NS/FOILEESUS)
el stz I DA XN (SH &)
SA B O9I(SH) - MRALY - BAS o v o ® o RS2
rEysta 24 411,561 387,500 24,061
201 L2 168,611 146,200 22,411
01 AtR2telbl 53,611 41,200 12,411
—dEA 2HHIE 7Y
Z& 800,000&+12& 9,600 4,000 5,600
—AIR4 2EHIE 7Y
2 & 400,000&+123 4,800 1,500 3,300
-d=0] & HiOl 2Xx=
28 671,700 128 8,061 4,550 3,511
02 S3=24l 115,000 105,000 10,000
OAIZ2E =X 30,000 20,000 10,000
—A&E= RXZ2/H
& & 30,000,000 30,000 20,000 10,000
405 XHAHE SHI 8,050 6,400 1,650
01 AL ESHSHI 8,050 6,400 1,650
OHMEA I3 2 1,650,000 1,650 0 1,650
sreigs X3 394,508 400,208 25,700
= 49,100 49,100 0
[ia 345,408 351,108 Ab5,700
KSHer X2 345,408 351,108 Ab5,700
301 LeEN= 341,408 347,108 Ab5,700
14 J|EtE &S 341,408 347,108 Ab5,700
Oolfstd ZZMges gl 341,408 347,108 A5,700
-28= 33 12,3%,000& 12,3% 18,096 Ab5,700
SN2 NMHIA &S (2332t /28H0s) 1,750,736 1,734,386 16,350
= 2,940 2,940 0
< 29,625 29,625 0
s 1,718,171 1,701,821 16,350
SEEM2 2 1,750,736 1,734,386 16,350
= 2,940 2,940 0
S 29,625 29,625 0
s 1,718,171 1,701,821 16,350
A2 29 1,388,192 1,398,842 210,650
101 Q124H| 153,085 147,385 5,700
04 JIZtN22 X S8+ 153,085 147,385 5,700
OEAM2 HSRF FLEX 90,483 84,783 5,700
-28s &3 15,587,000& 15,587 9,887 5,700
201 L= 1,050,257 1,075,457 AN25,200
01 AF2-2t2ltl 782,697 807,897 N25,200
O2elE9| 687,553 712,753 25,200
—0r2t3H| BIHE A
d& 19,000,000 195,000 210,000 /15,000
—SIUCMHIZUHEAIAE RAES B2
Z& 0 0 5,200 25,200




2A:

BHlSAISE A

I TM2 MHIA SE(2L22/235H0E)
e SsEAE 29 (SH9 H2)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
- Fo3uEy &3 17,000,000 17,000 20,000 3,000
-dojerdae] e RA2E+ 89
33 15,000,000& 15,000 17,000 2,000
406 XHaHF St 184,850 176,000 8,850
01 L =ZFH S 89,850 91,000 A1,150
Oz A2t Jo ZHl 72 & WX 89,850 91,000 A1,150
—UERD AAX wH
& 5,850,000 5,850 7,000 21,150
02 =Nl 95,000 85,000 10,000
O=AN=e 95,000 85,000 10,000
-Az 7Y 60,000 55,000 5,000
- AI2E Xt 23 50,000,000 50,000 45,000 5,000
A2 SE43 Iz 2F 20,000 15,000 5,000
S4d3t n2(0=23)
43 7,500,000 7,500 2,500 5,000
SISEMS 28 243t 82,925 73,925 9,000
201 LetEaY| 67,025 56,025 12,000
01 At 2teltl 20,225 18,225 2,000
Oget+=24] 20,225 18,225 2,000
-CAZ2EE 7Y
& 3,500,000 3,500 2,500 1,000
A2 € HAES 7Y
43 2,500,000 2,500 1,500 1,000
2 =234l 31,300 21,300 10,000
OAIZEHIS A 30,000 20,000 10,000
-AN&EE FXl2cly|
38 30,000,0002 30,000 20,000 10,000
401 AlZHIL 2 0HY] 14,000 17,000 3,000
01 Al 14,000 17,000 3,000
OstesSEA2 334 HEE 2+3A
38 14,000,0002 14,000 17,000 3,000
doiA2 28 243t 48,523 39,523 9,000
201 LetEaY| 41,523 39,523 2,000
03 A2 HI 13,000 11,000 2,000
O=A2 =3tstil 2 & 5,000,000 5,000 3,000 2,000
401 AlZHIL 2] 7,000 0 7,000
01 Al 7,000 0 7,000
OEa A2 BHE 28 QIHE WXl
7,000,000 7,000 0 7,000
HEANZ 28 243t 42,323 35,323 7,000
401 AlZHIL 2 CHY] 7,000 0 7,000
01 AlZHI 7,000 0 7,000
OFETAMZ =2 & HY 2=SA
7,000,000 7,000 0 7,000
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2A:

BHlNSAISE A

M AHAMPHAH(BHDSAISEA)(JIEHIIE
Eel: J2ZH(BHNIAL) (S &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HnsZ
JlE2Zl 48,710 47,910 800
202 04l 2,400 2,100 300
01 =LHO LI 2,400 2,100 300
OJ|2ge a0l
Z2& 50,0002« 1284 2,400 2,100 300
203 R =& 9,600 9,100 500
01 J|22H LR F=AH| 2,000 1,500 500
OJ|22HHRF=AH|
2 & 2,000,000& 2,000 1,500 500
HWRESS(BHUSAIYEA)(LSSHE/NE - 28) 104,426 3,104 101,322
SEIS(BHDIAIA) 104,426 3,104 101,322
S=RSPNES 104,426 3,104 101,322
802 Btz JIEL 104,426 3,104 101,322
01 FNEXSEHES 53,971 0 53,971
020238 HAERofSF2AE X AL 0Ol
A+ gHef 6,000& 6 0 6
020238 HAE oMY = HSHAH Bigf
1,025,000& 1,025 0 1,025
020238 HAE HMY 2= 0| & 2=
Sla=1 900,000 900 0 900
020238 AW SEHA T2 2 s
O Bt 14,056,000& 14,056 0 14,056
020234 dAYE S T2 2% 0l At
A=t 1,657,000& 1,657 0 1,657
020234 &t 5t HAE X2 (MEXIE) 28
LHOH B, 16,925,0002 16,925 0 16,925
02023 &t 8t HAE XJA(HEXIA) Ol
e e = 1,663,000& 1,663 0 1,663
020234 2I|EAE EEXE ALY HHTH
A=t 630,000& 630 0 630
O2023d I1EAE EEXE AIY OIK+ ghy
27,0002 27 0 27
020238 #EAE Solc|a2s YN gie
2,500,000& 2,500 0 2,500
O20238 HAELUSO0ILCI0l =2H| HaH&
PL I 10,907,000& 10,907 0 10,907
020233 HAWEU=019t4I0l =4I Olk+ gt
=1 3,610,000& 3,610 0 3,610
020233 =A2 T2t AHIA XIJAY =1
PED MY it 3,000 3 0 3
O23E ST CH28H MUlA XIRAY =2
EES= DNl 15,0002 15 0 15
O2023F HAURAPAS| SN Bt
25,0002 25 0 25
020238 HAE2HPIAS| 0Ik e
22,000& 22 0 2
02 Al - SHIEXEZRHEZ 50,455 3,104 47,351
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od
i’
o
uJ

-

n0
KIo

Hlw

2,109
249
800

2,063

15
400
41

1,232

857

2,049

ol ® o

Ofl &F2H

2,109
249
800

2,063

15
400
41

1,232

857

2,049

By

- SRA(BI) - HIRAY -

SRR

249,000
800,000
4,000&
1,000&
7,000&
2,000
3,000&
,000&
1,000&
1,232,000&
1,000&
10,000

208 29 oIkt
857,000

o

bS] Fals)
020238 2I1H

l:ll_|.l_,|-
Ut

020234 &=
02023

[y
— e

Ol OIK

=
T

(H0
KJ

)
<
__.Ao

H

10
put]

q|

10

5,454

1,805

10

5,454

1,805

48,000&
— 198 —

315,000
10,000

b

1,805,000&

SH

5,454,000

OFtHIOI =HI OIX} Bt

Ol=XI(oll&) OIXt

3

=
=]
=
=]

L=
L=

g

=~
(=)

020234
LH

02023
LH




SA BAMNSAIEA
Mz RS (HWMNSAIHA)(LBRZHE /N - 28)
tel: SEIS(BYNIAL) EEREE))
A -3 - A4A(3H) - MRAY - BES Of] koK J| M oA Hpnsz
02023 H2T M2t EAFH AFY SH| Ol
Bt 4,0002 4 4
Q20234 2T A SASH AFY TH| EIEHI
o4 Byt 203,000 203 203
O3 2T AT Ol0lSEE SHZ2H
X2 AFY SH| O|K} ghet 2,000 2 2
O3 2T AT 0l0ISE SAHZ20
X AFY SH| ZeiEron sht
86,000& 86 86
Q2023 2T M 2SI - £ HHALH
Al SH| Ol Bt 10,0002 10 10
02023 e H2t 2ES - £330 HEHIA
Al SH| ElBHRroH Bi 1,652,000 1,652 1,652
Q2023 2T AT 2 X2 (2% FH2EA
2 SA) Al TH| Ol KeHe
1,000& 1 1
O023E 2T A 2 X2 (2% FH2EA
2 SA) A TH| ASHEH By
5,000& 5 5
02023 T SYXA(SAHBETAN)
AbS SH| Ol BHet 1,000 1 1
Q2023 2T H YN A(SHBETA)
Al EH| ElsHRroH BiY 24,0002 24 24
O0BE ZZCTAHE SAZ2IY 29 12
Al EH| ZIBHRFOH BiLt 39,000 39 39
O0BE R AHZ SMZ2IY 29 1
A EH| O| Rt Bt 9,0002 9 9
Q2023 HIISLUEMLIS0IAIY SH| &K
ZhoH Bt 66,000 66 66
Q203 HII2UEANLI=S0| AFY ZH| Ol Rt
et 17,0002 17 17
O20238 AQIZOHO! HAMTDS KIRAIS THI
Ol X+ Bt 11,000 11 11
02023 ST A 3 HH Al SHIBX
2 THAIOH Bt 18,756,000 18,756 18,756
Q2023 5T A2 2 HE Al ZHIBX
2 OIRt gt 421,000 421 421
O3 22T A 82 NAME 2435 X
A THIEEZ O|X} gyt
45,0002 45 45
02023 HI|IE DS NZEEH 2FD| At
o CH| ZSHEroH Bht 191,000& 191 191
02023 HIIE DS MR ESEH 2FD| At
o CH| O|XF Bret 10,0002 10 10
Q2023 Al DIZEAIDIDS EA3HAIS &8H
REOH Bt 528,000 528 528
Q2023 Al DIZF=AIQI DS EASIAIY O
= 44,0009 a4 4
O2023E Zo|g#ests0re 0HE)| ISAY
ZISHRHOH Bt 189,000 189 189
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SN BADSARA
M MRS (BYLSAIL) (LUSIHE/HE - 3E)
tel: SEIS(BYNIAL) (S &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HnsZ
O2023F AJ|1d=st50lE 2E)] IEAY
OIXt BHef 13,000 13 13
020238 dastslls SsH NEAME 84
LHOH B, 6,012,000& 6,012 6,012
020239 dustsits SSH X3AY Ol
A=t 14,000 14 14
02023 OisgsIt us 23 NF AtE &
SHEHOH Bkt 270,000 270 270
020234 Dt2gsIt uws 22 NF Atg 0l
A+ gHef 27,0002 27 27
O20BY R2ISH B&5T2 STAIY TBX
PL I 339,000& 339 339
O2023d RclsUl ste32t 2EAY 0Kt &t
=1 6,000& 6 6
020233 Hasts S0tel NRAIY B AN
gHef 787,000 787 787
020233 "asts S0tel NJAE OlXE Bt
31,000& 31 31
02020 "asts S0tel X2AMY OIXE Bty
60,0002 60 60
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H £ 0l & AF & S

Al A

S ARZARA
A e (EE/AtkeE - )
el HesE UEA B8 EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
AT AN A 2,624,316 2,449,004 175,312
Yool (83/ 4ot - =2) 533,054 424,594 108,460
Ses AES B2 533,054 424,54 108,460
OFESTAEE=AEY 518,554 412,854 105,700
201 fer= 3| 191,344 218,34 27,000
01 At 2|l 180,874 207,874 A27,000
Ozels9] 90,000 117,000 A27,000
-iEssxAE |A22EY
Z& 90,000,000 90,000 117,000 ~27,000
202 04t 3,600 0 3,600
02 A0 3,600 0 3,600
OltSsS=AlE SZ0H|
150,000 «12&+2" 3,600 0 3,600
401 AlZBIL S CHY] 323,600 194,500 129,100
01 Al&ZHI 323,000 193,000 130,000
OltsES=Ad B
& 323,000,000& 323,000 193,000 130,000
03 Al 20HHI 600 1,500 A900
Oltssx=AlE 2= Z& 600,000 600 1,500 2900
XIGk==2tel Av (XEA) 8,300 5,540 2,760
202 Ot 3,600 840 2,760
01 2oL 0 840 N840
OJl=ge =d0t| 34 02 0 840 2840
02 XN 3,600 0 3,600
OXlota=2te] E& 0|
150,000 x 12 & 2 3,600 0 3,600
WResS(d=AtdL)(88/dotsx - +=2) 2,091,262 2,024,410 66,852
FSPNES 71,262 4,410 66,852
PSP 71,262 4,410 66,852
802 gret=JIEt 71,262 4,410 66,852
02 Al - EHIEE=SEHEZ 71,262 4,410 66,852
020238 WFSXAE SEXIots =E2HBA
K3 At Dol uh 19,000 19 0 19
O20238 WF=XAE SEKXIote =B A
K2 At 20| A BH 4,000 4 0 4
020238 A2 =EAIE JHEALY Z AN
g 65,829,000 65,829 0 65,829
O208E A7E2 =EAIE HSAIY LAOIR
BHef 1,000,000 1,000 0 1,000
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A= O & A

Al A

FA: oA A
3. Yol - 2E(SF/YotE - +2)
el 2 83 e € +E2ES (SH &)
SA - BE - C9(3H) - KA - BES Ol &t ol o Bl S
St=ZArE A 15,135,309 12,876,206 2,259,103
2l 150,210 150,210 0
< 154,106 154,106 0
s 14,830,993 12,571,890 2,259,103
Aot - SE (/Yo - ) %61,678 791,898 169,780
2l 150,210 150,210 0
[ 154,106 154,106 0
= 657,362 487,582 169,780
£ 24 e € =225 663,778 663,998 2220
Il 150,210 150,210 0
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- MEAZE MG
ZH 6,8002+3302+1Y 2,244 1,503 741
-282 ZE 28,276,000 *12% 3,3% 2,273 1,121
SHdEM=s3E 2 161,921 127,935 33,986
101 QI24H| 95,008 83,625 31,378
M IRMZZ2XNSE S 95,003 63,625 31,378
OsHygM=3d 2l 95,003 63,625 31,378
— el ZH 78,880+222U #1282 +3H 62,473 41,649 20,824
FH+d ZF 78,880+522+3H 12,306 8,283 4,023
raEsdsd
2 d 78,8802 142 +3L 3,313 2,367 946
- HEYSEdE
ZH 6,8002+3302+3Y 6,732 4,509 2,223
-2z 2 84,824,000 %12% 10,179 6,817 3,362
201 er23 | 66,918 64,310 2,608
01 At2teltl 11,868 11,760 108
OzelE4] 7,128 7,020 108
-SHYENSSH FoFH =9
dd 394,000&+122 4,728 4,620 108
2 S22l 55,050 52,550 2,500
O222= £ HAl 35,050 32,550 2,500
- SHMEHSUH ASt+ER3
& 5,000,000& 5,000 2,500 2,500
A2 EXAAMSINE(FELRSINL /XS LZAl) 383,932 254,932 134,000
=S Eoli & 383,932 254,932 134,000
a2 MEEAY 202,000 102,000 100,000
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SA 20
5 AROTAN SN (ST NHLEA)
=Pl FoESElA (CH9: &S1)
SA - B B(S) - HSANY - BYS ol &4 ol & o HRE
201 AZHI2L=0hY) 202,000 102,000 100,000
01 A&t 200,000 100,000 100,000
OARD JIBAIE B4 - 22t BA
2 170,000,000 170,000 70,000 100,000
czay 187,100 103, 100 34,000
ETIEEST] 17,100 10, 100 34,000
01 A&H| 17,100 10, 100 34,000
OlFola0] 2522 D202 S2TRBA
16,000,000 16,000 0 16,000
OlFBIZ0]8teie] LAIER OFAR GMS
SIEN 18,000,000 18,000 0 18,000
a2 o 2l (20 OIEJIE) 60,792 57,910 2,882
Sl=2 (=) 60,792 57,910 2,882
Jr= 60,792 57,910 2,88
201 gEr=el] 10,69 %.510 2,18
o1 NB Y 10,69 3,510 2182
Ozgsg 14,550 12,368 2,182
=) 215 30,0022472) 7,410 6,29 1,111
—gmy) 245 60,00081+1192) 7,140 6,069 1,071
203 A2 F A 2,120 1,420 700
0l JIEEEHREAY) 7,000 6,300 700
SR L EL ]
A= 7,000,002 7,000 6,300 700
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0243 =& 2 3 LEtSIH &l

Al A

SA: 2BIAR D
I MYoF - MAFFE (LSS /AyLAH2)
el XYLl =g (SH9 H2)
A -3 - SRA(3H) - HRAE - BES Ofl &4 I3 A Husz
Ol AtR 1t 982,889 962,389 20,500
MUY - XY TS (LSSHE /UYL HH2L) 936,069 918,069 18,000
Ngos 2SN 835,869 837,869 2,000
AygsAd 592,708 593,308 AB00
205 2l3/l 549,568 550, 188 AB00
10 ATBHAMRL S 13,600 14,200 2600
O =AlZ23 2 ZE 23
33 13,600,0002 13,600 14,200 2600
2l5|2H LA s 265, 161 266,561 A 1,400
405 RHaks S| 40,600 42,000 A 1,400
01 AL =S F=HI 40,600 42,000 A1,400
Ok= 3ty DH(ZE+4+2 Z8)
& 20,300,000 =24 40,600 42,000 A1,400
Qyess2Edst 50,200 30,200 20,000
SlPDIES M 50,200 30,200 20,000
201 ZBt=3hl 50,200 30,200 20,000
01 AlR2telHl 50,200 30,200 20,000
Ogit=2H| 47,200 27,200 20,000
—MotH 2| 224 MH
20,000,000 20,000 0 20,000
HY 2SI ZHI(ASIAIR D) (DIEHIIEL) 46,820 44,320 2,500
[2ZHI(2I5AHR D 46,820 44,320 2,500
Jl=3Hl 46,820 44,320 2,500
203 AR =ZIH| 8,320 7,820 500
01 J 22 R=AH] 2,000 1,500 500
OJ[2A2ZLRFTHI(2S A2
& 2,000,000 2,000 1,500 500
405 RHakF S| 6,600 4,600 2,000
01 It =S F = 6,600 4,600 2,000
OARE JI7t & 7
&4 6,000,000 6,000 4,000 2,000
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